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O Lord! Lead me from Unreal to Real,

from Darkness to Light, from Death to Immortality
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May there be peace in the heaven! May there be peace in the space!

May there be peace on the earth! May there be peace in the waters!
May there be peace in the herbs! May there be peace in the plants!
May there be peace in the God's! Creations!

May Brahma, the Divine Knowledge, bring peace!
May all thing in the world bring peace!

May that peace, the real peace, be mine!
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FOREWORD

Evaluationis a very important and integral part of an educational System. Just
as teaching, learning is a continuous process, so is the Evaluation. Evaluation helps
us to identify the shortcomings in teaching-learning process, thus enabling us to
bring about the much needed changes in the methodology of teaching. Evaluation
process does not limit us to evaluate only the students, but it encompasses teachers,
syllabus and curriculum as well.

Written Examination (Pen and Paper Test) is one technique which helps us
in the process of evaluation. Question papers play a vital role in this process. It
is, therefore, absolutely essential that the question papers are student friendly,
catering to the needs of different strata of students i.e. brilliant, average and below
average students. The question papers have to be balanced so that these effectively
test the learning outcomes specified for different subjects.

The common examination of students of Class VIII in all DAV Public Schools
is conducted to bring about uniformity in the academic standards of all DAV Public
Schools spread throughout the length and breadth of India, and it has proved
a great success. As a consequence, the academic standards of our schools at the
Secondary stage are bound to improve further.

In order to enable the teachers and students to prepare well for the Annual
Examination at the end of the academic session 2020-21, the DAV Centre for
Academic Excellence provides Sample Question Papers. It is hoped that these
sample question papers will certainly improve the classroom transaction of the
subject matter in our schools. These Sample Question Papers have been prepared
by practicing teachers of DAV Public Schools under the guidance of experienced
resource persons in workshops conducted by the DAV Centre for Academic
Excellence.

I express my gratitude to Mr. S. K. Sharma, OSD, DAVCAE and all the
experts who very ably guided our teachers in the workshops organised by the
department. I would also thank the Regional Officers and the Principals of DAV
Public Schools who had sent their teachers to contribute in these workshops.

I am confident that the students and teachers will use these Sample Question
Papers in teaching-learning process and thus help the students to do well in the
Annual Examination to be held in February-March 2021.

Punam Suri
Chairman
DAYV Centre for Academic Excellence

[3]



PREFACE

I am pleased to place before the students and teachers these Sample Question
Papers for Class VIII. As you know, the DAV Centre for Academic Excellence has
been holding common examination in class VIII of DAV Public Schools besides
helping schools in other academic spheres. The presentation of Sample Question
Papers has been of immense help to the students as it introduces them to test tasks,
based on various instructional objectives. It also helps them to know the art of
answering a question. On the whole the student will get an insight of how he/she

has to plan his/her studies so that he is able to perform well in the examination.

These Sample Question Papers will help the teachers to modify their teaching
approach in the classroom which needs to be in agreement with the objectives

laid. These will also help the teachers to improve their own testing materials.
I am sure, this document will be quite useful to all its users.

I thank the resource persons and the school teachers for their contribution in

designing and developing these Sample Question Papers.

Suggestions for further improvement are most welcome.

Secretary

[4]



INTRODUCTION

The DAV Centre for Academic Excellence has been making all efforts to
achieve the objectives laid out for the department. One of the objective is to bring
about a uniformity in the standard of education in DAV Public Schools spread
throughout the length and breadth of India. We know that our Public Schools,
situated as they are, cater to the needs of different strata of society and it is,
therefore a difficult task to maintain the same standard of teaching in all these
institutions. However, one such activity that has helped us in bringing about some

uniformity in the standard of education is the system of common examination.

The DAV Centre for Academic Excellence provides common Question Papers

of Class-VIII in all DAV Public Schools. Examination is held in all the schools as
per the date sheet issued by the department. Since DAVCAE changed the pattern
to annual examinations. Accordingly the Sample Question Papers are prepared

and compiled in this document.

The main tool in the written examination is the Question Paper. If the question
paper is not designed properly, the test will give a totally incorrect conclusion. And
in this whole process the casualty will only be the student. It has been observed

that the question papers in general suffer from the following infirmities :

*  The questions mostly require recall of information and as such encourage

memorisation.
*  Abilities like understanding and application of knowledge are seldom tested.

*  The questions are vaguely worded. As a result the student is not clear about

the quality of answer required.
*  Question paper does not cover the whole course.

*  Options are provided in the question paper which provide scope for the
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students to pick and choose.

In order to remove the above infirmities and administer a good and balanced

question paper to the students, efforts are made to incorporate the following in the

questions paper :

()
(i)

(i)

Introduction of question that measures a single learning outcome.

Incorporating some test tasks as would test all the abilities like knowledge

understanding, application & skill appropriately.

Including questions that -
a) are within the scope of syllabus.

b) are within the comprehension level of points.

(

(

(c) can be solved within a reasonable length of time.

(d) are worded in a clear, simple and unambiguous language.
(

e) use appropriate directional words.

Hence for setting a good question paper, a great deal of planning prior

to the actual writing of questions is required. The major steps in the planning/

preparation of a good and balanced question paper are :

()

Preparation of the design : it lays down the chief dimensions of the question
paper. Weightage to learning objectives, weightage to content, weightage
to form of questions, weightage to difficulty level-all are decided under
the head 'design'. Moreover through written examination it is the cognitive
domain, representing the intellectual area of the pupils, that gets evaluated.
This domain involves the development of the abilities of knowledge,
understanding (comprehension), application (expression) and skill. The

paper setter assigns marks to each in view of its importance.

In order to cover maximum course content the paper setter has to prepare a
large number of questions of various types. These types include Very Short

Answer Questions, Short Answer Questions and Long Answer Questions.
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(i)

(ii)

Preparation of blue print : The design is then followed by the
preparation of a blue print. It reveals the actual picture of the question
paper. The blue print gives the placement of questions in respect of :

(a) the objective to be tested by each.

(b) the content area to be covered by each.

(c) the form of question suitable for testing.

It may be noted that blue print of each question paper is unique and should

be carefully prepared however design of question paper is static.

Preparation of questions : Preparation of an appropriate questions is

an art and requires knowledge of objectives and their specifications, a

mastery over the subject matter and the skill of framing questions. The

paper setter, while framing a question should keep in mind that -

(a) It is based on a well defined specific objective.

(b) It is related to a specific content area.

(c) It is at the desired level of the difficulty.

(d) It is well worded so as to be within the comprehension of the students
and can be done within a reasonable length of time.

(e) Its language is clear, simple and unambiguous.

(f) It uses appropriate directional words.

Editing the question paper : The editing and assembling of a question paper
is of crucial importance. The arrangement of question in a question paper
should be from easy to difficult. Similarly Very Short Answer type questions
should appear first to be followed by Short Answer Type and Long Answer
Type questions.

Preparation of marking scheme/hints to solution : This is very essential as it
(a) reduces the subjectivity in scoring. (b) ensures uniformity in scoring when
anumber of evaluators are involved and (c) gives the paper setter a clear idea
of how the pupils will react while answering the questions. However, all

teachers must understand that Marking Scheme is just a guideline to bring
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uniformly in evaluation.

Preparation of question-wise analysis : It helps the paper setter
to know the strength and weakness of his/her question paper. It
also enables the paper setter to reconcile the question paper with
the blue print. The questions are, therefore, analysed in terms of :

a) objectives tested by the questions.

b) specification on which the question is based.

(
(
(c) topic covered by the questions.
(d) form of the questions.

(

e) estimated difficulty level.

SAMPLE QUESTION PAPERS

Use of Sample Question Papers by students :

The Sample Question Papers indicate the pattern of the question papers

which the pupils will have to face in the forthcoming examinations. These will also

help the students to know how to answer a question. Understanding a question

and then answering it, is a technique which students need to know.

Use of Sample Question Papers by the teachers :

The material presented herein may provide sufficient help to the teachers in

bringing improvement in the techniques and tools of evaluation. It will help the

teachers in :

understanding the objective of teaching a particular course.
teaching various topics keeping in mind the learning objectives.
framing appropriate questions.

developing appropriate marking schemes for the question papers.

The Sample Question Papers along with guidelines for their evaluation

[8]



printed herein were designed and developed in the workshops, held at the office
of DAV CMC. Subject resource persons helped and guided the participating
teachers in developing these question papers. This year Ten workshops were held
to develop the Sample Question Papers for Classes-VIII, in all the subjects. It is
a matter of immence pleasure and satisfaction that as 54 teachers participated in

these workshops.

I convey my thanks to all the resource persons for their able guidance
without which preparation of a good, balanced Sample Question Paper in a
particular subject would not have been possible. My thanks are also due to the
Mr. S. K. Sharma, OSD, DAVCAE & staff working in the DAV Centre of Academic

Excellence for their devoted and dedicated work.

Dr. Nisha Peshin

Director (Academics)
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L.

II.

ENGLISH - COURSE 'A’

DESIGN

Weightage of learning objectives :

Objectives Reading Writing & Grammar Literature Total
% of Marks 25% 37.5% 37.5% 100
Marks 20 30 30 80
Weightage to form of questions :
Type of Questions| LA SAI SAII | VSA/DB]J | MCQ Total
No. of Questions 02 02 01 06 02 13
Marks 16 24 04 23 13 80
III. Weightage to Content :
S. No. Name of Unit Marks
1  [Section - A (Reading) [1-2] 20
2 Section - B (Writing) [3-9] 30
3 Section - C (Literature and Grammar) [10-13] 30
Total 80
IV. Scheme of options : Choice in Q. 3, 4,10, 12 & 13
V. Scheme of Sections : A, B, & C
VI. Weightage to difficulty level :
1. Difficult questions  :23% 2. Average questions  :47 %
3. Easy questions :30%

VII. Expected length of answers to different types of questions & time management :

Noo|  Tvpesof Questions | BPe e T O | estion type
1 [Long Answer (LA) 100-120 words 40 minutes
2 |Short Answer (SA-I) (SA-II) 30-40 words 50 minutess
3 | Very Short Answer (VSA/Obyj) 10-20 words 60 minutes
4 [Multiple Choice Questions ( MCQ)| One word/Phrase 30 minutes
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ENGLISH - COURSE 'A’
(MODEL TEST PAPER - I

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.

2.
3.
4

AN

This paper consists of three sections : A, B, & C
Attempt all questions.
Do not write anything in the question paper.

All the answers must be correctly numbered as in the question paper and written in
the sheet provided to you.

Ensure that questions of each section are answered together.
Read each question carefully and follow the instructions.
Strictly adhere to the word limit given with each question..

Section - A (Reading) (20 Marks)
Read the following passage carefully : 8

1. Traditionally, women have always been home makers, but today a
career of her own is of great importance.
In India working women lead a life of dual responsibilities if they are
married and have a family. In the West many women are hard-headed
careerists and are committed to their jobs. Here in India women still have

traditional roles to fufil and prefer a career to avoid domestic drudgery.

2. There are four categories of working women in India. Some work
while they are waiting for matrimony. A majority work because they
are qualified, want a second income and a different kind of life for
part of the day. A small section consists of career-women. A sizeable
section of women are bread-winners.

[14]



1.1.

It is quite apparent that with a majority of working women the family
takes precedence over the job. They prefer to stay in joint families
where their children can be taken care of while they are at work.
When they come back in the evenings from the relatively modern
surroundings of their workspots, their personalities have to undergo
a change to accommodate the demands of their time and attention by
different family members whose predominant feelings are of having
been neglected. These women often do their shopping on the way from

office.

They reserve their weekends for heavy housework which will help
them to cope with the rest of the week with relatively less tension.
Weekends are also reserved for spending time with their spouses and
children, for entertainment, family duties, visits and other such endless

chores. Actually speaking they hardly have time for personal needs.
(Slightly adapted)

Now, choose the most appropriate option to complete each of the
sentences given below:
(@) The life of an Indian working woman is difficult because
) She prefers academics
(ii) She is more career oriented
) She gives importance only to her family
) She has a life of dual responsibilities
(b) A joint family is important for Indian working women because

(i) they dislike household work after a hard day at office.

[15]
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(ii) then home remains safe in their absence.
(iii) Their children can be taken care of in their absence.
(iv) the house is kept in order when they are away at work.
(c) The basic feature of their personal life is that
(i) They have no social life of their own.
(ii) They work like machines without any rest or comfort.
(iii) They always feel burdended with work
(iv) They have no time for their personal needs
(d) Thereare................ categories of working women in India.
) Two
(ii) Three
) Five
) Four
(e) Working women reserve their weekends for
) Spending time only with spouse
(ii) Spending time only with children.
) Spending time with family and for entertainment.
) Spending time only with friends.
(f) Women in India prefer a career to
@i

(ii

) achieve empowerment
) achieve equality

(iii) avoid domestic drudgery and difficult traditional roles
(iv) Matrimony

1.2. Fill in the blanks with suitable words.

(@) Heavy house work is reserved for the week ends for

[16]



2.

(b) State whether the following statement is True/False

Life is very easy for a working woman in India.

Read the following passage carefully :

1.

Diet has always been a matter of choice We eat what we like to eat.

Being a vegetarian can be a boon if one is eating right and a bane if
one is not taking care of what one eats! There are vegetarians all over
the world, but there is a remarkable difference between vegetarians in

India and vegetarians overseas.

People abroad mostly become vegetarians for philosophical and
health reasons and therefore, are careful that their diet is nutritionally
adequate and healthful. Indians, being culturally vegetarian since
generations, do not pay heed to their diet. Which is why, despite being
vegetarian, we suffer from disorders which are associated with a non-

vegetarian diet.

Anunbalanced non-veg dietis associated with heart disease, cholesterol
problems, high blood pressure, cancer and obesity. A vegetarian diet
is supposed to check these problems. But the strange thing is that an

unbalanced pure vegetarian diet can lead to exactly the same disorders!

An unbalanced veg-diet consists of fried food, lots of potatoes, dal
makhni and similar dals, white rice, deep-fried veggies, lots of paneer.
Similarly an unbalanced non-veg diet consists of lots of non-veg food,

very few vegetables and lots of butter, ghee and few fruits, if any.

To follow a balanced pure vegetarian diet, here are some tips :
Veg diets have lots of dals, which have only 30 per cent protein' content

of low biological value, with missing amino acids. To keep these in

[17]
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2.2

proper quantity, add tofu, the best, because it is partially fermented
and therefore, has better digestibility. It is also a complete protein. Eat

a variety of dals.

Veg diets lack in Vitamin B12 which is found mostly in animal-based
products like milk and eggs, besides chicken, fish and meat. To have
these things, eat nutritional yeast (like in Marmite), or sea plants-based

foods like seaweed. Or, take a multivitamin containing B complex.
(Slightly adapted)

Now answers the questions given below:

(@) Being a vegetarian can be a boon or a bane. How?

(b) What makes the vegetarians abroad healthier than the vegetarians
of India?

(c) According to the passage, what is the similarity between an
unbalanced vegetarian and an unbalanced non-vegetarian diet?

(d) Mention a major drawback of a vegetarian diet. What can be done

to rectify it?

Choose the correct option
(@) Anunbalanced vegetarian diet consists of
@i

) Milk and eggs

(ii) Fried food, lots of potatoes, white rice
)
)

(iii) Fruits and meat

(iv) Vegetables and milk

(b) Choose the correct statement from the following

(i) Tofu is unhealthy for us
[18]
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(ii) Vegetarian diets exclude dals
(iii) Your diet should contain a variety of dals on a regular basis

(iv) Sea weeds do not contain vitamin B12.

(c) The antonym of ‘completely” as given in paragraph 5 is
(i) Therefore
(ii) Missing

(iii) Variety

(iv) Partially.

(d) The synonym of the word 'connected' as given in paragraph 3 is
(i) Disorder

)
(ii) Suppose
(iii) Strange

)

(iv) Associated

Section - B (Writing and Grammar) (30 Marks)

You are Madhur/Madhuri, the cultural Head of your school. Draft a notice
informing the students about D.A.V. United Festival to be held at Indira
Gandhi Stadium. Mention necessary details like dates, ticket charges,

transport etc. (Word Limit : 50 words)

OR

Imagine you recently attended a workshop on ‘Stress Management” in your
school. Write an e-mail to your friend telling him /her about its effectiveness.

Sign yourself as Raman/Rama. (Word Limit : 50 words)

You felt immensly inspired after reading about social workers like Mahatma
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Hansraj and Dr. Parmeshwar Rao. Write on article for your school magazine
with the message that the qualities like love, peace, sense of compassion,
courtesy, forgiveness etc. are needed for the survivial of the society. Refer
to the unit 'Compassionate Souls” along with your own ideas for the same.

(Word Limit : 100-120 words)
OR

Imagine you are the class teacher of Class VIIL. You have observed that one
of your students remains isolated and sad in class. After talking to her, you
have found that she is constantly being compared with her sibling by her
parents. Write a letter to her parents informing about her behaviour in class
and suggesting them to interact with her to understand her state mind so as
to boost up her confidence and make her a feel-happy girl. Refer to the Unit
‘Changing Times’ of ‘My English Reader” along with your own ideas for the

same. (Word Limit : 100-120 words)

Read the notes given below and fill in the blanks. Write the answers in the

answer sheet.

Constitution Day-known-Samvidhan Divas marks
adoption of Indian constitution officially adopted

Nov. 26, 1949 implementation-Jan 1950.

Constitution Day (a) Samvidhan Divas. It (b)

the day when the constitution of India. (c) . Though
the constitution was adopted officially on Nov 26, 1949, it. (d) on
26 Jan, 1950.

[20]
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The following passage has not been edited. There is one error in each line.
Write the incorrect word and the correction as given in the example against

the correct blank number.

Incorrect Correct
There is three large regions Eg.: Is Are

in the world where

earthquakes is most likely to happen (a)
Scientists called them earthquake (b)
zones. The first ran along the east coast of Asia. (c)
A second zone runs down the west coast in (d)

South America.
Read the following instructions, on “How to polish a pair of shoes’.

— Take a soft cloth and clean the surface dust on the shoes
— Apply the required shoe polish on the surface evenly with a brush.
—  Brush vigorously with a second brush till the surface begins to shine.

— Kept than under a cover till use

In order to polish a pair of shoes, first a soft cloth (a) toclean

the surface dust Secondly, the required shoe polish (b)

with a brush. The shoes are then (c) till the surface begins

to shine. They (d) under a cover till use.

Fill in the blanks with an appropriate word given in the brackets.

Human life (a) (is/was/are) a tale of errors and follies.
We (b) (all/some/few) commit errors and mistakes out
() (for/of/by) ignorance. A human being always
(d) (learns/learned/learning) through experience.

[21]
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9.

10.

Look at the words / phrases given below. Rearrange them into 1x2=2
meaningful sentences.

(@) haveto / India / has to / if / Indians / change / first / change.

(b) We would / relationships / to others / help build / by listening /

point of view.
Section - C (Literature) (30 Marks)

Read the extract given below and answer the questions that follow. 1x5=5
My Dad knew his duties. He said ‘That’s all right —
You'll have what you want, dear. I'll start work tonight’.

With my expert assistance, he soon finished the chore:
(@) “You  and ‘T’ here stand for—
(i) the poet and his father.
(ii) the poet and his grand mother.
(iii) the poet's grandmother and his father.
(iv) the poet's mother and the poet.
(b) The ‘work” here stands for
(i) construction of a new house.
(ii) construction of a tree-top house.
(iif) shifting to a new place.
(iv) construction of a garden.
(c) The rhyme scheme of the poem is
@

(ii

) abba.
) aabb.
(iii) abab.
) None of these.

(iv

(d) The poet of this poem is

[22]



11.

(e) The word ‘chore’ means

OR

"Forgiveness free of evil done,

And Love to all men ‘neath the sun!

(@) The speaker of these lines is
(i) the poet.

(ii) the citizens of the nation.

(iii) the children of the nation.

(iv) the old people of the nation.

(b) The children want to forgive
@

(ii

those who have always done good to them.
those who have even done bad to them.

(iii) those who are not known to them.

)
)
)
(iv) those who are their near and dear ones.

(c) The two virtues the children want to possess are —
@

(ii

pity and sympathy
concern and pity

(iif) love and pity

)
)
)
(iv)

love and forgiveness

(d) The poet of this poem is

(e) The rhyme scheme of the poem is

Read the extract given below and answer the questions that follow :
“So that I may be completely dead at the other end? Have you any idea

what it means to be jolted in a jutka?

(@) Name the lesson from which the above lines have been taken.

[23]
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12.

13.

(b)
(©)
(d)

Who is the speaker of the above line? Whom is he talking to?
What will make the speaker completely dead at the other end?

Find the word which means “yerked’.

Answer any six of the following questions in 36 to 40 words each.

(@)
(b)

(8)

The king was a helpful man Justify.

What was Annie's reaction when she came to know that Mr. Hill had
lost his job?

How did Balder's son get implicated in a false case of dacoity?

The poetess has compared the bangles of the Indian bride to her
laughter as well as her tears. Why?

The lady called the narrator “a humorist” after having luncheon at the
Foyat's. Who do you think actually contributes to the humour in the
story? How?

Why did Margie hate her school so much?

A man must tread in a balanced way in order to lead a successful life.

Comment.

Imagine youare Mr. Hill, your unpleasant conversation with your colleagues

awakens your conscience and your attitude towards Annie changes. Write

a diary entry expressing your feelings for her before and after your meeting

with the visitors. (Word Limit: 100-120 words)

OR

Suppose you are the narrator of the story “The Undeserved Reward’. You

are overcome with a feeling of guilt after Baldev and his son leave your

house. Write a letter to Baldev expressing your guilt over accepting the

honour that you do not actually desserve. (Word Limit : 100-120 Words)

[24]
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ENGLISH - COURSE 'A’
(MODEL TEST PAPER - I

Maximum Marks : 80

MARKING SCHEME / HINTS TO SOLUTIONS

(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
1\?(')' VALUE POINTS / KEY POINTS Allotted to I\T[g:ils
Point/Key
Point
Section : A (Reading)
1. 1.1. (a) She has a life of dual responsibilities 1 8

(b) their children can be taken care of in their absence. 1

(c) They have no time for their personal needs. 1

(d) Four 1

(e) Spending time with family and for entertainment. 1

(f) Avoid domestic drudgery and difficult tradional 1
roles.

1.2. (a) Coping with the rest of the week with relatively less 1

tension.

(b) False 1

2. 21 (a) A boon if one is eating right, a bane if one is not 2 12

taking care of what one eats.

(b) People abroad become vegetarians for philosophical 2
and health reasons, diet-nutritionally adequate.

(c) Dboth lead to the same disorders, heart disease 2
cholesterol, obesity, high blood pressure and cancer.

(d) Lacksin Vitamin B , found in animal products —Eat 2
nutritional yeast, sea plants, multivitamins.

22 (a) fried food, lots of potatoes, white rice. 1

[25]



Marks

- Event organised

- Date, time of the event, venue and other necessary details
Name and designation of the writer (at the end)

*

No mark will be awarded if the content is missing or

wrong.

To be written in a box.
OR

E-Mail
Format includes
From :

To:

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Poli’lclxtllrll(tey
(b) Your diet should contain a variety of dals on a 1
regular basis.
(c) Partially 1
(d) associated 1
3. NOTICE
Format includes Format 1
Name of the School, Address Content 3
Date 4
The word NOTICE
Suitable Heading
Content

[26]




Marks

*

uplifts the physical and mental state.
enable the survival of the society

help to make the world a better place to live in

OR

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
Date :
Subject :
Value Points
*  Attended the workshop on “Stress Management” in school.
*  Learnt ways and means to control emotions and shrug off
stress.
*  Learnt techniques of exercises/meditation to relieve
stress.
*  Gained peace of mind and positivity
*  have applied in my daily routine.
4. ARTICLE WRITING
Heading 8
- By line
Value Points
- Social workerslike Mahatma Hansrajand Dr. Parmeshwar
Rao an epitome of simplicity and compassion. Content 3
- Virtues like love, care, courtesy and forgiveness. Fluency 2
*  bring joy, sense of fulfillment etc Accuracy 2
* strengthen relations with others
Format 1

[27]




Marks

;(')_ VALUE POINTS / KEY POINTS Allotted to I\T[giils
ks
* Sender's Address
* Date
e  Salutation
Content
- describing the behaviour of the student (feels,
isolated, sad etc. in class)
Reasons
*  feels neglected at home
*  does not like comparison with her sibling.
Solution
*  needs quality time with family.
* needs care, love and attention at home
* requires motivation and appreciation
Results
*  will boost up her confidence
*  make her a feel-happy girl
Subscription
5. (@) isalso known as 1 4
(b) marks 1
(c) was adopted 1
(d) was implemented 1

[28]




Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Poli’lclxtllrll(tey

6. Incorrect word Correct word
(@) is are 1 4
(b) called call 1
(c) ran runs 1
d A The 1

7. (a) is taken. 1 4
(b) is applied evenly on the surface. 1
(c) brushed vigorously with a second brush. 1
(d) are kept 1

8. (@) is 1 4
(b) all 1
(c) of 1
(d) learns 1

9. (@) If India has to change, Indians have to change first. 1 2
(b) By Listening to others point of view we would help build 1

relationships.

10. (@) (iii) poet's grandmother and his father 1 5
(b) (ii) construction of a tree-top house 1
(c) (i) aabb 1
(d) Ruskin Bond 1
(e) Job/Work/Task 1

[29]




Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
OR
(@) (iii) the children of the nation
(b) (ii) those who have even done bad to them
(c) (iv) Love and forgiveness
(d) Joseph Rudyard Kipling
(e) aabb
11. | (a) Father's Help 1 5
(b) Swami is talking to his mother. 1
(c) going to school in a Julka 1
(d) to be taken off form school 1
(e) jolted 1
12. [ (@) *  helped the hermit in digging the beds 2 12
*  bandaged the wounds of the bearded man
(b) ¢  She did not quit her job 2
*  wasready to serve him without salary.
(c) *  quarrelled with the police on a number of occasions 2
*  when a dacoity took place in the village, the police
implicated him.
(d) ¢  Sheishappy as she is about to begin a new phase of 2

her life.

*  Sheis sad as she has to leave her family and house

where she spent her prime years.

[30]




Marks

Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
() *  The lady contributes to the humour in the story. 2
*  She ordered one dish after another and also said she
wouldn't eat anything for luncheon.
(f) e+ It wasnext to her bedroom. 2
*  had to do her homework and test papers in a punch
code.
e  had to study alone in the presence of the mechanical
teacher
. Had no classmates [Any 2]
(g) * A manshould not be an extremist 2
e Should give equal importance to work and
enjoyment
(* Accept any other relevant answer)
13. | Day 8
Date
Time

e  Wanted to fire Annie as she was a bad cook

e cared only of his bank and clients.

e self-centred, insensitive man.

*  was asked to resign from the bank

* understood the plight of Annie

*  became a good natured and a concerned fellow

[31]




No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

OR

Sender's Address

Date

Salutation

e apologised for not revealing the truth while accepting

the reward.
* aman of principles.

e did not go to the district officer to ask for any favour.
* felt guilty for accepting undeserved reward.

e can not keep the gifts

*  hoped that the incident will not affect their friendship.

*  subscription.

[32]




ENGLISH - COURSE 'A’
(MODEL TEST PAPER - 1)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.

2.
3.
4

AN

This paper consists of three sections : A, B, & C
Attempt all questions.
Do not write anything in the question paper.

All the answers must be correctly numbered as in the question paper and written in
the sheet provided to you.

Ensure that questions of each section are answered together.
Read each question carefully and follow the instructions.
Strictly adhere to the word limit given with each question..

Section - A (Reading) (20 Marks)
Read the passage given below : 8

1. The term ‘raw guts’ has taken on new meaning, in recent years. Gut
health, gut bacteria, and their role in the immune system, and even
brain function, have become part of almost every how-to-live-healthy

guide.

2. A healthy gut can boost immunity, elevate mood, even keep obesity
and diabetes at bay. Indian guts are a belly apart. Read on to find out a

little more about why, as well as how, to care better for your gut.

3. To promote the growth of good gut bacteria, Indians should eat more
wholegrain wheat, oats, millets and bajra for fiber. ”Green vegetables

like Kale, spinach and broccoli are also good for the Indian gut.”

[33]



4. Traditional fermented foods like idlis, dosas and dhoklas, along with
being easily available, are also more suited to the Indian gut, since
they're familiar foods. Even a bowl of curd or a glass of buttermilk, can

be taken everyday.

5. Adding spices like coriander, cumin, fennel seeds, ginger and garlic
to soups and gravies aids digestion and boost gut health simple home
remedies like hot milk with turmeric work well. These were the foods
that boosted gut bacteria in Indians, and they remain the ones likely to

work best. (Slightly Adapted)

1.1. On the basis of your understanding of the passage, answer the 1x6=6
following questions:
(@) What is the role of gut health and gut bacteria in the immune
system?
(i) They improve memory
(ii) Improve immune system and brain function
(iii) Energize
(iv) Reduce stress
(b) The growth of good gut bacteria can be promoted by —
(i) Drinking plenty of Water
(i) Having fast food
(iii) Eating more whole grains, wheat, oats, millets etc.
(iv) Taking tea

(c)  Which of the following statements is incorrect —

(i) Spices do not aid digestion

[34]



(ii) A bowl of curd is good for the gut.
(iii) Traditional fermented food helps improve the gut.
(iv) Green vegetables are good for Indian gut.
(d) By having a healthy gut one can:
(i) Be over fatigued
(ii) Boostimmunity, elevate mood and keep obesity away
(iii) Belazy
(iv) Be aggressive.
(e) Which home remedy works best with Indians to boost their gut?
(i) Tamarind chutney
(ii) Soupy noodles.
(iii) Oily food.
(iv) Hot milk wih turmeric.

(f) The traditional food like idlis, dosas and dhoklas belong to
food.

(i) boiled

(ii) deep fried
(iii) germinated
(iv) fermented

1.2. Fill in the blank :

(@) The term ‘raw gut” has become

(b) State whether the following statement is True/False

* Spices do not help in digestion.

[35]



2.

Read the following passage carefully :

1.

Right time to start competitive Exam preparation

The number of candidates appearing for different competitive exams
is increasing fast. Cracking a competitive exam is a daunting task.
These exams intend to assess the aspirants' perseverance, patience,
time management and will to grab the coveted seat despite all odds.
Accomplishing a huge volume of compreshensive exam preparation in
a limited amount of time requires a strategy. Succeseful are those who

make the best use of the available time.

Escape the rat race—unlike school or college academic tests,
competitive exams require a different approach, a focused mindset,
and a thorough understanding of subjects and concepts. Usually,

students face numerous challenges in clearing these.

To ensure success in competitive exams, it is important to start
preparing as early as possible. To begin with, have a focused goal.
With a fixed goal and the right plan in hand, aspirants can measure

their preparation —how far or close they are to their goal.

Plan, prioritise and focus—To tame a lion, it is important to know
about it extremely well. Similarly, aspirants should be clear about the
exam —the parttern, stages and the competition. Often aspirants face

the dilemma of when they should start preparing for the exam.

Since there is a lot to be covered in less time it is essential to have
a strategy. It is advisable that one understands the past years exam
trends and devise the preparation strategy accordingly. They should

focus on weaker subjects and revise the stronger ones. Finally, to assess

[36]
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preparation vis-a-vis other aspirants, it is highly recommended that
one practises mock test and solve previous years' question papers. An
early start helps to analyse one's preparation and efficiency to deliver

on the D-Day. (Slightly Adapted)

2.1 On the basis of your understanding the passage, answer the following

questions: 248
(@) Whatis the aim of competitive exams? What is required to prepare
for these?
(b) According to the passage, how can one clear competitive exams
and achieve their goal?
(c) How should the aspirants work for goal?
(d) How the difficult subjects should be dealt with?
2.2 On the basis of your reading, choose the appropriate option from the
1x4=4

following:

(@) The synonym of the word ‘endurance” as given in paragraph 1 is

(i) Strategy
(ii) Perseverance
(iii) Daunting
(iv) Coveted.
(b) The antonym of word ‘Seldom’” as given in paragraph 4 is
@i

(ii

Focus
Tame

)
)
(iii) Often
(iv)

Aspirant.
[37]



A successful person is one who —
@

) Uses resources efficiently

(i) Makes best use of available time
)
)

(iii) Assesses difficulty

(iv) Grabs the opportunity.

What is dilemma that troubles the aspirants?
(i) How to start preparations

)

(i) With whom to start preparations

(iii) Which method to adopt for preparation
)

(iv) When to start the preparations.

Section - B (Writing and Grammar) (30 Marks)

Read the telephonic conversation between Rita and Neelam when Pooja is

away. Write Neelam's message for Pooja. (50 Words)

Rita

Neelam

Rita

Neelam

Rita

Neelam

Rita

Is it 22244677
Yes, May I know who is on the line?
I am Rita, Pooja's friend. Could I talk to Pooja?

I am sorry, she has left for the college. Is there any message for

her? I am her younger sister.

Tell her that my elder brother, Bharat has got admission in LLT
Roorkee. He is leaving tomorrow. We are holding a get-together

this evening. Please tell her to come at 5:00 P.M. at our residence.
Ok. I'll do that

Thank you.
[38]



OR

Complete the following dialogues in a suitable manner.

Anu : Amltalking to Eva?

Eva : Yes, Isthat Anu?

Anu : Yes,Ineed to talk to you urgently.

Eva : Youseem to be worried, Anu. (a) ?

Anu : While travelling, I (b)

I need Rs. 10,000/ - urgently.

Eva : Well, I am afraid (c)
Anu : (d) ?
Eva : Icanlend you Rs. 5000 only right now.

You are Neha/Nitin. You have observed that the air pollution has been
a chronic problem in Delhi and the surrounding areas. The condition has
deteriorated so much that the government had to shut down the schools
for few days because of the fear of respiratory diseases. Write a letter to the
editor of a leading daily newspaper telling how pollution is responsible for
disrupting life and suggesting steps to be taken to combat this situation.
Refer to the Unit-"Nature’ of your ‘My English Reader” along with your

own ideas for the same: (Word Limit : 100-120 words)
OR

You are Vansh/Vanshika. You feel that participation in sports and games

helps one to develop in a healthy way. Sports not only provide physical

[39]



exercise, they also develop qualities of courage, endurance and team spirit.
Taking ideas from the Unit-'Sports’ and using your own ideas, write
a speech in about 100-120 words encouraging students to participate in

sports and games and live a happy and healthy life.

Read the notes given below and fill in the blanks. Write the answers in your

answer sheet.

Books sources providing knowledge, information,
entertainment develop thoughts help remove
monotony of life taste for books a commendable

change in our life style..

Books are the major sources that (a) entertainment
to our mind. Books help in the development (b) . They help in (c)

. If we develop a taste for good books, they (d) in our
life style.

In the following passage one word has been omitted in each line. Write the

missing word and the word that comes before and after it.

Before Omitted After
word

Humans need food water to survive (@)

At lest 60% the adult body is made of (b)

water. A human can go without food about (c)

three weeks but would typically only last

[40]

1x4=4

1x4=4



10.

three four days without water. (d)

Read the conversation below and complete the paragraph that follows:

Son — Please get my papers quickly. I have to reach office by 8 am.
Mother — Oh really! Why are you always in a hurry?

Son — Why do you always nag me? It is so annoying..

Son requested Mother to (a) as he (b)

by 8:00 a.m. Mother wondered (c) . Son wished to know

(d) . He found her behaviour so annoying.

Fill in the blanks with appropriate words given in the brackets

An object (a) (in/of / on) beauty is a source of eternal joy. It

(b) (would/should/may) be a beautiful flower, a piece of

music (c) (and/or/although) a sweet smile of a child.

Equally Powerful (d) (are/is/were) the appeal of a work of

art, be it a painting or a work of sculpture.

Look at the words / phrases given below. Rearrange them into

meaningful sentences.
Eg. — human efforts/fail,/ man/takes/to prayer/when/all.

When all human efforts fail, man takes to prayer.
(a) often / prayers / and / very / bring / results / miraculous.
(b) the prayer / is that / the / condition / but / should be / genuine /

sincere / and.

1x4=4

1x2=2

Section - C (Literature) (30 Marks)

Read the extract given below and answer the questions that follow.
“All this pain of the young boy

My mother you transformed into pious strength.

[41]

1x5=5



With kneeling and bowing five times

For the Grace of the Almigirty only, My Mother’.

(@)

()

The name of the poem and the poet of the above line is
(i) Granny's Tree climbing, Ruskin Bond.
(ii) Granny's Tree climbing, AP] Adbul Kalam.
(iii) My Mother, APJ] Abdul Kalam.
(iv) My Mother, Ruskin Bond.
The mother transformed poet's
(i) paininto pious strength.
(ii) paininto grace.
(iif) pain into weakness.
(iv) all the above
The mother knelt and bowed for five times
(i) to offer her prayers to the Almighty.
(i) to transform the poet's pain into strength.
(iif) for the grace of the Almighty.
(iv) all the above.

The young boy in the above line is

The young boy was in pain because

OR

"Some are purple and gold flecked grey. For she who has journeyed through

life widway, whose hands have cherished, whose love has blest’

(@)

The name of the poet of the above lines is
(i) Sarojini Pritam
(ii) Sarojini Naidu
(iif) Premchand
[42]



11.

12.

(iv) Sudha Murty

(b) ‘Purple and gold flecked grey’ refers to the
§

(ii

bangles of a maiden
bangles of a bride

(iif) bangles of a middle aged woman

)
)
)
(iv) none of the above.

(c) The hands of the person mentioned in the above lines have

(i) Served her household in fruitful pride
(ii

) Cherished and loved her sons
(iii) Worshipped the gods
)

(iv) all the above.
(d) A pair of the rhyming words in the above line is

(e) “Midway” here refers to

Read the extract given below and answer the questions that follow :

‘No, I don't want to talk about it. But I won't forget it.”

a) Name the lesson of the above lines.

b) Who is the speaker of the above lines? Whom is he talking to?

(

(

(c) What will the speaker not forget?

(d) What did the speaker learn from “it’?
(

e) What kind of person was the speaker earlier?

Answer any six of the following questions in 30 to 40 words each.

(@) What idea do you get about the children who are singing “The

Children's song’?

(b) Why did the disappearance of the flower ring upset Mr. Reginer?

(c) Why couldn't Swami deliver the letter to the headmaster even after the

school?

[43]
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13.

(d) Why was the narrator worried when they were waiting for asparagus
to be cooked?

(e) How did the narrator and Baldev become friends in their childhood?

(f) What according to Alexander Pope, is the similarity between
judgements and watches?

(g) What technical error occured in Tommy's mechanical teacher? How

was it rectified?

Imagine you are Mr. Regnier, the owner of the jewellery shop. Write a diary
page in about 100-120 words expressing your pleasure after you got the

flower ring back.
OR

Imagine thatyouareSwami's father. Youareunhappy aboutSwami's teacher.
Write a letter to your friend, describing how you rendered help to you son.

(Word Limit : 100-120 words)

[44]



ENGLISH - COURSE 'A’
(MODEL TEST PAPER - 1)

Maximum Marks : 80

MARKING SCHEME / HINTS TO SOLUTIONS

(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
1\?(')' VALUE POINTS / KEY POINTS Allotted to I\T[g:ils
Point/Key
Point
Al. | Passage
1.1. (a) Improveimmune system and brain function 1x6=6 8
(b) eating more whole grains, wheat, oats, millets etc.
(c) spices do not aid digestion
(d) boostimmunity, elevate mood and keep obesity away
(e) hot milk with turmeric.
(f) fermented.
1.2. (a) part of almost every how-to-live healthy guide 1x2=2
(b) False
2. Passage 12
21 (a) These exams aim to assess perseverance, patience, 2
time management and will to grab the coveted seat
despite all odds. A strategy is required to achieve it.
(b) One can clear competitive exam by starting 2
preparations at the earliest. By having a fixed goal
and right plan.
(c) Aspirants should plan, prioritise and focus. One 2
should be clear about the pattern and stages.
(d) One should understand the exam trend and work 2

[45]



Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Poli’lclxtllrll(tey
on the weaker subjects and devising a strategy for
them.
(@) perseverance 1
(b) often 1
(c) makes best use of available time 1
(d) when to start the preparations. 1
3. MESSAGE
Format includes Format 1
Date Content 3 !
Time
Salutation
Content
Signature
Message in a box
OR
(@) What happened/what is the matter/Has anything gone 1
wrong.?
(b) Lost my purse. 1
(c) Ican'tarrange/lend this much amount right now 1
(d) How much money can you lend me/spare about right now 1
(accept any other relevant answer)
4. Sender's Address 3
Date

[46]




Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
Receiver's address
Salutation
Subject
Content
Introduction
* Air pollution has become a chronic problem
Effects
* is responsible for various respiratory diseases
specially among children and old people.
* responsible for disrupting life.
Format 3
* serious threat to the existence of mankind and the
planet if not checked. Fluency 2
Solution Accuracy 2,
* Plant more and more trees. Format 1

* Should check excessive use of vehicles

factories should be set up away from cities
Awareness should be spread among the people
about it and its consequences.

Subscription

(Accept any other relevant point)

Speech

Formal Introduction

[47]




Marks

;(')_ VALUE POINTS / KEY POINTS Allotted to I\T[giils
ks
Value Points
- Advantages
* Lead to physical and mental strength
* make energetic and active
* Strengthen the sense of coordination, concern etc.
* inculcate the values like sense of discipline, team
work, optimism, leadership etc.
*  help to build better understanding
*  build up healthy sense of competition
Thank You
(Accept any other relevant point)
5. (@) provide knowledge, information and entertainment 1 4
(b) of thoughts 1
(c) removing monotany of life 1
(d) bring a commendable change 1
Before Omitted Word After
(@) food and water 1 4
(b) 60% of the 1
(c) food for about 1
(d) three to four 1
7. (@) get his papers quickly. 1 4
(b) had to reach office. 1

[48]




Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point

(c) why he was always in a hurry. 1
(d) why she always nagged him 1

8. (@) of 1 4
(b) may !
(c) or 1
(d) is 1

9. (@) And very often prayers bring miraculous results. 1 2
(b) But the condition is that the prayer should be sincere and 1

genuine.

10. | (a) (iii) My Mother, AP] Abdul Kalam 1 5
(b) (i) paininto pious strength
() (iv) all the above
(d) The poet/APJ] Abdul Kalam 1
(e) of all the hardships he had to go through. 1

OR

(@) (ii) Sarojini Naidu 1
(b) (iii) bangles of a middle aged woman 1
() (iv) all the above 1
(d) grey-midway 1
(e) middle age 1

11. (@) A Bad Dream 1 5

[49]




Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
(b) Mr. Hill to Mrs. Hill 1
(c) His had dream 1
(d) to be considerate towards others 1
1
(e) he was self centered/insensitive
[Accept any other relevant point]
12. | (@) *  they love their nation 2 12
*  want to serve their nation wholeheartedly
. are willing to sacrifice their lives for their nation
[Accept any 2 value points]
(b) ¢  itwasantique and expensive o)
*  was dear to him.
() ¢  the headmaster had taken the afternoon off and won't 2
come back for a week
e the assistant headmaster was Samuel
(d) *  they were horribly expensive 2
* it would increase the bill and he would not be left
with enough money in his pocket.
(e) *  studied together in same school. 2
e  the narrator gave extra lessons to Baldev on the
request of the teacher.
(f) *  notwo watches show the same time; each one trusts 2

his own watch.

[50]




Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
e  similarly, the opinion of different people vary and
each person believes in their own judgement.
(g) *  History sector had completely blanked out 2
* It was setright by the County Inspector.
13. [ Da
Y 8
Date
Time

*  was upset when the flower ring disappeared as it was

dear to him

e suspected the American and checked him throughly.
e William Morris — Vigilant; keen observant. He observed

all the activities of the American and the young lady.
e found the ring mark under the counter
» grateful to William Morris for the recovery of the ring.
OR

Sender's Address

Date

Salutation

* was upset and worried about Swami's well being when

he narrated how voilent his teacher was

*  thought to help him by writing a complaint letter.
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

Insisted to hand it over to the head-master.

thought to teach a lesson to the teacher
Swami did not give the letter

would go to meet the teacher personally.

Subscription

[Accept any other relevant point]
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SCIENCE AND TECHNOLOGY
DESIGN

The weightage to marks, over different parameters of the question paper would be as follows :
A. Weightage to content / subject units:

PHYSICS
S. No. NAME OF UNIT Total Marks
1 Force and Pressure (Chaper - 4) 5
2 Friction (Chapter - 5) 5
3 Refraction & Dispersion of Light (Chapter - 10) 7
4 The Human Eye (Chapter - 11) 4
5 | Sound (Chapter - 12) 4
6 Electric Current & its Chemical Effects (Chapter - 16) 5
Total | 30 Marks
CHEMISTRY
S. No. NAME OF UNIT Total Marks

Metals and Non-metals (Chapter - 3)

1 8
2 Sources of Energy (Chapter - 6) 5
3 Combustion (Chapter - 7) 7
4 Synthetic Fibres and Plastics (Chapter - 13) 5

Total 25 Marks

BIOLOGY
S. No. NAME OF UNIT Total Marks
The cell - Its structrue and functions (Chapter - 1)

Reproduction in Animals (Chapter - 14)

5
Microorganisms - Friends or Foes (Chapter - 2) 6
7
7

B lw|no |~

Reaching the age of Adolescence (Chapter - 15)

Total 25 Marks

Total Marks for the Question paper : 80 Marks
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B. Weightage to form of questions :

. No. of Marks for Total
S. No. Form of Question . each
Questions . Marks
question
VSA
1 (i) Very Short Answer Type 02 leach |0
(i) MCQ's 08 leach |[08Q —20
(iii) Assertion-Reason type 02 leach |02 marks
(iv) Paragraph based questions | 02 (Having 4x1=4 |0
four sub-parts | marks
in each)
2 |Short Answer Type 10 03 each 30 marks
3 |Long Answers Type 06 05 each 30marks
Total | 30 questions 80 marks
C. Weightate to different thinking skills :
S. No. Thinking Skill Weightage / Percentage Marks
1 | Knowledge (K) 20% 16
2 | Understanding (U) 50% 40
3 | Application (A) 20% 16
4 Creative thinking/Evaluation/ 10% 08
Analysis (C/E/A)
Total 100% 80 marks
D. Weightage to difficulty level of questions :
Cope Percentage of Total
S. No. Difficulty Level Marke Marks
1. [Easy 25% 20
2. | Average 60% 48
3. | Difficult 15% 12
Total 100% 80 marks
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SCIENCE AND TECHNOLOGY

(Model Test Paper - I)
Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1. This question paper has 30 questions in all. All questions are compulsory.
2. There is no overall choice. However, internal choices have been provided in any 3

questions of 1 marks each, 3 questions of 3 marks each and 3 questions of 5 marks
each.

3. The question paper has 3 sections : Sections A, B and C respectively
* Section A has 14 questions in all carrying a total of 20 marks..

* Section B has 10 questions in all that are short answer type and carry 3 marks
each.

* Section C has 6 questions in all that are long answer type and carry 5 marks each.
wmr= tdw
. 30 9T | e 30 99 €1 9l weA erfrer €
2. W A H i e fawen T@T e mn 21 aenfy 1 ofe At Rt 3 WA, 3 o
aret fareel 3 WAl qen 5 o et faRe 3 WAl o eviaft fadew wem fRR T €
3. WA T H 3 WS T ;WS A, WS B, TN T C
e e AH 14 9 €, f596 Fa 3 20 2
e e BH 10 TTEUHAS YT T IR &0 ¥ JAF YT ok 3 AF T
e TS CH 6 & ITAF T ¢ IR T ¥ TIF T F 5 fF T

SECTION -A (@g - 31)

1. Name the part of retina which is insensitve to the light. 1

I Yo o Y 9N KT AW TARY ST YR S Y STHAAL 2

2. Define regenerated fibre.

T9: FeId @ i aRea wife|

OR ( 31@r)

Define Polymerisation.

FEADIHIUT DI IR HifT|
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3.

An increase in the amplitude of sound-
(@) increases its pitch.

(b) decreases its pitch.

(c) increases its loudness.

(

d) decreases its loudness.

e o 3ATEH ohl TR -
(%) deE § TGl et 2
(@) dRA & Ht B 7
(1) Yeerdl | S sl
(%) e H eI 2

When Sun light is propagating through air all the seven colours present in
Sunlight.

(a) propagate with very different speeds

(b) propagate with nearly the same speed

(c) The voilet colour propagates, fastest of all

(

d) The red colour propagates, slowest of all.

S GLd T VI T Y TR € l SHek 9l 4
() Tferh STA-3Te o1 ¥ =erd 2l

(@) @ T & He 9 "o 2

(1) ST T G A W | werar B

(%) o T1 Fed it = | werd 2l

OR ( 3719r@r)

When dispersion occurs through a prism, the colour of white light that

bends the maximum, is the

(@) Red colour
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(b) Blue colour

(c) Violet colour

(d) Green colour

ot Te o g1 WehTel 1 Taeiqur gidr € a0 e ifush g STl 11 Bl 8-
() @M T

(@) e

() S @

(%) 80 W

For very far off object, the image formed by convex lens will be
(a) virtual and magnified

(b) virtual and diminished, almost to a point size

(c) real and magnified

(d) real and diminished, almost to a point size.

T IT9d o G 9gd X T 8% 9% I Hidred

(%) SM9TE qen el 9 B

(@) AT dA TG B AT Teh {5 & GHH S B
(1) STt Ul Sl Sl Bl
(¥1) aTEdferh qe 9gd B N U fog oF THM a1 )

Which of the following is not a part of an animal cell?
(a) Plasma membrane

(b) Plastid

(c) Mitochondria

(d) Golgi Complex

frferfem & § FH S FRTEE F S T 2

(a) i fereett

(b) wificg

(c) wgErhitg

(d) ST hircie
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7.

Riya accidently placed her hand over a flame and immediately pulled it

back. She felt the sensation of heat and reacted it to the action of

(@) blood cells

(b) Liver cell

(c) Nerve cells

(d) Fatcell

o 3 et W ST 'Y Uk off W W@ iR qld S99y diw o see
Tt T ergufd HEgE HI R sk ST g UlafeRa 1 g

(a) T hIgERTET W

(b) @eFa HivERE G B

(c) dfrent hifyrpren @ 2

(d) =@ HifEEREt @ 2l

After fertilisation, the resulting cell, which gives rise to a new individual,
is known as

(@) embryo

(b) foetus

(c) ovum

(d) Zygote

fi= & o, wfomh wfe, ST TUoweh s oW AT
= fFE w9 F S S 82

(a) o

(b) T

() fe=

(d) e

Reproduction by binary fission, takes place in
(@) Hydra

(b) Amoeba

(c) Plasmodium

(d) yeast
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10.

frfafed § 9 frad fges g S 9/ Sl @72

(@) =S
(b)

©)
(d)

%%g

OR ( 31<r@r)

The female reproductive system consists of
(@) Opvaries, Oviduct, Uterus, Vagina

(b) Ovaries, Spermduct, Urethra, Vagina.
(c) Ovaries, Oviduct, urethra, Vagina

(d) Ovaries, Oviduct, Urethra, Penis

TRI ! S99 99 H 9™ S A 19

(a) Hemm, feaifet, mafem, =T 71

(b) ieTer, SehTY] e, TEEm, A € |
(c) ofewm, sfeaife-ft, Tommt, =T 2 |

(d) sfermE, sfeafe, T, fored 2

Acne and pimples are common among adolescents. This is due to
(@) Increased production of sebum from the sebaceous glands.
(b) decreased production of sebum from the sebaceous glands.
(c) development of sex organs.

(d) increase in size of larynx.

fopeiRreen o $fgal iR He® gm €1 SHH HRO

(a) =@ TRl gRI dem i St Scaed @
(b) =@ Ul gRI HeH w1 FH IR §
(d) T ok AHR § gfg B 2
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11.

12.

For question numbers 11 and 12, two statements are given-one labeled
Assertion (A) and the other labeled Reason (R). Select the correct answer to

these questions from the codes (i), (ii), (iii) and (iv) as given below:

(i) Both A and R are true and R is correct explanation of the assertion.

(ii) Both A and R are true and R is not the correct explanation of the
assertion.

(iii) A is true but R is false.

(iv) Ais false but R is true.

T FEA 11 R 12 § q weF A W T ° U sifusmed’ (A) den
TEA FRT (R) B1 T Yol o SR < o ol o0 o vk ® @ T @i
(i), (ii), (iii) @ (iv) ¥ ¥ oqep! 3faa ®ig 1 T 0 21 37 HiEl
1 foregea fereror < fean o 21

(i) A R R I SF 7 3R R &I T aiforsher &1 W& faew 2

(i) A 3R R I Sk T AfA R @ T sifqerem o1 wet faaron 7= 2
(i) A HE 7 AfRA R e =)

(iv) A Teld € dfed R HE 2

Assertion : It is advisable not to wear clothes made of synthetic fibres

while working in kitchen

Reason :  Synthetic fibres have low melting point and form sticking
beads at high temperature.

afypem  : TR | Y w0 GHI IR Q1 9 91 e 7 U &

TR fe S R

HRT ;S Wi F1 T HH OB B IR FE I=d AN W
feafad At s

Assertion : Itis observed that sometimes the tadpoles do not grow into

adult frogs in some village ponds.

Reason :  This happens when, the pond water does not contain
sufficient amount of sodium need to make thyroxine

hormone

Afwspem  : FE @ T © TR wefi-we Seuie Rt el o dqema o
IIEh Hewhl dg 7@l Ul
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HRT : U d9 B § S e o U H R gEe o
fau eravass wifgam &1 v AqEn Tl el €

13. We know that forces arise due to some mutual interaction between two

entities and their interaction effects can come into play through a “direct
contact” or even without a "direct contact". A special type of a “direct
contact” force has the general effect of slowing down moving objects. Nature
has taken special care to minimize the slowing down effect of this force
on birds and fishes who have to move through fluids a lot. Humans have

also used natural observations to design their special purpose “fast moving

objects” like the racing cars. Such objects are given special shapes.

(@) Give any two examples of 'contact force'.

(b) "Magnetic force is a non-contact force". Justify the statement.

() How has nature tried to minimize the slowing effect of the special
force that tends to slow down birds when they move through air or

fish when they move through water?

(d) Will one really need special vehicles if they were to race through
vaccum or free space?
&H 9 ® % 9ot %1 sgm e < uRenite dwal/efaet % T T@m
SN Yaifad € oF HROT BT 71 I8 URSARE YHE Sk diY Hraeh
A oM W 3ol 9k WY geh | A7 oM WAt 3= 8 Gkl 2
Y Teh g S0 B dTell U ToRiY 9 Fead™ g%l @i T

I YR H9 & 2l 2

YehTd 7 39 9 §R (A i W HT oh JAE Hl FAdH HH o o
uferl SR mefeal w1 S w3 H fonie e e ®, wEifs et
AR waferal w1 sifuhar @t y=rel § & wa ugar €1 Al 3 o
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14.

T U UIehfaeh sTaclishl ol & § @ &2 &1 o fod g 7ifd 9
T o fafye areat w1 fmio fFa 1 59 yhR o aredl w6l fasi
AR § & o S 2

WY gk ATt Sell o 31 S fAfed

“graeta o fo ek o1 9t ®771 SWied weF i g FifeE)
e e e S e e
I HH B oh oW IA oF Y9G Hl HH B oh [ ITHRI G H
1 foew = w5 2?2

I e el fafire SR ol areHl sl I STl ge ke o
T BT A1 A q9 SR TR SRR H S STeREsh Bil?

While cooking in the kitchen, some food spills over the burner of the gas

stove. As a result, the flames of the burner appears yellow and the cooking

vessel gets coated with a black substance.

(a

~—

Name the black substance that gets coated on the vessel.

Name the fuel being used in the gas stove.

State two points that show why the fuel used in a gas stove is regarded
as a better fuel than wood used in ordinary chulhas.

Name one harmful gas which is formed by incomplete combustion of

carbon fuels.

WEER § @M UK 0T %o e 9l T gee o o )R S @)
TH HROT, TR F SN Wet T F e g R @ TEH % add W T
HIft WA S S 2

() I W SHA aTedt kel 9 o 92l 1 9W fafem)

(@)7E Jee § ST g ol $ee w1 A fafem)

() “FUR ot § ST B Al ARS! i go 9 goe ¥ ST
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15.

16.

17.

B oTel o SEal W Sl © -39 hUA ol <ud gC g < feg

fafam)

(%) e $eHl o TR SIe ¥ Icq e el U el Rer 19 T M

fafem)
SECTION-B (®@g - &)

State any three properties of liquid pressure.

WA I o Tl d= i w fafem)

Describe any three methods to reduce friction.

T I HH H HI s M FEE BT GuF Hife)

Write the main function of the following parts of human Eye:

(@) Pupil

(b) Iris

(c) Eyelens

7= & SitE o frEfafEd e o g @ fatew)
() el

(b) Tfarient
(b)

OR ( 3A¥ar)

A student sitting on the last bench of his classroom is unable to read the

writing on the blackboard clearly.

(@) Name the defect the student is suffering from.
(b) Write any one cause of this defect.

(c) How can this defect be corrected?

e ¥ enfEdl s W 93 uw foamneff vamuee W faeh e S R 9

& 9% e 2l
(a) 39 fagamefl =t st o 3fteqis &1 M waEd|
(b) 39 3fte I 1 foFE FhR Stk fepan <1 Tehar €2
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18.

19.

20.

21.

Describe a simple experiment to show that sound cannot propagate

through vaccum.

T HHRU GAN g HHeeT Tk eafq frafa § =a 98 et 2

Take a small amount of water in a beaker and dissolve a few crystals of

copper sulphate in it. Dip a magnesium ribbon in this solution.

(i) List two observations related to the reaction caused by the dipping of
magnesium ribbon in the solution of copper sulphate. Also, State the
reason for each of these observations.

(ii) Represent the above observation in the form of balanced chemical
equation.

Th iR H oISt e A UM oife iR SEH iR Hethe o e HIuie/

fopem wia <ifSwl 30w & w THifEm @ wa ga i)

() FIR ewe oo § HEREE Wi <o @ B el e @ e
T ey fafEm) 9 M1 TRl o1 RO o9 fafem)

(i) ST 3TTART Hl Tk Hqfad THEMER THIRT §RI TG hifad|

OR ( 31<r@r)

With the help of an activity explain the chemical reaction of magnesium

with water. Also write the chemical equation involved in this reaction.

T FRmAmAafaty o Aemm 9 TEREE & U & @Y g arel TaEite
Tfehan ot AN SN 39 Yiehal ¥ Hafgd @i T o fafeaw)

2+1=3

Define destructive distillation of coal. Write the names and any one use 1+1+1=3

each of (i) a liquid and (ii) a geseous product, obtained by destructive

distillation of coal.

HEe o IR STa w1 TRId i) S o faeeit eae 9
S BF 91 (i) Th o TS (if) Th 1T Scg k1 AW fafen ik s
THh-Teh 39 o fafew)

Name and explain any three characteristics of synthetic plastics.
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22.

Tyaftd wnfes =i fol 9 favwaet &1 9 fafee wd s @t =
EAIELY

Draw a neat diagram of a Euglena and label the respective part in it that.
(i) performs photosynthesis.

(ii) helps in locomotion.

(iif) controls all the activities of the cell.

T T Th o3 3T T 3R STH hAS-3T 3T 9N H oAdd B
S- (i) YeRIY HYATOT HIT 7

(i) SENTHA W HIR BT ©

(i) PIfeTeRT w1 weft nfafafeat o fafa s 2

Alternative Question for Visually Challenged

State any three points of difference between a plant cell and an animal cell.

UEY HIYTRT 3R S IR ok i i dH st fafem)

23.

OR ( 319r@r)

Give reason:

(i) Anamoeba and an earth worm have different sizes.

(ii) The shapes of cells differ not only in different organisms but also in
different organs of the same organism.

(iif) Tomatoes are red in colour while leaves are green in colour.

RSN

(i) TH 3HeT IR Uh U 1 MR STAT-3e Bl 2|

(ii) IS oF SMHR 7 haa fafe= Siel o afcew T & Sia o ot
s «ff fo B R

(iii) T oA 1 o B € @i Il 8¢ W1 o e &

Identify the causative microorganism and mode of transmission of the
following diseases:

(@) Tuberculosis
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24.

25.

(b)
(©)

Common cold

Amoebic dysentery

=1 T & FRE Geusiel w1 TE=M R STk =0 o HROT TS|

(@)
(b)
(©)

(@)
(b)

(@)
(b)

T

AT

Sl SR

Define food preservation.

Name the appropriate method that is used for preservation of the
following food items:

(i) Apricot and coconut

(ii) Jams and Jellies

(i) Milk

(iv) Carbonated beverages

WrE HEl ol qRIfa i

39 Iugw fafy &1 9w fafew fSae 3w fefatea e a&er &
T % forg fean S 2

() Tart R e

(i) S SR S
(iii) 4
(

iv) FEMeE I 9T HE

SECTION -C (@S - HT)

Write any two differences between real and vitual image.
Where should an object be placed in front of a convex lens to get an
image that is equal in size to object . What is the nature of the image

formed? Also, draw a ray diagram to support your answer.

Alternate question for visually challenged students in lieu of Q. 25

part (b).
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(b) Define the following for a convex lens-
(i) Opical centre
(ii) Focal length
(iii) Focus

(a) aTdfaes qon st yfdafsa § @iz g siq fafew)

(b) U 3G OH % T I&] HI Fel WA A6y TG 39 T H
Hidfeisl o1 SRR o&] o 3R oh SeR 81| 9 Widlsis o @eq Hal
BIN? Teh fohdoT 3@ gN 10 Il i gfte RSy
gftc yafaa onl o T w99 25 (Sft) & ®©F W dewfeas w91
I o o fog feefafed =t aRefia it

(i) sffehat g
(i) ThIHRE TS
(iii) T

26. (a) State the three conditions that help in getting a smooth and firm deposit
of a metal during electroplating.
(b) Give any two practical applications of electroplating.
(a) FSEd T Th FHM ¥ 94 o faq A S arel diF Suga dral
o ar ¥ fafer
(b) forp@ o= & fohgl <1 3TN o aR H ARl

OR ( 319r@r)

(@) Why does distilled water start conducting electricity when few drops
of sulphuric acid are added to it?

(b) How do strong and weak electrolytes differ from each other?

(c) Draw a well labelled diagram of voltaic cell and label any two parts in
it.

Alternative question for visually challenged students in lieu of Q. No. 26 (c).

(c) Name the metals used as cathode and anode in a voltaic cell.

(@) ‘‘VTd HeHIRh A H FD 98 AGd 9ol § Hers et ® Al o
A Sl ! Tk A=l T =t o &4 271 2

[132]

3+2=5



27.

28.

(b) Yo faga faea don 3o fog@ faeem 9 @R adaru)

(c) Oeer ¥ T TH ARG A IR THoR TR & AWM kI WA
e |

gfie yafaa onl & € 26 & WM W SHieas 99 :

dieez ol | Ui a1 chelig s o fau ferg-frg erg 1 SwEm fawen

S 2

(@) Name and explain the steps involved in extraction of a pure metal from
its ore.

(b) Specify the physical property of metals due to which they are used for
the following purposes:
(i) for making bells

(ii) for making boilers.

(F) o H 9§ Y5 ug 1 FTshdv &3 o fau gged g are =1on &
M fafew & 3Tt =men @t wifsu)

(@) urgetl & 39 Wifqw o # W fafen ek wRoT SR STEn fre
Ml o fou feman St 2|
(i) wfear s & feg
(i) @EFeR s H & fau

(@) Name the three zones of a candle flame. Which of these zones is its
luminous zone? Also explain why this zone is luminous?
(b) If a room containing kerosene tanks stored in it were to catch fire,

suggest any two methods that could be used to extinguish such a fire.

(a) TS T S % @A &= o T fafew) e @ SF W oad ST
THIHM &7 87 TH &7 o YhRME B w1 wRO o S|

(b) TR TH wW H, Wl I o 91 & T8 W MY &, ST o M, df
TG AT i FM o HIE I U G|
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29.

30.

OR ( 31er@)

A family requires 20,000 K] of fuel energy every day. If calorific vlaue
of the fuel used by them is 15,000 kJ/kg, how much of this fuel will be
required by this family to meet their energy needs for the month of April?
How is burning of coal and diesel harmful to

(i) human beings

(ii) buildings and monuments.

T URER W YfafET 20,000 kJ T S R STERIHAl 1 TR IH
qRER g ST fRT SIH oTel €9 1 SSHE 7E 15,000 kj/RL €,
al otier oE ¥ 39 URER w1 Sl w1 Sesd g0 o forg fepad gem
1 STEYIHA B2

HIFel 3R SieTel 1 Toer e o fou fhd YR Bl B2
(i) =

(i) THARG Td W&

State any three changes that take place during metamorphosis in frog.
Distinguish between direct development and indirect development of
an organism.

Agsh o HEMU o IR eF ded S dF 9ieda fafed)

TS S o goaa T iR sty fae o die SR S

“It is a myth that the mother is responsible for determining the sex

of the child.” Justify the above statement.

“It is important for an adolescent to have physical exercise.” Suggest

any two points in favour of this statement. :

‘g ww fhuw © T W= ® W & sueh fem @ fuRm
HIA B S HUA i gie el

“ue TRk o fou wiRes =A@ s weequt ®771 59 e o qel |
1 1 g gamul
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(@)

(b)

OR ( 31er@)

State the name and function of the hormones secreted by the following
glands.

(i) Thyroid

(i) pancreas

(iii) Testes

Name the endocrine glands that are located on top of each kidney

Mention the function of the hormone released by them.

(a) Tr=fafea gfemt g enfad emi o 9@ @ik % fafe-

(@) emstse
(i) TR
(ii) EEMI

(b) 39 Aaeet ufer w1 AW foafey st yeiw ¢ o v W T #1 SR
BN Sfad BMMH o 1 ol Ieai@ forfsd|
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SCIENCE AND TECHNOLOGY

(Model Test Paper - 1)
Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
may be suitably awarded. )

Marks
S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgri S
Point/Key
Point
SECTION-A
1. The blind spot 1 1
2. Fibres obtained by processing natural fibres 1 1
OR
The process, by which a polymer is made by joining a large
number of small molecules.
3. C - increases its loudness 1 1
4. b - propagate with same speed 1 1
OR
C - Violet colour
5. d - Real and diminished, almost to a point size 1 1
6. | b -Plastid 1 1
1 1
7. ¢ - Nerve cells
1 1
8. d - Zygote
1 1
9. b - Amoeba
OR
a- ovaries, oviduct, uterus, vagina 1
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Marks

o VALUE POINTS / KEY POINTS cach g srotal
Point/Key
Point
10. |[a- increased production of sebum from sebaceous 1 1
glands.
11. | (i) Both A and R are true and R is the correct explanation 1 1
of A.
12. | (iii) A istrue but Ris false 1 1
13. | (a) Frictional force, Muscular force. Vet 2
(b) A magnet can exert a force on another magnet 1
without being in contact with it.
(c) Birds or fishes have special stream lined shapes. 1
(d) No 1 4
14. (@) Carbon
(b) LPG/PNG
(c) (i) leavesno ash behind V2
(ii) has fever emisions of pollutants Y2
(d) Carbon monoxide 1 4
SECTION-B
15. (i) Liquid pressure, on the bottom of the container (due to 1
weight of liquid column), does not depend on the area
of the bottom.
(ii) Liquid pressure, at any point inside the liquid, depends 1
upon the density of the liquid and the height of liquid
column above that point.
(iif) Liquids exert (an equal) pressure on the walls of the 1 3
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
container.
(iv) Anextrnal pressure, applied onaliquid ina closed container,
is transmitted uniformly throughout the liquid. [Any three]
16. | (i) Polishing : When we polish a surface, its roughness | V2t 72
(unevenness) decreases.
(ii) Lubrication : Lubricants (such as oils, grease, talcum | 2+
powder) decrease the irregularities between inter locked
moving parts.
(iii) Ball-bearings : Sliding can be replaced by rolling in most | V2t %2 3
machines by use of ball-bearings.
17. | (@) Pupil - The light enters the eye through pupil. 1
(b) Iris - Regulates the amount of light entering the eye by 1
adjusting the size of pupil.
(c) Eye lens - The light, entering the eye, is focussed by the 1 3
eye lens.
OR
(@) Myopia
(b) elongation of eyeball or excessive curvature of eye lens
(any one)
(c) By using a concave lens of appropriate focal length
18. | Refer to Activity 6 Pg 222 of the book 3 3

Description -1

Observation before evacuation- 2
Observation after evacuation- %2
Conclusion -1
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Marks

;(')_ VALUE POINTS / KEY POINTS Allotted to I\T[giils
ik
19. | Observations :
(@) Blue colour of the Solution fades and after sometime, the Ya
solution becomes colourless.
(b) The magnesium ribbon gets coated with a brown layer Ya
Reasons :
(@) Magnesium sulphate formed is colourless. V2
(b) Copper metal gets deposited on the magnesium ribbon s
(c) Mg(s) + CuSo,(q) » MgSO,(aq) + Cu(s) 1 3
OR
Refer to Activity 7 of Pg44 of the books
Description - 1
Explanation- 1
Chemical equation - 1
20. | Strong heating of Coal, in absence of air is called destructive 1
distillation
Liquid product : Coal tar Voo
Use : Synthetic dye, drugs, explosive, perfumes, paints,
photographic & roofing Materials (any one use)
Gaseous Product : Coal Gas
Use : domestic fuel, industrial fuel (any one use) Vot 3
21. | (i) Lightweight 153 3

(ii) High Tensile strength - can hold a lot of weight without
breaking.
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Marks

o VALUE POINTS / KEY POINTS cach g srotal
ks
(iii) Resistances to chemicals such as acids and alkalis
(iv) Non-biodegradable
(v) Lusturous and colourful.
(vi) Non-conductors (Any three)
22. 1+
(b) Flagellum 3xh=11h 3
(c) Nucleus
(a) Chloroplast
Alternative question for visually challenged students. [ 1*1
Plant Cell Answer Cell
Fixed shape Irregular/Not fixed shape
Cell wall present Cell wall absent
Plastids present one Plastids absent
large Vacoule (Any 3) Either no or small vacuole
OR
(i) Due to different number of cells present in them 1

(i) Due to their different location and function in the tissue.
(iii) Tomatoes are red due to presence of chromoplasts while

leaves are green due to the presence of chloroplast.
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
23. Disease Causative micro Mode of
Microorganism transmission
a. Tuberculosis Bacteria Air Vot
b. Common cold Virus Air YotV
c. Amoebic Protozoan Water o+1hH 3
dysentry
24. (@) Food preservation is the process of treating and handling 1
food so as to stop, or greatly slow down, spoilage caused
by micro organisms.
(b) (i) Drying (ii) Preservation using sugar (iii) Pasteurisation | 14yx4=2 3
(iv) adding citric or phosphoric acid.
SECTION-C
25. Real Image Virtual Image 1+
(i) Always inverted (i) Always erect
(ii) can be obtained on (ii) cannot be obtained on
screen screen
(iii) formed by actual (iii) formed by apparent
intersection of intersection of refracted
refracted rays rays
(Any 2)
(b) () at2F, real ot
=l
e £ 2f 2 >

2€ F 9

L
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
PoIi’IclxtllrIl(tey
Alternative question for visually challenged students in
lieu of 25 (b).
(i) Optical centre. It is a special point on the principal axis 1
through which a ray of light passes without any bending
or deviation.
(ii) Focal length: The distance of the principal focus from 1
the optical centre of a lens
(iii) Focus : The point on the principal axis through which all
the rays of light parallel to principal axis after refraction
through convex lens converge.
26. (@) (i) The article, to be electroplated, should be made the 1
cathode of an electrolytic cell.
(ii) The anode is made of that pure metal which is to 1
be coated on the article.
(iii) A suitable soluble salt of the anode metal is taken 1
as the electrolyte.
(b) (i) Toimprove/alter their appearance. 2 5
(ii) To provide a protective/strengthening coating.
(iii) To minimise the cost (any 2)
OR
(@) It makes water more conducting by providing ions in it. 1
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
(b)
Strong electrolytes Weak electrolytes 1+1
These are electrolytes that [ These are electrolytes that
get ionised completely get ionised only partially
to form free mobile ions. [ to form free mobile
Hence large number of ions. Hence only a small
free mobiles ions are number of free mobile
available in them to ions are available in them
conduct electricity. to conduct electricity
Example - Sea water, Example Ordinary
nitric acid, copper tap water, oxalic acid,
sulphate solution carbonic acid, ammonium
Sodium chloride hydroxide, citric acid
Sulphuric acid (Any One)
(Any One)
© 1+Va+1/5

)

(

Zinc rod =

O

e ——

i r—

» Copper rod

Dilute Sulphuric acid
(any 2 parts)
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to Jotal
Poli’lclxtllrll(tey
27. (@) (i) Concentration of ore: It is the process of removal of | Y2+%2
impurities from the ore
(ii) Reduction: It is the process of treating the metal ore | Y2+
to get the metal in its free state.
(iii) Refining of metal: Refining is the process of Yo+
purification of the impure metal
(b) (i) Sonorosity 1
(i) Good thermal conductivity. 1 5
28. | (a) Innermost zone 1
Middle zone 1
Outermost zone 1
Luminous zone: Middle zone. 1/
Due to presence of carbon particles in it.
(b) (i) By putting sand
(ii) By using a fire extinguisher >
OR
(a) Total Energy consumption in the month of April.=
30 x 20,000 kJ
= 600,000 k] 1
Calorific value of fuel = 15000 k] /kg Y2
15000 k] —1kg
1 Ya
1KJ — 15000
-606660~
600000 k] = o0 =40kg 1
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
(b) (i) Leads torespiratory disorders, bronchitis, asthama 1
(any one)
(ii) leads to tarnishing due to acid rain. 1 5
29. | (a) (i) Development of hind legs followed by front legs 1+1+1
(i) Development of lungs
(iii) Shortening of intestines.
(iv) Tail gets absorbed by the body. (Any three)
(b) 1+1 5
Direct development Indirect development
(1) Young one at birth is [ (1) Young one at birth
a miniature version of the |looks very different from
adult form its parent.
(2) e. g. Human beings/ | (2) e. g. Butterfly /Frog
cow
30. | (a) Mother contributes ‘X’ chromosomes only while father 1
contributes either ‘X’ or “Y” chromosome.
If X chromosome of mother fuse with ‘X’ chromosome of 1
father, resultant zygote will be a girl child.
If ‘X’ chromosome of mother fuse with “Y” chromosome 1
of father, resultant zygote will be a boy child.
(b) Physical exercises — 1+1 5

i) Promotes growth processes

11

~

helps in better digestion of food.

iii) help in elimination of toxins from the body.

\%

~—"

vi) help to combat stress and strain of adolescence

(

(

(

(iv) Improves blood circulation

( Increase respiratory efficiency of lungs
(
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( s
Point/Key
Point
(vii) keeps the individual fit (Any two)
OR
(a) VatVa
Gland Hormone Function
1. Thyroid Thyroxin regulate metabolic Yot
rate of various
body functions.
2. Pancreas Insulin Lowers the blood
Yo+l
glucose level.
3. Testes Testosterone rapid maturation
Vot
of the gonads (Sex
organs)
1

(b) Adrenal glands are located on top of each kidney
They release adrenaline harmone which regulates the
mineral levels in the blood/controls the response of the

body to stressful situations.
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SCIENCE AND TECHNOLOGY

(Model Test Paper - II)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.
2.

3.

This question paper has 30 questions in all. All questions are compulsory.

There is no overall choice. However, internal choices have been provided in 3

questions of 1 mark each, 3 questions of 3 mark each and 3 questions of 5 marks each.

The question paper has 3 sections : Section A, B and C respectively

* Section A has 14 questions in all carrying a total of 20 marks..

* Section B has 10 questions in all that are short answer type and are carry 3 marks
each.

* Section C has 6 questions in all that are long answer type and are carry 5 marks
each.

= 9T

1.
2.

TH YT § e 30 Y &1 Gty e 2

e 79 W IS gmfies fohed T & wen B1 qenfy 1 ik ool TRl 3 wwAl, 3 s
aret foheel 3 weal qen 5 3fehl ot Tl 3 Wl o ofiafie foashew weM fovd T €
TH T H 3 WS ® : WS A, @S B, 991 @ C

e e AH 14 9 €, f596 Fa 3 20 2

e e BH 10 TTEUHAS YT T IR &0 ¥ JAF YT ok 3 AF T

o TS CH ¢ < IUcHE T & R T U T U b 5 ek 2

SECTION -A (@g - 31)

Name the defect of human eye in which the crystalline lens of old age 1

person becomes hazy or opaque.
I & 39 3fes™ & A Sy, fouy ggueRen ¥ e w1 o= STaRaet
RIS

Writer Full form of
I) PET 1/2+1/2=1
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) PVC
91 gl &9 fafem|
) PET
) PVC

OR ( 37dr)
State one characteristic of those plastics in which the monomers are
arranged in a straight chain.
¥ waferd T S 2
The ring of cartilage, present in the wind pipe of birds, is known as -
(a) Syrinx
b) Vocal Chord

(
(c) Vocal Sacs
(d) Larynx

uferl w1 v H Sufterd wifeels & Bool w1 AW F T
(a) TaRtTe

(b) R

(c) aR-Sreft

(o)

The phenomenon of splitting of white light into its constituent colours
is called.

(a) Refraction of light

(b) Reflection of light

(c) Dispersion of light

(d) Lateral displacement of light.
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gd & T3 YHE K G O H o SH HY gm0 FHEant 72
(a) ThTET T US|

(b) ThTRT KT TS|
(c) I I faaTE|
(d) s foremaA|

OR ( 319r@r)

Optical Centre of a lens is a special point on its principal axis through
which all the passing light rays -

(a) go straight without undergoing any deviation.

(b) get diverged away from the principal axis.

(c) get converged at the focus of the lens.

(d) go parallel to the principal axis of the lens.

o w1 g oY 39e gEa ote W feud ww favm fog @ food 9 e
S ATt Gt g feRoi-

@) famr foreht fomem & duft st )

(b) T=F 318 ¥ R fo= fwmert & forer <t 2

(c) TIHT I 3R Hfxd & It 7

(d) o9 & qeA el & FHARR e S €

When a ray of light is incident from air, on to a plane parallel faced glass
stab, the angle of incidence is

(a) more than the angle of refraction

(b) more than the angle of emergence

0

(

(d) less than the angle of emergence.

less than the angle of refraction
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e YISl H1 Tk TR0l T W T §E Ush SR T Tie W STafad
Bl € T STHT YA HIVT SH-

(a) STTedA iU § 3Afueh Bl B

(b) ST HU H 3k el 2
(c) STTedA U1 W HH Tl 2l
(d) SR HIOT Y FH e

Plant cells generally have a definite shape. This is due to presence of
which of the following?

(a) Protoplasm

(b) Nucleoplasm

(c) Cell wall
(

d) Plasma Membrane

ey IR 1 HHERIA Tk MHiv=d emeR g &1 wa f=fafed § 9
foruer! Sufterfd & RO 2§72

Which is the smallest cell in the living organisms?

(@) Mycoplasma

(b) Red blood cell

(c) Nerve Cell

(d) Human Ovum

Sfrar Sigetl § R S arelt Te Sid wifeh s o 7?
(a) FEHTEA

(b) T T hITITeRT
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(c) dfAepT HIf¥TRI
(d) #re feq
The individual, that produces both types of gametes, -

(a) Bacteria

(b) Earthworm

(c) Hydra

(d) Hen

frefafed o @ o Sta <Al YRR & gt w1 i s 82
(a) STy

(b) T

(c) =TS

(d) it

An embryo can be defined as

(a) A fertilized egg

(b) The later stage of development of an unborn organism
(c) the early developmental stage of an unborn organism
(d) the special cell that take part in sexual reproduction
T U1 ki IR feman < Fehar T

() TH ffaa e

(b) TH 3T Sia & fashm &1 f<qH =’

(c) TH 3T e & I &1 IR =R0
(d) % faerm Fifeer St 99 g1 o 90 o 2

OR (3@ )

Which of the following organisms reproduces through
the formation of a new individual from a small

protuberance, arising on the parent body?
(a) Hydra
(b) Amoeba
(c) Spirogyra
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10.

(d) Plasmodium

frefafed & @ ®F @ Sid geRiR W SO BH a9 Th S 9@
I W A U TS U S T TS il 77

(a) T[S

(b) afHtaT

(c) TSR

(d) <eHERSTH

The  structure, present in a cell and  responsible

for the determination of the sex of a baby, is

(a) Cytoplasm
(b) Cell membrane
(c) Nucleus

(d) Chromosomes

ISR T R 39 @ &1 AW 9dzd S 9=d & AT w1 uRer s
2l

(a) HIRTH 5=

(OBEANEIRE ]

() ETEeCh

(d) TorgAt

For question number 11 and 12, two statements are given - one labeled
Assertion (A) and the other labeled Reason (R). Select the correct answer

to these questions from the codes (i), (ii), (iii), (iv) as given below.
i) Both A and R are true and R is correct explanation of the assertion.

ii) Both A and R are true but R is not the correct explanation of the

assertion.
iii) A is true but R is false.

iv) A is false but R is true.

T G 11 3R 12 § | FeH i T - § uF ‘erfeed’ (A) aen
TEI HRU (R) Bl 3 9o o Sal 2F o fodl 378 9 voisk o i T wie
(i), (i), (iii) @ (iv) " @ 37Ul 3faq e 1 TS HE 21 5 HiSl
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11.

12.

13.

w1 faege forawor = fean o 21

i) A 3R R I I T R R @ ™ sifqrem &1 @& faemom 2

(i) A 3R R IH Ik T ofehd R &I T sifqmem &1 W& faeron &) 2
(iiiy A TE T AfFA R TTerd T

(iv) A Teld € dfehd R T 2

Assertion : Thermosetting plastics can not be deformed easily
onheating.
Reason :  The non-deformable nature of thermosetting plastics

is due to their being bad conductors of heat and

electricity.

AFhed  : HEL IREHl S T e e 9 fasd 72 R ST wehd
2l

HT : S R fastell & <R Haes eF & HRO oHITERT H
gepfd T forpfaes 2

Assertion : The voice of a child generally has a lower pitch than that
of an adult.

Reason : As one goes through puberty, the larynx becomes
bigger and the vocal chords get lengthened as well as

thickened.

SR WHURUAA Tk oo &l e Teh 9%k i & &l gordl |
%0 frg &1 et 2

HT ;. SW-SE HIE FAmeEel ¥ SRdl €, df TREs el gl Sl €
IR T dH 1 R SAfueh ofan SR eAfues Hier Bl S
2l

We all know that the different well known effects of forces come into
play as a result of the mutual interaction of two entities. The manifold
effects of forces include a change in the speed of the objects on which the
force acts. It turns out that the energy associated with a moving object,
goes up by a factor of four, when its speed doubles, it goes up by a factor
of nine when the speed goes up by a factor of three and when it goes up
by a factor of sixteen the speed goes up by a factor of four.

A force, acting on a surface also exerts a pressure on it and this
[153]
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pressure is dependent on the area over which the force acts
perpendicularly also there is one special kind of force which,

in general always tends to slow down a moving object.
(a) Give one example of a situation in which the force acting on a body
slows down a moving object without having any direct contact with that

body.

(b) By what factor will the energy of a moving object go up if its speed

increases by a factor of 5?

(c) A given force ‘F’ is acting parallel to a long plane surface of area “A’.

How much pressure does this force exert on this plane surface?

(d) Name the force that in general always tends to slow down a
moving object and give one example of its slowing down effect.
B o ® T oot qen sEe fafv= gl @ s Tl < awget g
TR I IR JAfad FE & FHRO S | 9 B G e 7 Tk ge
e SEH G A3 I A § IRed o B | AfG B ool TR o
T Rl S R A R Al SH o ! TG W HrEfed Sl =R AT 9 St
2 1 T YR Tfd § T g a%g 1 S A A 9@ Sdt © aen T o
IR T ghg afeg T IS 16 A ST 3@ 2 7H A@ ot val € f fRd v
W T R T A 39 Hdg W A STl © R I8 T@d 36 Hae
W @ A a¢ q HaE ® AAmd W R e € e R veR

Tl Tl T SRS i T Rl WHE: HH I HI =l Il B

(a) Trdl T wE feufa =1 3w <ifsE fSed oeg @ fo wve o
@1 o SHH! Tkl HH H Il B

(b) afg felt ovq w1 fa =1 99 T @1 o S @ TRt S datt
fohae T 9g SRATT?
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14.

(c) A IS o1 a%] i W8 W 3T THARR o7 @1 8 d 36 ol g

39 Hag W foha @@ a?
(d) S o %1 AW Ao S oegelt ®1 i B wHEd: R 3§
39 &% 39 T Hl KT K G 99 F Th IS8 fafed|?

Indian households are now increasingly using natural gas as their
preferred fuel because of its easier availability. Thanks to the fall in
global gas prices, India’s domestic natural gas prices are likely to get
nearly halved. This is expected to benefit city gas distributors as well
as domestic consumers. According to Shell, LNG Outlook 2020 reports,
global gas prices became lower in 2019 and that has resulted in a growth
in LNG demand all over South Asia.

(a) Name two places in India, where gas fields have been discovered.

(b) Give two examples of cleaner fuels other than natural gas.

(c) Define the unit used to map the efficiency of a fuel.

(d) Natural gas is considered as an ideal fuel. List two means in support of

this statement.

IR ¥R 3T Yhfash TH i 30 ] T6F & €9 H SAfaHIfe STIT
W ¥ | SEh! YlaTsTeh SUCTedl 36 SYANT o1 Ueh §&d %R0l € fava # 79
% I H o W R % FRO ARG H off ] Whfaw T ® W G a0
B ST ! HEAl € | 3HE T T faaes qun sie] SusieRn <l eneaa
B | viiet e T LNG T 1 2020 % forg o 7 Rl & erEr o
2019 H fova R H 719 & W F9 g E | TH 99 WEY IR it wirEm
¥ LNG @ =t 91 o 9fg g8 21

() 9Ra § 39 & T & 9 fafed sel e 1 T 2

(@) Ypfas @ & faiea el < w=s Sl & T fafed)

(77) 39 $HE i aR fafed fSae ST fedt S99+t Srissed A
% &9 ° fohar S R
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15.

16.

17.

(%) Ypider 19 1 Teh AEY-SoH WAl Sl 81 39 6 & a0 o i
3wl Tt
SECTION-B (®T - &)

Give reason -
2+1=3

(a) Porter’s generally place a round piece of cloth on their heads when they
carry heavy loads.
(b) We are able to sip juice through a straw.

h 0T ddlgl—

(31) 9% a9 &l I8 & fAU Hell THRG: FIS & he i MHR |
e W fR W @ o 2

() &H TH T I HeEd ¥ S 9 o T

State three main factors on which the force of fluid friction depends. 3

WS TN i FATId L a6l 09 & RS adrgd|

Name the part of the human eye that - 1+1+1=3

(@) imparts characteristic colour to the eye.
(b) holds the eye lens at its place.
(c) acts as a screen on which the images get formed.

AT Y 3@ o IH 9N HT AW FARY, S

(a) i@ 1 ST a9 1 YeH Il 2

(b) 3@ & g H fer W 2|

(b) @ & 39 0 F HE ¢ 9 W yfafda o=@ 2

OR ( 37dr)
Rohan’s grandfather uses his spectacles to read the newspaper clearly.
(a) Name the defect Rohan’s grandfather is suffering from.

(b) Write any one cause of this defect.
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18.

19.

(c) How can this defect be corrected ?

e & ST S @R UG & ford 3 =9H 1 WA i €
(@) & & TR S I @ H HA GO L

(b) ¥ T H1 KR ThH FRO fAfee?

(©) T@ I F fHE TR R A <1 gwar 22

(a) Define the term ‘frequency” of sound.

b) Mention its S.I. unit.

c) State the relation between frequency and time period.

(
(
(a) =f &t ‘erafa’ w1 R iR
(
(

b) ‘eTgfa’ FISI THE Fad|

o) ‘eTgfd’ wd ‘uwa W' A gay dasdl
Give reasons for the following :-

i) Graphite rods are used in batteries.

ii) Gold is used for high precision contacts in computers.

iif) Aluminium is used to make foil for packaging medicines.

frefafed & wror JadEa-

(i) THES H B 9 H ST HI W 2

(i) HHR § 39 URQEUAT & Goh! & foau 9 1 S fRar S )

(iii) ageH kT Ui H wegHifEm w1 U= F W@ fRe S )

OR ( 3¥ar)

Complete the following table :

Alloy Composition Used for making
1. (i) (ii) under sea vessel
2. (iii) Iron + Carbon (iv)
3. Alnico (v) (vi)

= § T dfcrR w9
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s g Tl o o forq W femen St @
g N ) RO (12 T % e I 9l e

XN 111 JS TRT + e (177 [

3. TRl () - (7

20. a. Define the term “‘Destructive distillation’.

21.

22.

b. Name the three products formed by destructive distillation of coal.
c. Give the composition of water gas.

(a) ‘formerehT ee’ ¥R 1 aRefia it

(b) FFE & foARIRR e g/ Tfed T4 IRl & M ded|

() A T =1 HTEAT s |

Give reason :

i) Terylene is used for making sails for boats.

i) Acrylic fibres are used for making blankets.

iii) The inertness of plastics is a nuisance for environment.

FROT A

(a) e &1 WANT A6 1 ool oA o TR S 2

(b) ThifeTeh T 1 STER wHA TH H foHan S 2l

(c) iz i Sedl, Ypfd (SMERT) & fau eif R (aen) 2|

Label the parts (a) and (b) in the given diagram of plant cell and state

their respective function.

ey IR & fou U o3 o 9 (a) dun 9w (b) w ddd st 3R

3T A ot Tz
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23.

Alternative question for visually challenged

Write the function of the following cell organelles.
(a) Mitochondria

(b) Ribosomes

(c) Endoplasmic reticulum

=fe gt forenfei & foru Sfeus e -

() e

(i) TEEE

(iii) 3T=<1: Ut Sfferent|

OR ( 319q@r)

Complete the following paragraph -

Allliving cells are bound by a membrane called the (a)

It surrounds its inner gel like material called (b) ,
which consists of (c) and nucleus. The
nucleus has a thread like network called (d)

which condenses to form (e) , responsible for the
(f)

frefafed sgesg & T SifsE -
gft Shfed FIfTRT T fooeh @ afmgy B €, 1 @) e,

T S 1 Tk Sell S 97 Bl SR B T (b)iiiiinn FEd & S

L2 (S) R IR Hsh T et 99 T Hsh B UM % quE

R I S ) SO wed & S A H TEHL (€) v
.................. CEII I EECI i () RN

While returning from the school, Rahul ate chaat from a road-side 1+Yo+1o+
vendor. When he reached home, he fell sick. Yot

(@) Name the disease, Rahul might be suffering from after having eaten

chaat from a road side vendor.
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24.

25.

(b) Write any four symptoms of the disease, he may be suffering

from.

el 9 died 9Hd, Ugd 4 T Hgdh & [ T 3o ol ¥ = Tl
S 9 R Ugdl, 99 9 AR Hegd L @ ol

(a) 3G W HT A8 TAEC S A H A GH F 9% TgeA Bl & bl
(b) 3T W & & =R &0 fadl, g Tgar Goaar difsq 2|

The batter for making of idlis, containing microorganisms, turns fluffy
and soft if kept overnight. 1+1+1

a) Define the process involved.

b) Which microorganism is responsible for this process ?

c) Give one more application of the above process.

Tl T H1 A, food gersia sufted €, & TaWR @ S ? Al 9%
TR AT @l Sl 2

(a) 3§ "fran & aRwfud wifs=

(b) =& WiHaT A H GaraSid & HRU BT 2

(c) ST Uikl 1 Th IR YA @

SECTION -C (@g - ®T)

(@) (a) What happens when a ray of light passes from - 243

(i) An optically rarer to an optically denser medium ?

(ii) An optically denser to an optically rarer medium?

(b) Where should an object be placed in front of a convex lens to get a
virtual image ? Is the image magnified or diminished with respect to
the object? Draw a ray diagram to justify your answer.

Alternate question for visually challenged students in lieu of Q 25 (b)

(b) Write the relative size and position of the image formed when an object

is placed -
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26.

i) At the focus of a convex lens.
ii) Beyond the 2F point of a convex lens.
iii) In front of a concave lens.
(a) T B S YRR HT TR
(i) UH et Wem @ wh gEe weAw W uiie g el
(i) EoF weTw § fore weaw § wiawe g 2
(b) T gfafars M & o S9a @9 § a%g ol foew feufa & w@n
ST =t ?
Y Yidfora 1 THR 9% & DR Hi ol § 91 AT A1 Bel?
3T I 1 Y fRor oTR@ gr 3erisa|
gfie yaifaa ol & faT w99 25 (3) & WM W Soieus g9
(b) wfafaes =1 Griferss R don feorfq STaEd 9 9% 1 W@ S 8-
() forEl ST@ @9 & HHEE W
(i) 39a @9 & 2F fag 9 91
(i) Twdl sTaad ofg & A
(

a) State three prominent effects of chemical reactions taking place at the

electrodes and within the solution when current is passed through an
ionic solution.
(b) During the process of electrorefining of copper metal, name the

material used as its cathode and the anode.

(a) TR sTo=mm wfFen (Soiaifafad) o soiaeis 3R faoam W wEafes

sifufera & R 8 9 79 Jed 99E fafedl
(b) die = fagd gicawo w1 ufwar o TAe qon weie fra foa aga
& o B 72

OR ( 37gdr)
(@) Name the process in which a given metal is coated with a layer of
another metal with the help of an electric current.
(b) How is this process used to get a steel spoon plated with silver ?

(c) Enlist any two practical application of this process.
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27.

28.

(a) 39 Ufehan o1 94 fafed foed foraamyu =1 ¥e@ 9 T o1g &1 =d
el gl u1g W =gR W 2

(b) 39 IHA H YA Ll & T W A H Wd agH & fau wg
fepan a2

(c) =9 UfRal & forgl 3 SwaRT @i fafem)

A metal ribbon ‘X’ when ignited, burns with a bright white light and
forms a white powder “Y’ . The powder on dissolution in water, forms a

product ‘Z’. This product Z changes the colour of litmus paper.

(i) Identify ‘X", “Y" and “Z’.

ii) What happens when product ‘Z’ is treated with red litmus paper ? Give
reason for the observation.

iii) Write a balanced chemical equation for the formation of ‘Z" from the
reaction of Y’ with water

S T o1 R X ol Ssaferd feran <man 8, a1 98 U wHehqR Yad el
F WY Jdl ¢ AR TH gHE URel 'Y 99l 21 U8 gBhE usel S o
fomfed gl TF o1 IR 17! S B A IR 7 feren| U % 4 b
T @ 2

() X,'Y' W@ 'Z' ® "EAE AR

(i) IR 'Z' H I foeam & WY e SH W 9 g 21 W STl
%1 SN |

(it) O @ WA 'Y HT Uik F 'Z' & TSA B Al GRRAT T Hfad
e FHeRor fafed|

1%2+1
1%2+2

(a) Differentiate between the combustion of phosphorus and the 2+2+1=5

combustion of a fire cracker.
b) Suggest one way to extinguish fire in the following cases :
i) If the clothes of a person were to catch fire.
ii)  If the fire is caused by oil or gas.
c) State one drawback of incomplete combustion..
(@) PHERH & e 3R T & e W AR Far
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(b) Tr=fafea feafal 9 & @i 9o & & fafy gas
() @ fordt =afe & wuel § oW @ S
(ii) 310l <9 ¥ BN dlehl hls Teh I dadl

OR ( 37gar)
(@) i)  “Calorific value defines the efficiency of a fuel” . Justify this
statement.
ii) ~ State any two characteristics of the innermost zone of a candle
flame.
iii)  Fuels, in gaseous state, are considered best. Enlist three reasons in

favour of this statement

() ‘sl ue fadt o $om ) <ern i uRenfyd war 21
Tarzd o @ T wem i Sfaa @& A S Hehar @2
(i) WHST HT ol b A &F HT P < TIPS w waEd|
(iii) ‘T ereen o1l oAl 1 IS gUA AT S )
39 FUA HI Ifadd & 98§ A HRO Gelag i

29. Summarize the sequence of events that lead to the development of a 5

chick from the fertilized egg of a hen.
T i & Fofed o2 9w 95 & fowm ¥ g9 ol geiet o1 Hag |

FitHer foaro fs

30. (a) Explain the following terms - 342
(i) Menopause

(ii) Menarche
(iii) Menstruation:

(b) Write any two aims of “Just say No to Drugs” campaign

(a) frefafed wreal 1 e7ed T HifS)
(i) TSI
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RSN
(i) TR oH
(b) ‘51 @ AT FE| TH MM ® B T I3 faAred

OR ( 319r@m)

(@) Rohan has a bulge in the neck region. He visited a doctor who advised him
to take more of iodine in his diet.

i) Name the disease which Rohan might be suffering from. Also, explain the
reason for Rohan’s disease.

ii) Which endocrine gland is responsible for Rohan’s disease ? State the
function of the hormone released by this gland.

b) “Pituitary gland controls the maturation of the gonads.” Justify this statement.

(@) A & A % &9 T Tk IR 2| 9 TH S & T T 587 3H 310 3R
o oAfur w1 H sTEifed o @1 e @
i 39 T 1AM FaRe, " Ig9 difeq 31 deha 21 3THT HROT F TR
(i) Ued & U1 & fow b o o Teft foeer 22 30 wefl grn et
TEM & & o FaEy
(b) ‘e Teeft S ST et uReear @i FreEfra wdl 217 39 wed &1 gfie st
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SCIENCE AND TECHNOLOGY
(Model Test Paper - II)

MARKING SCHEME & VALUE POINTS

Note :- ANY OTHER RELEVANT ANSWER, NOT GIVEN HEREIN BUT GIVEN
BY THE CANDIDATE SHOULD BE SUITABLY AWARDED.

Marks
S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
SECTION -A

1. | Cataract 1 1
2. | PET - Polyethene tetraphthalate s 1

PVC - Polyvinyl Chloride s

OR

Plastics which have a linear arrangement of mol-

ecules can be deformed easily on heating/can be

remoulded into a new shape. 1

Syrinx 1 1

(c) dispersion of light 1

OR 1

(a) go straight without undergoing any devia-

tion.
5. |(a) angle of incidence is more than angle of 1 1

refraction
6. | Cell Wall 1 1
7. | (a) Mycoplasma 1 1
8. | (b) Earthworm 1 1
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
9. | (c) The early developmental stage of an unborn 1
organism.
OR !
(a) Hydra
10. [ (d) Chromosome 1 1
11. [ (ii) Both Assertion and Reason are true but Rea- 1
son is not the correct explanation of the asser- 1
tion.
12. 1
(iv) Assertion is false but Reason is true. 1
13. 4
(a) A ball thrown up in air 1
(b) 25 times 1
(c) zero 1
(d) Friction, a ball rolled on a rough surface (or
. Vot
any other appropriate example)
14. [ (a) Godavari - Krishna Basin, Mumbai High and 1ot1/p 4
Tripura (any two)
Yo+
(b) Bio Mass, LPG
(c) amount of heat energy, produced on com-
plete burning of one kilogram of a given fuel in 1
pure oxygen.
(d) provides low amount of pollutants/has few-
Yo+

er emissions/leaves no ash particles. (any two)
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
SECTION -B
15. |(a) Round piece of cloth increases the area of Ya 3
contact of the head, with head there by reducing
its pressure on the head. V2
(b) When we drink juice with a straw, air pres- V2
sure inside the straw decreases due to our suck-
; - ; 2+
ing. The air pressure, acting on the surface of
liquid, then becomes greater than the pressure 1,
inside the straw. This forces the juice to move up
inside the straw.
16. [ (i) nature of the fluid 1 3
(ii) shape of moving object 1
(iii) speed of moving object 1
17. | (a) Iris 1 3
(b) Ciliary muscles 1
(c) Retina 1
OR
(a) Hypermetropia 1
(b) focal length of eye lens becoming too large/ 1
the eye ball getting shortened (any one) 1
(c) By using convex lens of suitable focal length.
18. [(a) Frequency- Number of complete vibrations 1 3
per second.
(b) Hertz 1
(c) Frequency =1/ time period 1

[ 167 ]




Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
19. [ (i) Graphite is a good conductor of electricity 1 3
(ii) It is a very good conductor of electricity. 1
(iii) It is malleable. 1
OR
1. (i) duralumin (ii) Aluminium oy
+copper+magnesium+manganese 2T
2. (iii) steel (iv) construction material machine 1 +1/5
parts
3. (v) Aluminium+nickel+cobalt (vi) magnets Y2+
20. |(a) strong heating of coal in absence of air is 1 3
called destructive distillation.
Ya
(b) Coke
Ya
Coal tar
1
Coal Gas &
(c) CO+H, 2
21. |i) It does not absorb water/ It is very strong. 1 3
ii) They have the same warmth as woollen blan- 1
kets.
iii) The inertness has resulted in an increased us- 1

age of plastics, which is non-biodegradable/ dif-
ficult to dispose off.
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
22. | (a) Vacuole Ya 3
(b) Mitochondria Ya
Vacuole - It stores excess of water and waste prod- 1
ucts.
Mitochondria - They are responsible for cellular
respiration/ for generation of energy. 1
For visually challenged students in lieu of Q 22
(a) For cellular respiration/ generation of en- 1
ergy.
(b) Help in protein synthesis. 1
(c) provides channels for transport of materials 1
in the cell.
OR
a) Cell membrane/ plasma membrane Ya
(b) Protoplasm Ya
(c) Cytoplasm Ya
(d) Chromatin Ya
(e) Chromosomes Y2
(f) Inheritance of character 2
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
23. | (a) Food Poisoning 1 3
(b) Vomitting, nausea, severe pain in abdominal | %2 x4=2
region, diarrhea and dehydration.
(any 4 symptoms)
24. | (a) Ananaerobic process through which sugars/ 1 3
carbohydrates are converted into alcohol and
carbon dioxide by microorganisms.
(b) Yeast 1
1

(c) making alcoholic beverages
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
SECTION -C
25. |(a) i. Bends towards the normal/speed of the 1 5
light reduces.
ii. Bends away from the normal/ speed of the
light increases. 1
(b) Position - Between F and O V2
Size - Magnified Ya
2
(*Note : Y2 for correct position of object and im-
age. Y2 for putting the arrows, 1 for ray diagram.
For visually challenged students in lieu of Q 25
(b)
SIZE / POSITION
i. Very much larger than the object/ magnified
- at infinity 1, +1f
ii. smaller than the object - B/w F & 2F 1, 41
iii. Diminshed /smaller - B/w F & O 1 +1f
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
26. |(a) Prominent effects of chemical reactions dur- 5
ing electrolysis are:
i. Metals may get deposited at the electrode surface 1
ii. Gaseous bubbles may get formed near the 1
electrodes.
iii. Change of colour of solution may occur due 1
to dissolution of different ions.
1
(b) Cathode - Pure Copper 1
Anode - Impure copper
OR

. Ya
(a) Electroplating
(b) i. Steel spoon is made cathode. &
ii. A pure silver rod is used as anode. &
iii. Silver nitrate (or any soluble silver salt) solu- &
tion is taken as electrolyte.
iv. Allow a steady current to pass through this 1
electrolyte for 20-30 minutes. Now, carefully
take out the steel spoon from the solution. We
observe that silver from silver nitrate solution,
gets deposited on the steel spoon.
(c) i. To improve/ alter their appearance 1
ii. To provide a protective/ strengthening coat-
ing. 1
iii. To minimize the cost. 1

(any two)
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point

27. |i. X - Magnesium Ya 5

Y- Magnesium oxide Ya

Z- Magnesium Hydroxide Ya

ii. It turns red litmus paper blue because it is ba- Ya

sic in nature. 1

iii. MgO +H,O0 — Mg(OH), )
28. | (a)White phosphorus undergoes spontaneous 1 5

combustion.

A fire cracker undergoes explosive combustion. 1

(b) i. Wrap the person in a thick blanket as 1

quickly as possible.

ii. By using a CO, fire extinguisher. 1

(c) i. Releases carbon monoxide that causes

respiratory problems. 1

ii. A part of unburnt carbon passes into the

atmosphere in the form of soot causing air pol-

lution. (any one)

OR

i. A fuel which produces more heat energy per

kilogram is said to have a higher calorific value. 1

The more the calorific value, the better is the ef-

ficiency of a fuel.

ii. 1. Unburnt wax vapours are present. s

2. It is the coldest part of the flame. 1

iii. 1. Gaseous fuels are supplied in cylinder, or

through pipeline. Hence, their transportation

cost gets lowered. 1
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Marks

S Allotted to
) VALUE POINTS /KEY POINTS each value | Total Marks
No. Point/Key
Point
2. Gaseous fuels release large amount of energy 1
3. Gaseous fuels do not leave behind any ash or 1
solid residue on combustion.
4. They release least amount of harmful gases.
5. They can be easily ignited even with a small
spark.
(Any three)
29. |i. After fertilization, zygote starts dividing and 1 5
moves down the oviduct.
ii. Protective layers get formed around it. 1
iii. The embryo develops inside the egg for 21
days. 1
iv. During incubation period the egg requires a 1
specific(warm) temperature.
v. Finally the egg shell breaks down and the 1
chick comes out.

30.a [i. The menstrual cycle stops when the woman 1 5
reaches the age of 45-50 years. This is termed as
Menopause.

ii. The first menstrual flow, that begins in a girl 1
at puberty, is termed Menarche.
iii. If fertlisation does not occur, the egg disin- 1
tegrates and the lining of blood vessels is shed
off. This process of blood flow is termed as Men-
struation.
i. Educating people about harmful effects of

b |drugs. 1
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Marks

S Allotted to
' VALUE POINTS / KEY POINTS each value | Total Marks
No. Point/Key
Point
ii. Building effective strategies to stay away from 1
drugs.
OR
i. Goitre. This is because enough throxine is not
a | been released by thyroid gland. Votl
ii. Thyroid Gland. Thyroxine regulates the meta-
bolic rate of various body functions. 1yt
b Pituitary secretes hormones, these hormones in- 1
fluence the production of testosterone in boys
and estrogen and progesterone in girls.
These start the rapid maturation of the gonads. 1
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II.

II1.

Iv.

V.

MATHEMATICS

DESIGN
Weightage to learning objectives :
Objective [ Knowledge | Understanding | Application Analysis Skills | Total
Marks 20 20 18 12 10 80
Weightage to form of questions :
Form of Questions | VSA/Objective | SA-1 | SA-II LA Total
No. of Questions 20 6 8 6 40
Marks 20 12 24 24 80

Scheme of Sections :-
20 Questions
6 Questions
8 Questions
6 Questions

Section A
Section B
Section C
Section D

Scheme of options :-
Internal choice in 10 questions

- 2 questions in Section A

- 2 questions in Section B

- 3 questions in Section C

- 3 questions in Section D

Weightage to difficulty level :
(1) Difficult questions
(2) Average questions
(3) Easy questions

1 mark each

2 marks each
3 marks each
4 marks each

16 marks (20%)
48 marks (60%)
16 marks (20%)
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MATHEMATICS
Model Test Paper - I

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1. The question paper consists of four sections :
* Section A consists of 20 questions of 1 mark each.
* Section B consists of 6 questions of 2 marks each.
* Section C consists of 8 questions of 3 marks each.
* Section D consists of 6 questions of 4 marks each.

2. DPlease write the serial number of the question before attempting it.

3. In questions of constructions / graph, the drawing should be neat, clean and exactly
as per the given measurements. Use ruler and compass only.

4. All questions are compulsory. However, internal choices have been given in some
questions.

Wﬁﬁ'ﬂ:
. -9 & 9R ©S T -
o T A 20 YA € T W y&F * 1 I 2
e WS AH 6 U B R @ q8E w2 3 R
e W HH YW € W & ydw & 3 FH €
e TSI H 6 U E T Wy & 4 FH €
2. IW e IRY ® 9 U8d FRN YT & YA-TF & IR HHiE v g
T & U9l H, T W9 9 e g1 afeu, S T S T A & 3TEY €1l shad
Yo qe WHR T FAT R
4. gft yea erfrard ® qenfa o el o enaRe faseu K@ ™ €

SECTION - A (@UE - 37)

Q. No. 1 to 10 are multiple choice questions. Select the correct option.

Y W 1 W 10 T agfashedt g9 ?1 wEt faered g

1. If 140Jx +315 = 1015, then x is equal to 1
If 14043 +315=1015%, T x ST 2—
(@) 15 (b) 225 © 5 (d) 25
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7

2xy

Simplified form of — is

x|y

xjxﬁ % fou Tl mm i
xzx\/y_3

(a) ; 0 © 7 (d) xy

Which of the following quantities vary inversely with respect to each other

(a) Distance travelled and the taxi fare

(b) Speed of car and the time taken

(c) Number of articles and their cost

(d) Distance covered and the time taken

frefefed & @ & @ AET T S & kA R w3
(31) @ T MR Sh w1 TR

(9) R T = R e T

(9) oegeti 1 Ge SR g

(%) 7 it IR feran o T

If a% is the discount percent on marked price x, then discount is:-

g sifehd Goa x W a% H B2 & A, T2 2

@ Zx100 (b) ~x100 (© X1 (d) %’
If x2+xl2=18,then the value ofx—% will be

g x2+xl2=18%?ﬁ x—% T HE B -

(@) 4 (b) -245 (© 245 (d) 3v2

Coefficient of y in the polynomial y* —% is-
TR Y -3 H oy T E -
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10.

W | =

@ -1 (b) 2 © -3 (d)

A point C divides a line segment AB of length 4.5 cm in the ratio 2 : 1, then
the length of AC (in cm) is

T 95 C, 4.5 9. T@E & T WEvE AB &I 2:1 & U | faard
F T, WACH TR (FA H) B

@ 15 (b) 3 (© 2 (d) 3.5

For which of the following figures, diagonals are equal?

o oo

freferfea o o forg emepfa & famol &) overal st 22

(a) Trapezium (HHS) (b) Rhombus (FHIGHS)
(c) Parallelogram (FHIAR IdHYS)  (d) Rectangle (3Td)

A regular octagon has a rotational symmetry of order.

T GH TS 1 YO FH F—

(@) 10 (b) 7 (c) 8 (d) 4

The coordinates of a point at a distance of 4 units from origin and lying on
y-axis are

T fag SifF got fag @ 4 3R A W W T R y-uw W fem ®,
REHIE

@ 44 (b) (4,0) © (©4) (d) (1,4

Fill in the blanks in Q No. 11 to 15 (W. |, 11 ¥ 15 ¥ faa wom wiiw)

11.

12.

Cube root of 275 x 605 is

275 x 605 1 A &

Thedifferencebetweenthecompoundinterestand simpleinterestforacertain
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13.

14.

15.

sum at the same rate % p.a. compounded annually for one year is
el TfeT & forw o9 T 9 & o % fou =kl =6 SR HERT o
T SR, Sk A SR A e g, § |

The sum of the measures of the exterior angles of any polygonis

forelt SEYS & SRl 10N 1 AN BN |

OR ( 3A¥ar)

The measure of each angle of a regular pentagon is

THGEYS % ok iUl HI WY B |

In a parallelogram ABCD, /B = 75°. The measure of ZC is

Tk AR TSt ABCD ® /B =75°%| ®I0T Z/C ! |9 & |

If the order of rotation of a figure showing rotational symmetry is 10, then

its angle of rotation will be

afe weh i wufafa sui ot a1 o %w 10 ®, af sueR guib
0T BT |

Q. No. 16 to 20 are very short answer type questions

W. . 16 ¥ 20 deh 31fq &Y ST AT U9 B

16.

17.

Divide 49 m?* by +7 m
49 m2%! 7 m¥ 9 i)

Find the curved surface area of a right circular cylinder circumference of

whose base is 88 cm and the height is 5 cm

T GG doF & SER F ARy 88 WL iR SarE 5 WAL R) doH
T YO SAE A R
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18.

19.

20.

21.

22.

Write the number of faces of a square pyramid.

T iR ffae & el &t Te fafau)

From a well shuffled deck of 52 cards, one card is drawn at random. Find

the probability that the drawn card is a red queen.
T o= e ¥ B W 52 vl kI A9 K TEE H G UH w1 A=A
fehten T Wi [ RIfT R FeRen T T T A 1 H TS

If a dice is thrown once, find the probability of getting a composite number

g€ Teh 91 Teh 9R ekl T @ Ueh 99 & & 3TH hi Wifaehdl I
HifSa|

OR ( 3A¥ar)

Find the range of the following data
fRu U sfihel w1 URER J@ SIS

65,91, 38, 24,47, 54

SECTION -B (@Ug - &)

Find the smallest number by which 4374 must be divided so that the

quotient is a perfect cube?

9T Bl ¥ Bl A TA HIIC SHH 4374 1 9N 4 W ANEA Th 00
9 59 W)

OR ( 319r@r)
Evaluate {52 +(8)5 }3

(A 1A RITSIT)

Find the value of x, if x* = (100)~* x 100

[181]



23.

24.

25.

26.

IfE x3 = (100)*x 100 €, @ x 1 HH A HifeTQ)

At what rate percent per annum will ¥ 400 amount to X 441 in 1 year when

interest is compounded half yearly?

form =e W T 400 T9F F TR TH 9 H 441 T B SGH, Tl
= rdfaies S B 872

OR ( 3A¥ar)

In a factory the production of motor bikes was 40,000 in a particular year,
which decreases to 32,400 in next two year. Find the rate of depreciation per

annum, if it was uniform during the last two years.

T fAfy=a a9 § U wREH | A 98 1 SR 40,000 o1 Sifw ST
T H SR 32,400 B TN A e B < A a9 H Uk THE Wl
2 q it <X yfasa 3@ wifsu)

xX+2  x
X+5 x+6

Solve for x :

xX+2 X
x$ﬁ%qga 'iu:x+5_x+6

The length of one side of a parallelogram is % times the length of its

adjacent side. If perimeter of the parallelogram is 20 cm, find the sides of

the parallelogram.

Wa@ﬁaﬁwwaﬁmaﬁaﬁwwﬁmwéwél
e gaia =gy %1 g 20 Q. 2, 9 G TS w1 e T w i)

Plot the points A (4, 5), B(7, 5), C(6, 3) and D(3, 3) on the same graph paper.

fag A (4,5), B(7, 5), C(6,3) 3R D(3,3) &l 3Teid R Afhd whifem)
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Alternative question for visually challenged students in lieu of Q. No. 26

. W 26 & WM W ghe arfua faenfda & fau derfeas wom

Evaluate 98 x 102 using a suitable identity.

Ifeq afHeRT T GIN Hleh 98 x 102 T HH A

SECTION-C (@Us - ¥)

27. Evaluate (A Id <hifSIT)

4x(0.81) 72 %[ (0.064)" + (0.0625)%4 |

OR ( 319r@)

Find the value of x, if 5* + 51 = 750
Il 5+ 5+1= 7508, @ x 1 HE TG HIfSU

28. A contractor with a work force of 420 men can complete construction of

a building in 9 months. Due to request by the owners he was asked to

complete the job in seven months. How many extra men he must employ

to complete the job?

Teh ShaR 420 AEHAT &I S &HaT & Y Teh ARG i 9 HEHl § o
Tkl T Aferh o e R 3¥ 98 7 WAl § QU &I €1 HEd B QW HH

& foru 38 fored IR etfues st o ae?

29. Ankit sold two jeans for I 990 each. On one he gains 10% and on the other

he lost 10%. Find his gain or loss% in the whole transaction.

sffepd < S, s T 990 W Sl 1 UH W IH 10% 1 A9 3R T

W IH 10% I B B R TH-ST W AT A S Ufaed Jd hife)

OR (3@ )

The marked price of a double bed is ¥ 9575. A shopkeeper allows a discount

[ 183 ]



30.

31.

32.

of 12% and still gains 10%. Find the cost price of the double bed.
T T S H1 3R Tod 39575 T T SHFSK HI, 12% I G I W
ff 10% 1 A9 B T SIA 9 HT HA Tod G HI

Factorise : TUFES hifTT
4x* - 12xy + 9y* - 25

The length of a rectangle exceeds its breadth by 4 cm. If length and breadth
are increased by 7 cm and 3 cm respectively, then the area of the new
rectangle will be 81 cm? more than that of the given rectangle. Find the

length and breadth of the given rectangle.

T I 1 oEE THH! dieE 9 4 9L e ) Al sEehl o iR
e i HAY: 7 Q. R 3 WAL SQE W, qf o g AEd 1 ah
§ T omad @ 81 ot WAL siferer B < T STEd Y o iR <Her F
EAIEI

Inthe givenfigurelines, ! //m /nandp //q.1f £1=85° find thevalueofx, yandz.

T A T, 1) Jn S p g A £1=85°F, A x, y 3 z A HiferQ)

fe 7

1 QﬂO)

[

p A

S

OR ( 31<@r)
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33.

34.

50°

In the given figure DE || BC. If ZADF = 130° and ZC = 50°, then find
(i) ZADE (i) ZABC (iii) «DEC

Give reasons.

& T aeRfd |, DE || BC. ZADF = 130° 31X £C = 50°, @l =1 ehiferg)
(i) ZADE (i) £ABC (iii) «DEC

0T Jdiky|

Find the length of the side of a rhombus whose diagonals are of lengths 12

cm and 16 cm.

T TGS 1 ST 1 g 1 hifee, fSoe fashon & daEar 12 9
3R 16 9.,

A cylinder of curved surface area 1152 m?* is formed from a rectangular

metallic sheet. Find the dimensions of the rectangular sheet if its length is
double of its breadth.

Y1 ! Teh SAIAHR A ¥ T dod g 9 g3 w1152 o
o1, &, SHET T |1 SR w6 w1 faund | wifee A = a6t orerg

3ITH! =gk W AT 2
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35.

36.

37.

38.

SECTION-D (@Ug - §)

Find the smallest square number divisible by each of the following numbers
8,9 and 10.
IE Bl W B A WA A FIG, SR FAF T 8, 9 I 10 § AW

gl S|

The difference between the compound interest and simple interest on a
certain sum for 2 years at 6% p.a. compounded annually is I 18. Find the

sum

et fSr & forw 2 oot &1 6% w1 aftih X W =ehglg = IR R
S 1 AT 18 YA 21 URT J1d HITST, Safeh o1l afiier GaAlsd sidl e

Find the value of a if (x + 2) is a factor of 4x* + 2x° - 3x? + 8x + 5a

a <R | T ShITST IS (x + 2) TEUL 4ot + 2x° - 3x2 + 8x + 50 FX Teh UGS
2l

OR ( 31<r@r)

Divide - x* + 6x° - 3 - 10x by (2x - 3) and find the quotient and remainder.
Also check your answer.

~ 2+ 623 -3 -10x %l (2x - 3) W 9N IHL WITheA SR Ul HA@ o
I H FeAfad o wifsw)

Construct a quadrilateral MNOP in which MN=4cm, ON=5cm,
OP=45cm, /N = 60° and O = 135°.

Teh a_s[ﬁa MNOP & & hifeg S99 MN=4cm, ON=5cm,
OP=45cm, /N = 60° 3 /O = 135°.

Alternative question for visually challenged students in lieu of Q. No. 38

UH. 38 WM W e arfaa faenfdel & fau Jefeas wom

Show that if opposite sides of a quadrilateral are equal, then it is a
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39.

40.

parallelogram.
Iz T TgdS F TEE TS 9O ¥, @ SRI0E fF o% T GHia aqus
2l

The thickness of a hollow metallic cylinder is 2 cm. It is 42 cm long and

its inner radius is 10 cm. Find the volume of metal required to make the

cylinder, assuming it is open at both the ends.

T e g & oo i AR 2 AL {1 gHET o 42 S SR gHet
et B 10 Sl B1 S i oFH H WA Bt T O1g 1 e A
ifer, Sifer <A1 fRl @ e gam 21

OR ( 31@r)

The length, breadth and height of a room are 4.5 m, 3m and 350 cm
respectively. Find the expenditure of plastering the walls and the ceiling of

the room at the rate of X 8 per square metre.

TH FH H) e, el SR A HHW: 4.5 "L, 3 "L 3R 350 WAL 2
FH FH B AR AN W § TG YfG o1 Hiew F W Y @I FH @

A il

The following data gives the distribution of weights (in kg) of 52 persons.

= affere 52 =afeaal & wR (fpetum o) & faawor =i gwid g—
Weight
(inkg)

HR
(framm o)
No of persons
(==t &t | 12 9 11 10 6 4
HeA)

60-65|65-70|70-75|75-80|80-85|85-90
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Draw a histogram for the above data:
TR U MU Awel & fou wh maa fo sAEu
Alternative question for visually challenged students in lieu of Q. No. 40.

UH, 40 WM W ghe aifya faenfdel & fau demfeas aom

A steamer goes down stream from one part to another in 9 hrs. It covers the same
distance up steam in 10 hrs. If the speed of the stream is 1 km/hr. Find the speed of

the steamer in still water.

Th ER I F 9Ed & ehdl Th &50E ¥ @ §SUMe a9 ¥ H qgwar B
T T I8 I % e % Widhel 10 S H a9 s &1 A I % werd i w1
fr . ufg s & o I &1 S8t uFl § =1l 9 shifew

OR ( 37<r@r)

The following table shows the expenditure in percentage incurred on the construction

of a house in a city.

e dqifcterT Tk ¥R § Uk R & o § fobu U e (ufaea §) o Sl @ —

Items Bricks | Cement Steel |Labour M;Sef)‘i?'
(ITEQ) (32) (HH) (=) | (gm) o
Expenditure
(in %) 15 20 10 25 30
(Td % )

Draw a pie chart for the above data.

IR f&u T sAiwsl & fau = g fo ammu
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Alternative question for visually challenged students in lieu of Q. No. 40.

UH. 40 WM W e arfa faenfdet & fag Jefeas wv

1 17 1
If x+—=— find the value of (x——).
x 4 X

RIS H%% g, @@ (x—%) FT T T HI
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MATHEMATICS

Model Test Paper - I
Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgﬁ( g
Point/Key
Points
SECTION - A (@US - 37)
Lo | (d)25 1 1
X
2 a) — 1 1
@:
3. (b) speed of car and time taken 1 1
4. | (o) gxloo 1 1
5 (a)4 1 1
1
6. (C) - g 1 1
7. | ()3 1 1
8. (d) Rectangle 1 1
9 (c)8 1 1
10. | (c) (0, 4) 1 1
11. |55 1 1
12. | O (zero) 1 1
13. | 360° or 108° 1 1
14. | 105° 1 1
15. | 36° 1 1
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Marks

Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Points
7x7 m’
16. Fm 77 m 1 1
17. [ 2nrxh=88x5 Ya
440 cm? Ya 1
18. |5 1 1
s
19. | % 1 1
1
20. 3 or 67 1 1
SECTION - B
7. 2 | 4374
3 | 2187
31 729
3| 243
31| 81 1Y2
3| 27
319
313
1
So, 6 is the smallest number by which 4374 must be Ya
divided to make it a perfect cube.
OR
(25 +2)°
(27)> =27 x 27 x 27 =19683 2
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Points
22. | x*=(100)> 1
= (100%)s = (100)" = — 2
x = (1007)s = (100) = 100 1
23. [ A=%441,P=%400, T=1year
Let rate be R% semi annually = 2 half years Ya
2
441 =400 (14
100
441 _ R\ 21\ _ R Y X
400 (“ﬁ) (20) _(1+100) 2
R _ 2L
100 20
R =5% half yearly Ya
Rate/annum =10% p.a. Ya 2
OR
32400 = 40000 ( 100) Y2
32400 ’
40000 ( 100) &
9\’ R Y
(&) = (-1%)
9 _, R
0 100 &
R _1
100 10
R=10% p.a Ya
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Marks

S. Allotted to
. VALUE POINTS / KEY POINTS = epltec to I\T[giils
Point/Key
Points
24, | (x+2)(x+6)=x(x+D5)
x2+6x+2x+12=x>+b5x
22+ 8x +12 = ¥ + bx 1
8 -bx=-12
3x=-12
=12 -y 1 2
3
25. | Let 1st side be x cm
2nd side = %x 1
=x+ 2x +x+ 2x =20
3 3
:%+%=m
10x _
= T = 20
=x= 20x3 6 cm 1
10
So, sides are 6 cm, 4 cm, 6 cm, 4 cm P! 2
26. | Correct Plotting of point A, B, C, D Lox4 2
for visually challenged students
98x102 = (100 - 2) (100 + 2) a
= (100)*- (2)* P!
= 10000 - 4 = 9996 1 2
-1
27. | 4x097 2 (75, 054 1
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Points
10 ( 4 5 )
4X —X|—+—
9 10 10 1
ax 0,9 =4 1 3
9 10
OR
5* _
5 + = = 750
' 1) _
= 5 (1+3) = 750 1
6
=5"x = =750
5
_ 5
= 5r=750 x E 1
=5=125x5
= b5r=5¢4
=>x=4
28.
No. of men 420 ?
Months 9 7
Let the no. of men required to complete work in 7- Ya
-months be x. As it is inverse variation P!
So, xx7=420x%x9 2
x= 2209 - 540 1
Extra men = 540 - 420 = 120 ) 3
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Marks

S. Allotted to
N VALUE POINTS / KEY POINTS sl lottec to Jlg:ell(ls
Point/Key
Points
100
29. | C.P.of 1st Jeans = 0010 % 990
= 100, 990 =z 900 1
110
100
C.P. of 2nd Jeans = 75577 %7
= 100, 999 =2 1100 Y2
90
Total C.P. =900 + 1100 =% 2000 2
Total S.P. =990 + 990 =% 1980 2
Loss = 2000 - 1980 =% 20 2
o — 20 —_10
Loss % = 2000 ¥ 100=1% 2 3
OR
100-12
S.P =~ X 9975
_ 88
= 00 9575
= ¥ 8426 1%
100
CP = Joo;10 > 8426
100
= 100 X 8426
= %7660 1%
30. | 4x?-12xy+9y>-25
= (2x)2-2x2x x 3y + (3y)* - 25 1
= (2x-3y)*- (5)* 1
= (2x -3y +5)(2x - 3y - 5) 1 3
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlgfll(ls
Point/Key
Points
31. | Let the breadth be x cm
Length = (x+4)cm Ya
Given Area = x?+ 4x X 2
New length = (x +7)cm
gth =(x+7) =

New breadth = (x + 3)cm
New Area = (x+7)(x + 3)

=x2+ 10x + 21 2
New Area = given area + 81 cm?
2+ 10x + 21 = ¥+ 4x + 81

10x - 4x = 81-21
6x = 60
60
So, breadth = 10 cm
Length=10+4 =14 cm Ya 3
32. | Figure
5% " m
rx_+)5 /\
Z ( v, N Ib
X 7
| > (Y9
¥,
=3

x +15° = /1 (Interior-alternate angles)
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
“rotnts”
x +15° = 85°
x=70° 1
£1 +y + 20° = 180° (co-interior angles)
85° + y + 20° = 180°
y="75° 1
£2 = x +15° (Vertically opp-angles)
£2 = 85°
z + £2 = 180° (Co-interior angles)
z + 85° =180°
z=95° 1 3
OR
32. | (i) £ADF + ZADE = 180° (Linear pair)
130° + ZADE = 180°
#ADE = 180° - 130°
So, ZADE = 50° 1
(if) 2ADE = ZABC (Corresponding angles)
So, ZABC = 50° 1
(iii) «DEC + ZECB =180° (Co-interior angles)
#DEC + 50° = 180°
«DEC = 180° - 50°
«DEC = 130° 1
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS o A Jlg:ell(ls
Point/Key
Points
33.
B o
C
ABCD is a rhombus and diagonals of rhombus bisect
each other at right angle.
16
So, AO=OC=?=8cm
12

BO =0D = 5= 6 cm 1
In AAOD, ZAOD = 90°
So, by Pythagoras theorem
= AO? + OD? = AD?
= 8+ 6% = AD?
= 64 + 36 = AD? 1
= 100 = AD?
= AO=10cm Ya
As all the sides of rhombus are equal.
So, AB=BC=CD=AD=10cm Ya 3
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Marks

13('). VALUE POINTS / KEY POINTS %%Eg’é gfg ﬁg:ils
Points
34. | Curved surface area = Area of rectangle
So, Area of rectangle = 1152 m? P!
Let the breadth be x m
Length = 2x m Ya
Area of rectangle =1 x b
So, 2x x x =1152 2
= 2x2=1152
= v= 12 =576
= x2 =576
= x=24m 1
So, breadth = 24 m, length =48 m P! 3
35. 21 8,910
21495
21295
31195 11
311,35
511,15
1,1,1
LCM of 8,9, 10 is 360 Ya
Prime factors of 360 =2 x 2 xQ)x 3 x 3 x(5)
As 2 and 5 are not forming pairs, so 360 must be Ya
multiplied by 2 x 5 = 10 to make it a perfect square. 1

So, square number obtained
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VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Points

Total
Marks

36.

=360 x 10
= 3600

Let the sum beX P
R=6% p.a.
T =2 years

S.I.=PXRXT
100

_ Px6x2 _ 3P

T 100 %

Compound Interest

A=P (1)

=P (1+%)2

53
= P(a)
_ 2809 p
2500
ClL.=A-P
2809 1 _
2500
_ 2809 P — 2500 P
2500
309 P

2500
CL-S1.=%18

P
WP 3P _g g
2500 25

)

P

P!
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Marks

S. Allotted to
No. VALUE POINTS / KEY POINTS each value I\TIg:El‘(ls
Point/Key
Points
309 P -300P =718
2500
% =218
P!
18 x 2500
P=—3
P =% 5000 P! 4
37. 4x3 - 6x2+ 9x - 10 1
x+2 ) dxt + 2x% - 3x2 + 8x + 5a
Xt + 8x3
- - P
— 6x7 = 3x2+ 8x + ba
- 6% - 1242
+ + 1
9xt + 8x + 5a
X2 + 18x
- - P!
- 104 + 5a
- 10x - 20
+' o+ 1
5a + 20
As (x + 2) is a factor of
4Ax* +2x3 - 3x2+8x+ba, So,52+20=0
5a=-20
o= 220
5
a=-4 1 4
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁgiils
“rotnts”
OR
3 +4x+1 1ax1
2x—3) 63f - x* — 10x - 3
?Z; - 9x?
_ + 1
8xf -10x -3
%Zi -12x
- + 1
2y —
H]
-+ 2
0
Check :
(2x-3)Bx*+4x+1)+0
6x® +8x? + 2x - 9x? - 12x -3
6x° - x2-10x -3 1 4
38. | Drawing a line segment ON =5 cm. Ya
Constructing an angle of 60° at N. Ya
Constructing an angle of 135° at O. 1
Find point P Ya
Find point M Ya
Joining M and P 2
Correct labelling Ya 4
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Points
38. | For Visually challenged students:
Figure
D C
A B
Given : ABCD is a quadrilateral
AB=CD, BC= AD
To prove : ABCD is a parallelogram
Construction : Join A to C 1
Proof : In AACD and ACAB
1. AD = CB (Given)
2. AC = CA (Common side)
3. CD = AB (Given)
So, AACD = ACAB (by SSS) 2
~Z1=2/2and 23 = 24 (C.P.C.T)
As alternate angles are equal. So, sides will be parallel
=AB || CDand AD | | BC 1

= ABCD is a parallelogram as both pairs of opposite

sides are parallel.
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Marks

13('). VALUE POINTS / KEY POINTS %%Egé gfg ﬁg:ils
Points
39. [ Radius (inner) =10 cm
Thickness =2 cm
Radius (outer) =10+ 2 =12 cm Ya
height = 42 cm
Volume of Metal required :
= n(R*- ) Y2
= 2 (122~ 107 x 42 1
= 2 x (144 - 100) x 42
= Z x4 x4 1
= 5808 cm? 1 4
OR
Length = 4.5 cm, breadth = 3 m, height =350 cm =3.5m P!
Area to be plastered
= Area of 4 walls + area of ceiling
=2(+b) xh+1xb 1
=2(45+3)x35+45x%3
=525+135 1
= 66 m? Y2
Cost =% 8 x 66 =3 528 1
40. | For each correct rectangular bar Y2 % 6
For choosing appropriate scale Ya
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Marks

1\?' VALUE POINTS / KEY POINTS Allotted to ﬁOtil
* Point/Key arkes
Points
Correct Labelling Ya
For Visually Challenged Students
Let speed of steamer in still water be x km/h
Speed downstream = (x + 1) km/hr
Speed up stream = (x - 1) km/hr
Time downstream =9 hr
Time upstream = 10 hr 1
Distance upstream = Distance downstream
x-1)x10=(x+1)x9 1
(
10x-10=9x +9
10x-9x=9+10
x=19
-. speed in still water = 19 km/hr 2 4
40.
Item Expenditure | Fraction | Sector Angle
Bricks 15% 1B _31 3 o = 54°
10020 | 5% 7>
Cement 20% B 790
100 5 5
1 o
Steel 10% 10 _ 1 | 753607 =36°
100 10
Labour 25% é = 1 1 x 360° = 9(°
100 4 4
Miscellaneous 30% 0 _3 |3 ° — 10K° 2
100 10 | 70> =108
Construction of pie chart 2 4
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgrell( g
Point/Key
Points
40. | For Visually Challenged students
n_wv
-
Squaring both sides
1\2 _(17)
(x+;) = (4) 1/2
1 289
vz H2=og
1 289
24 — = =227
x*+ - 16 2 1
24 iz _ 289-32
16
1 257 .
ST 9 1
2
X — 1 = xZ + i _ 2 1/2
1V 257 <
(X—;) =16 —2 [ from (i)]
2
(x_l) _ 257-32 1,
x 16
2
(x—l) = &
x 16
1_15 )
X = ; - 4 /2
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MATHEMATICS
Model Test Paper - 11

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1. The question paper consists of four sections :
* Section A consists of 20 questions of 1 mark each.
* Section B consists of 6 questions of 2 marks each.
* Section C consists of 8 questions of 3 marks each.
* Section D consists of 6 questions of 4 marks each.

2. DPlease write the serial number of the question before attempting it.

3. In questions of constructions / graph, the drawing should be neat, clean and exactly
as per the given measurements. Use ruler and compass only.

4. All questions are compulsory. However, internal choices have been given in some
questions.

Wﬁﬁm:
. -9 & 9R ©S T -
o T A 20 YA € T W y&F * 1 I 2
e WS AH 6 U B R @ q8E w2 3 R
e W HH YW € W & ydw & 3 FH €
e TSI H 6 U E T Wy & 4 FH €
2. IW e IRY ® 9 U8d FRN YT & YA-TF & IR HHiE v g
T & U9l H, T W9 9 e g1 afeu, S T S T A & 3TEY €1l shad
Yo qe WHR T FAT R
4. gft yea erfrard ® qenfa o el o enaRe faseu K@ ™ €

SECTION - A (W@Ug - 37)

Q. No. 1 to 10 are multiple choice questions. Select the correct option.

Y W 1 W 10 T agfashedt g9 ?1 wEt faered g

1. If 2 =1.414, the value of 32 is 1

Iqfe J2 =1.414%, @ 32 1 AE 2
(@) 4.656 (b) 5.656 (©) 2.656 (d) 6.656
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If 4* + 4* = 32, then the value of x is equal to
A 4+ 4+=32 B, A xS AF ©—
(@ 3 (b) 2 © 1 (d) 0

p is inversely proportional to square root of g and if p = 6 then g = 4. The

value of qwhenp =4is

p,q@@fiﬂ@gﬂﬂmﬂqﬁ%ﬁ?ﬁp=6%ﬁq=4%|Tﬁ[p=4%?ﬁq

FH HE B—
@ 3 (b) 9 () 4 (d) 6

The marked price of anarticleisI 80 and itis sold atI¥76. Therate of discount s

T oreq ToreRT sifehd e T 80 B SR fahd gea T 76 B WE Wiawd e

(@) 5% (b) 95% () 10% (d) 11%

The square of (3x - 4y) is

(3x - 4y) 1 T B-
(@) 9x*-16y* - 24xy (b) 9x*-16y* + 24xy
(c) 9x*+16y* + 24xy (d) 9x*+16y* - 24xy

The sum of the degrees of polynomials 5y + 3y* - 7 and 3x° (6 + x?) is
TEUT 5y + 312 -7 AR 325 (6 + %) HI TGl HT ANThRA g
(@ 9 (b) 14 () 7 (d) 12

If a point C, lies on the line segment AB of length 6.3 cm, such that CB =3.6
cm, then C divides AB in the ratio

I Tk a5 C, 6.3 . TEE & TF WEvs ABW ™ TR frod 2 &%
CB &I @ 3.6 4. ®, @ fag Ci@mes AB® 5@ ey # oo
T B, 98 §
(@) 23 (b) 3:4 () 25 (d) 1:3
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10.

If the adjacent sides of a a parallelogram are equal then parallelogram is a

Ife Tk IR TGS B GG S U €, @ g =g © Th—

(@) Rectangle (3TId) (b) Trapezium (HHS)
(c) Rhombus (FF=IHS) (d) Square (=)

Which of the following English alphabet shows rotational symmetry?

frrAferfed ofisht & sted ® @ A 1 21er yoiv gafafs = gwiar 22

(@ M (b) C (€ L (d) T

The distance between the points M(0, 3) and N(0, 7) is
fag M(0, 3) 3R N(0,7) & = =1 g 8-

(a) 3 units (3 3H13) (b) 4 units (4 THEE)
(c) 7 units (7 HE) (d) 10 units (10 SHT)

Fill in the blanks in Q No.11t0o 15 (W. G. 11 ¥ 15 ¥ fea T ufiw)

11.

12.

13.

S, 12
4 125 isequalto

/ 12
34— e
! 125 %

A certain sum of money amounts to I 300 in 2 years and I 315 in 3 years.

The rate of interest compounded annually is

Tk T 2 a9 §T 300 3 3 oWl HT 315 @ Sl g oS H L SR
aiftfer Teifed et 7, ©

The sum of the interior angles of a regular pentagon is

Teh GHYEYS & ST 0N T AN ]
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14.

15.

OR ( 31@r)

If two oppoitse angles of a parallelogram are (5x - 5)° and (4x + 5)°, then

value of x is
IfE Th FAIR TGS & @ HI0 (51 - 5)° 3R (4x +5)° €, d x H AA
2l

PQRSis arhombus with /P =60°. The measure of ZQis

% gueEgds PQRS H /P =60°%1 HI0T ZQH! AT &

The fixed point about which an object rotates and exhibits rotational

symmetry is called of rotation.

7 fer fag e = & a5 T W g T oS §, ween @
|

Q No. 16 to 20 are very short answer type questions

T. . 16 | 20 Tk 3ifq oI 3T oI U R

16.

17.

18.

19.

Divide 20 y°® by _?5 v,
20 yo Rl ‘?5y3 Y 9 it

Find the height of a cuboid whose volume is 225 cm® and base area is 25 cm?.

Tk oY FEeRT ST 225 ¥4 Q.. SR STUR &1 &9%d 25 | 9. g,
HI e AG HITST|

A polyhedron has 5 faces and 9 edges. Find its vertices.

T qg FeHh h 5 Hew R 9 FAR T 3T el T Hen 9| i)

From a well shuffled deck of 52 cards, one card is drawn at random. Find

the probability that the card drawn is a red face card.

T =Sl W @ B T 52 Tl kI A A TS W Y TH U A=Al
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20.

21.

22.

THerten TN WifgeRdt i Sifse fof feptell T TR Ue A T R &R
el I B

If a dice is thrown once, find the probability of getting an even prime number.

g€ Tk U1 Teh IR ekl AT, Ol Toh T ORI G & 3T hi UTiIehdl
RGeS

OR ( 3A¥ar)

Find the range of the following data

75, 87,93, 42, 39, 40
XU T sATRel *1 URE T Hife)

75,87,93, 42, 39, 40

SECTION -B (@US - &)

Simplify : ¥ HIfST

1372 x 31458
327

OR ( 319q@r)

Find, if the given statement is true or false.

Y8x27 = Y8 + Y27
T FIfST R o T weH 9 © AW ed-
Bx27 = g + Y27

Find the value of x, so that

(2—1 + 4—1 + 6—1 + 8—1)x = @
576
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23.

24.

25.

26.

x 1 HF Fd HIfST, afg

(2—1 + 4—1 + 6—1 + 8—1)x = @
576

Inwhat time willX 8000 amount to¥9261 at10% p.a. compounded half yearly?

fora w9 9T 8000 kI TRT 10% fa9rd =i dftieh < 9 T 9261 & ST,
Safe A Adarte Garred el 27

OR ( 319r@r)

The population of a town is 1,68,000. If the annual birth rate is 12.7% and
the annual death rate is 7.7 %, then calculate the population of the town after

2 years.

Tk TR I SHEE 1,68,000 71 AR A S0 T 12.7% 3R aifds g
T 7.7% B, q A A6 ® 9% TN H1 SHEESA [Md BT

Solve for 'y'

y% fere &1 =hifSa;

(y_l)_(y_z) =1
3 4

Also, verify your answer

IW hl TeAug it wifsg

Two adjacent angles of a parallelogram are in the ratio 1 : 2. Find all the

angles of parallelogram.

T THR FqYS & STE= R0l W U 1: 2 B iR wqds & gt
10T A B

Plot the points E (2, 0), F(2, 5) and H(7, 0) on a graph paper. Find the

coordinates of a point G so as to complete the square EFGH.
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27.

28.

29.

fag E (2,0), F(2, 5) ¥R H(7,0) %! 3T W <9030 T fag G & Fewiss
@ HifST afg EFGH T o1 2|

Alternative question for visually challenged students in lieu of Q. No. 26

. | 26 & WM W ghe arfua faenfda & fag Serfeas wom

The sum of three consecutive multiples of 8 is 888. Find these multiples.

8 o < HHITG TOS HT AN 888 Bl YOS A HitSIU

SECTION - C (®@Ug - |)

Evaluate (AH 9T EASLEE
(32)° x(59)"° x(722)?
(32)° x (25)/2 x (72)’

OR ( 3A¥ar)

If 551 = 5% =52 x 5%, then find the value of x.
Jfg 551 + 52 =52 x 53 Al x 1 HH G HIfT

There are 100 students in a hostel. Food provision for them is for 20 days.

How long will this provision last if 25 more students join the group?

T BEEME § 100 B9 21 37 faw 20 Al &1 dieq amei 21 9fg 25 s
3R o 9 ©, 9 Aee gl fean R =en?

Vrinda purchased a coat for ¥ 1500 and sold it at a profit of 10%. If the
customer has to pay GST at the rate of 5%, then find the cost price of the coat

for the customer.

g TH e T 1500 § @S © SN 10% & AW WS 21 AR ek 5%
GST @151 &l €, o ST oIt i 1 Hd God 1 ity

OR ( 3@ )
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30.

31.

32.

Ram allows 20% discount on the marked price of a suit and still makes a
profit of 10%. If his gain over the sale of a suit is ¥ 120 then find the marked

price of the suit.

T H TH G & 3Afhd Jod W 20% I B2 3 W FF 10% F1 A9 Bl 2|
IfE g2 H 991 | TR A9 120 €, A G2 1 3ifhd God 1 it

Find the value of x :
x ST HF F1d hifsq)

(Bx +7)*=(3x-7)>+168

Two years ago, Dilip was three times as old as his son and two years hence,
twice his age will be equal to five times that of his son. Find their present
ages.

T o Ued, fEelid &1 Y ST U i S I T e iR | o @R
ITH! Y T YA HI MY HY U A EFAI ITRT TAAE A TG RS

In the given figure lines r is perpendicular to the lines p, 4 and s
if /1 = 65°, find the measure of /2 and /3.

R ailﬁb"ﬁlﬁ, @ r,i'@TSﬁ p,qEFﬁT s I oEad ¢ RIS 41=65°%,?ﬁ /2
SR /3 &I W19 9@ Fif

>




33.

9

-V

In the given figure, ABC is a triangle and AD is an altitude show that
(i) BP[AD

(i) CQ[AD

(iii) BP||CQ

¢ T TRfd §, ABC T s ¥ iR AD T @ 1 <uIfse fam—

(i) BP[AD

(ii) CQ|AD

(i) BP [cQ

The lengths of adjacent sides of a rectangle are in the ratio 3 : 4. If the length
of its diagonal is 10 cm, find the length of sides of the rectangle.

Teh A 1 S STt 1 orealigdl o1 STuTd 3:4 81 af% 3G faemol @i
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34.

35.

36.

37.

o 10 UL B Al SH SFd 1 S i o T it

The ratio of the radius and height of a solid cylinder is 2:3. If its volume is

12936 cm?, find the total surface area of the cylinder.
T 39 e i B SR SHHE B S 2 ¢ 3 81 AR SHR SFA 12936
o U, 2, @ S 1 gyl g el 1 shifery)

SECTION -D (@UE - §)

Three numbers are in the ratio 2:3:5. Find the numbers, if the sum of their
squares is 608.

T e #1 eu 2:3:5 €1 AR TEme & o i A 608 €, A TEAd
EREEAIEI

A certain sum of money is invested at the rate of 10% p.a. when

the interest is compounded annually. If the difference between the

interests of third year and first year is I 1050, find the sum invested.

Tk TRT 10% arftfer <X | e &t T, Sefer s aifie 9aifad 8 2
g TR 3 Tedt a9 & =S 1 AR T 1050 B dl, Ui G wie

Using division show that 3y* + 5 is a factor of
6y° + 15y* + 161° + 4y* + 10y - 35

o fafy 1 T e IR R 312+ 5 9EHR
617 + 15y* + 1612 + 4y2 + 10y - 35 1 UGS |

OR ( 31<r@r)

Divide 2y° + 10y* + 81 + 3y* + 6y + 7 by 21° + 1 and then subtract the quotient

from the remainder.

217+ 1014 + 82 + 3y2 + 6y + 7H 27 + 1 W A AT, TN 9NTHeA ! AR
Y T

[ 216 ]



38.

39.

Construct a quadrilateral IJKL in which IJ = 3cm, JK =4 cm, £ =75°, /] =
90° and ZK =120°.

T =g JKL T @A shifere {599 1) = 3em, JK = 4 cm, £1 = 75°, /] = 90°
3N /K = 120°

Alternative question for visually challenged students in lieu of Q. No. 38

UH. 38 M W e aifua faenfofat & fog derfeus o

If one pair of opposite sides of a quadrilateral are equal and parallel, then

prove that it is a parallelogram.
Ifg Tk FgyS 1 qEg@ qeetl & TH I F1 el WER SR 3R GHiR
g, fag FiT fF 78 T e 9gys 2

The cross-section of a canal of depth 9 m is in the form of a trapezium. If the
width of the top of the canal is 4 m longer than its base and the area of cross-

section is 72 m?, then find the dimensions of top and bottom of the canal .

Teh 9 W Ted Tel 1 ST HIE THed & AR H1 8| € Tel & ST
R &1 e U MUR ¥ 4 KX Afuh 7, IR STIHE H1e 1 &% 72
T B, @ el % U e SR snur @ fawd 3 it

OR ( 31ar)

The length of a cold storage is double its breadth. Its height is 3 metres and

area of its four walls (including doors) is 108 m?. Find its volume.

Teh hics RN H1 oS SHeh! AIgE 9 AT 81 ST 9 3 WX IR =m
AR T TR (STETS Higd) 108 & HieX g1 SERT SFaT A ISy
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40. Draw a histogram for the following data :

frafafead stiwet & g & fau e ema o TR
Class
Interval | 10_15|15-20{20-25|25-30|30-35 | 35-40
A

frequency

30 98 80 58 29 50
(ST

Alternative question for visually challenged students in lieu of Q. No. 40
UH. 40 WM W e arfia faenfdat & fag Jefeas wo

The area of a square plot is 101 4%)0 m?. Find the length of the side of the

plot.

Teh TR T T &TFA 101& afHfier 81 e 1 g F1d e
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The following pie-chart shows the marks scored by Ankur in different

subjects. If he scored 80 marks in mathematics, find the following :
(a) Total marks scored by Ankur in all subjects.

(b) How many more marks were scored by Ankur in Chemistry than in

computer science?

et ga-fom ey g fafe= fawal o wra efehi w1 <wrian ®1 = =% wifora
fawa ® 80 3fF W el 7, A1 Fre A wifee—

(a) 3TRX B0 U 9+ft fowal & | i1

(b) 31X 7 WA o H wrg fogm 9 fohad eifuek sis wr foa?
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MATHEMATICS

Model Test Paper - 11
Maximum Marks : 80
MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgﬁ( g
Point/Key
Point
SECTION - A (@US - 37)

1. | (d) 5.656 1 1
2. | (b)2 1 1
3. 1 (b)9 1 1
4. | (a) 5% 1 1
5. | (d) 9x% + 1612 - 24xy 1 1
6. | (@9 1 1
7. 1 (b)3:4 1 1

(c) Rhombus 1 1
9. | (I 1 1
10.| (b) 4 units 1 1
1. o1l 1 1

5 5
12.1 5% 1 1
13.| 540° or x =10 1 1
14.| £2Q =120° 1 1
15.| Centre of rotation ([0 &%) 1 1

[ 220 ]



Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Point
16.| - 82 1 1
17.| Height = 22_255 =9cm 1 1
18.| Vertices=9+2-5=6 1 1
CE 3
19.| P(red face card) = — or % 1 1
20.| P(an even prime number) = % (OR) 54 1 1
21.| 31372 = 2 x2x7x7x7
Y1458 = 32x3x3x3x3x3x3 Ya
1372 x Y1458 _ Y2Xx2x2x7X7X7x3x3x3x3x3x3 1
Y27 B 3x3x3
=2x7x%x3=42 2 2
OR
LHS = ¥8x27 =2x3=6 2
RHS= 38+327 =2+3=5 2
LHS*RH.S 2
Given statement is false 2
1 1 1 1Y\ 625
2| (34555 = 5 ”
12+6+4+3) _ 625
( 24 ) 576 &
25)" _ (25) 1
(24) (ﬂ) 2
Lx=2 2 2
23.| Principal =¥ 8000

Amount =3 9261
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS each value Jlg:ell(ls
Point/Key
Point
Rate of Interest = 10% p.a.
= 5% per half year Ya
9261 = 8000 (1+72; v
9261 _ (21Y"
8000 (20)
21\’ _ (21
(20) - (?o)
n=3 2
Time = 3 half years or 1% years Ya 2
OR
Present population of town = 1,68,000
Annual Birth Rate =12.7%
Annual Death Rate =7.7%
Net Growth Rate =12.7% - 7.7%
=5% b3
Population of town after 2 years = 1,68,000 (1 + %) s
21 21
=168000 x —~x—=
20" 20 "
= 185220
2
24. 4(y-1)-3(y-2) =1 14

12
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Marks

S. Allotted to
No. VALUE POINTS / KEY POINTS each value I\Fl/;gi‘ils
Point/Key
Point
4y-4-3y+6=12 1
y+2=12
y=10 2
Verification : (10-1)_(10-2) _
3 4
3-2=1
LHS=RH.S 1 2
25.
D C
AL 2%
A B
Let ZA =1x
and /B = 2x %
ZA + /B =180° (Cointerior angles) Ya
Ix +2x =180
3x =180
x =60
ZA=2C=1x60°=60° Y2
/B =2/D =2 x60°=120° Y2 2
26.| Correct plotting of points 12x3=1"2
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Marks

13('). VALUE POINTS / KEY POINTS %%Eg’é gg Total
Point

Coordinates of G are (7.5) Y2 2
Alternative answer for visually challenged
students in lieu of Q. No. 26

26.| Let I consecutive multiple of 8 be x
II multiple =x + 8
I multiple = x + 16 Y2
According to the question
x+x+8+x+16 =888
3x =888 - 24
3x = 864
x= 22 =288 1
. I multiple of 8 = 288
IT multiple of 8 = 288 + 8 = 296
I multiple of 8 = 288 + 16 = 304 Ya

6%

7 3% x5 ix7‘6 1
36 x5 2 x7°6
=346 x 51 x 1 1
=32x5 Y2
=45 Ya 3

OR

512y = 55 1
531 = 55 1
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Marks

Allotted to
. VALUE POINTS/ KEY POINTS 2 pRed 1o Jlg:ell(ls
Point/Key
Point
3x-1=5 %)
3x=6
x=2 h
28.
No of students 100 100 + 25 =125 14
No of Days 20 x
Let the provision will last for x days Ya
It is case of inverse variation %)
100 x 20 = 125 x x %)
100 x 20
x= 105 %)
x = 16 days
Provision will last for 16 days Ya 3
29.| Cost of coat for Vrinda =3 1500
Profit = 10%
10
= 250 ¥ 1500 =7 150
S.P. of coat = 1500 + 150
=3 1650 1
Price of coat for customer =3 1650
GST =5% of 1650
= i x 1650
100
=3 8250 1
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Point
Cost price after G.S.T = 1650 + 82.50
=%1732.50 1 3
OR
Gain over sale of suit =3 120
Gain =10%
Gain% = = x100
10 = 122, 100
CP
CP = 120 x 100
10
=%1200 1
SP = CP + Profit
=1200 + 120 =% 1320 1
_ 1320x100 _

MP = 100-20) =3 1650 1

30.| Bx)?+ (7)>+2x3xx7=3x)*+ (7)>-2x3xx7+168 1
Ox2 + 49 + 42x = 9x + 49 - 42x + 168 1
42x +42x =168 Y2
84x =168
x=2 Ya 3

31.| Two years ago, let Dilip's son age be x years

Dilipage = 3x

Present age of son =x + 2

%)
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Point
Present age of Dilip =3x + 2 Ya
2 years hence, Son age = x + 4
Dilip age = 3x + 4 Ya
According to the question
2x (3x+4)=5%(x+4) Ya
6x + 8 =5x + 20
x= 12 Y
Present age of son =12 + 2 = 14 years
Present age of Dilip =3 x 12 + 2 Ya 3
= 38 years
32.| Asrls,rlgandrLyp
= s || g || p (Lines in the same plane perpendicular 1
to a given line are parallel to each other)
/1= 65°(Given)
Z1= /3 =65°corresponding angles) 1
/2 + /3 = 180° (cointerior angles)
Z2 + 65° =180°
£20° = 115° 1 3
OR
32.| As ZABP= /BAD =70°
BP || AD (As alternate interior angles 1

are equal)

As AD 1. BC and CQ 1 BC
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 I\Tlg:ils
Point/Key
Point
= CQ || AD (Lines perpendicular to same 1
line are parallel to each other)
(1) and (2) = BP | | CQ (lines parallel to same line are
parallel to each other) 1
33.
1) c
153
\2 3
r—i-

A Lo 8
Let AB = 4x Ya
BC =3x
Diagonal AC =10 cm
In right AABC, AB? + BC? = AC?

(4x)* + (3x)? =(10)?

16x* + 9x* =100

25x*= 100

x*=4 1Y2

x= 2

- AB= (CD=4x2=8cm
BC= AD=3x2=6cm

15
P
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to Jotal
Poli’lclxtllrll(tey
34.| Let radius of cylinder = 2x
height of cylinder = 3x Ya
Volume = 12936 cm®
TS.A=?
Volume = % X (2x)? x 3x = 12936
L _ 12936%7
22 x12
x¥=7x7x7
x=7 1
Radius= 2x7=14cm
Height= 3 x7=21cm 2
Total surface area =2 nr (h + 1)
=2x 7 x14x (21 +14)
=88 x 35
= 3080 cm? 1 3
SECTION - D
35.| Let] number be 2x
II number = 3x Ya
III number = 5x
According to the question
(2x)? + (3x)* + (5x)* = 608 1
4x* + 9x? + 25x% = 608
38x* = 608 1'%
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Point
x*=16
x=4
Inumber =2 x4 =38
II number =3 x 4 =12 1 4
I number =5 x 4 =20
36.| Let Principal =% 100
Rate of Interest = 10%
Time =1 year
Interest for I year = 100101 :0100 1 =710 Ya
Amount =100 + 10 =% 110
Interest for II year = 100101 :0100 1 oz11 Ya
Amount =110+ 11 =121
121 x10x 1
Interest for III year = :TOOX =312.10 Ya
Difference =3 12.10 -3 10
=%2.10 1
If difference is X 2.10 then principal =3 100
If difference is X 1 then principal =% %
If difference is ¥ 1050 then principal =% % x 1050
=3 5000 1Y%2 4
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Marks

S. Allotted to 1
. VALUE POINTS/ KEY POINTS B epttec t0 Jlgfll( S
Point/Key
Point
37. 28+ 52+ 2y -7
3y2+5) 6if + 15y + 16y + 4y? + 10y - 35
5 + 10y3
154* + 61° + 412
1hy* + 2512
6yf - 21y% + 10y
3 + 10y
=212 -3
- 214> - 35 12x6=3
+ +
0
As remainder is zero
312 + 5 as a factor of 61° + 15y* + 16y° + 41> + 10y - 35 1 4
OR
y*+oy+4
2P+ 1 )2 + 10y + 8y + 3y + 6y + 7
5 + yz
10y* + 8y° + 2>+ 6y
10y + 3y
8f +22+y+7
Y’ +4
2P+ y+3 1ax4=2
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Marks

13(;. VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
PoIi’I(I)i/rIl(tey

Quotient = 1> + 5y + 4 Ya
Remainder =2y + y + 3 Y2
Difference = (2y* + y + 3) - (y* + 5y + 4)
=2y?+y+3-1*-5y-4
=yr-4y-1 1

38.| Making line segment I] = 3 cm Ya
Constructing an angle of 75° at I 1
Constructing an angle of 90° at ] 1
Constructing JK =4 cm Ya
Constructing an angle of 120° at K 1 4
Alternative answer for visually challenged students
in lieu of Q. No. 38

38.| Figure

D c
A

Given : A quadrilateral ABCD in which Ya
AB=CDand AB | | CD
To prove : ABCD is a parallelogram Ya
Construction : Join B to D 2

Proof : In AABD and ACDB
1. AB = CD (Given)
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
“Fomnt
2. Z/ABD = ZCDB (Alt. Int. Angles)
3. BD = BD (Common)
AABD = ACDB (by S.A.S) 1Y2
= £ADB = ZCBD (c.p.c.t) [Alt. Int. Angles]
AD =BC
.. ABCD is a parallelogram
(As other pair of opposite side become equal and parallel 1
39.| Let the length of base of canal = x m
Length of top of canal = (x + 4)m Y2
Depth=9m
Area of cross-section = 72 m?
Area = % X (Sum of parallel sides) x h Y2
- % x (x+x+4)x9="72
Oy + 4 = 72 9>< 2
2x+4=16
2x =12
x=6 2
Length of base of canal = 6m
Length of top of canal =6 + 4
=10 m 1 4
OR
Let breadth of cold storage be x m Ya

Length = 2x
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Marks

S. Allotted to
. VALUE POINTS/ KEY POINTS B epttec t0 Jlg:ell(ls
Point/Key
Point
Height = 3m
Area of 4 walls (including doors) = 108 m? Y2
2H(L + B) = 108
2x3 (2x +x) =108
_ 108
3x =~
108
Y7 6x3
x=6 1
Length=2x6=12m 1
Breadth = 6m
Volume of cold storage =L x B x H
=12x6x3
=216 m’ 1
40.| Correct axis and labelling 1
Making of 6 correct bars 1ox6=3 4
Alternative answer for Visually Challenged Students
in lieu of Q. No. 40
40.| Area of a square plot =101 41% m?
_ (101 x 400)+1
400
_ 40401 1
400
Let side of plot =x m
Area = x x x = 20401 1
400
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Marks
S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
40401
= [— 1
X =4 200 /2
201 x 201
20%x 20
201
= E =10.00 m
-. Side of square plot = 10.05 m 1Y%
OR
40.| Let total marks scored by Ankur in all subjects = x
Marks scored in Mathematics = 80
100 3
% x x =80
_ 80x360
x =
100
Total marks = 288 12
Mark d in chemistry = —> x 288 1
arks scored in chemistry = —~
=68 1
. . 75
marks scored in computer Science = 75 x 288 =60
Difference in Chemistry and Computer Science
Marks = 68 - 60 = 8 Ya
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L.

II.

SOCIAL SCIENCE

DESIGN
Weightage to form of questions :
From of Questions Marks of each | No. of Questions with Total
Question their serial numbers Marks
Very Short Answer (VSA) 1 20 Sr. No.1to 20 20
Short Answer (SA) 3 08 Sr. No. 21 to 28 24
Long Answer (LA) 5 06 Sr. No. 29 to 34 30
Map Question 4+2 02 Sr. No. 35 and 36 06
Total 80
Unit wise Division of Questions
VSA SA LA
1 Mark | 3 Marks | 5 Marks Map
Unit No. & Subject Marks Quest- | Total
Quest- [ Quest- | Quest- .
ion ion ion ton
I. Resources and
Development (Geography) 27 44) 30) 2(10) 1) 27
II. Our Past III : People &
Society in Modern Period 27 909) 2(6) 2(10) 1(2) 27
(History)
III. Rule of Law and Social
Justice (Pol. Science) 26 70) 30) 2(10) ) 26
Total 80 80
III. Weightage to difficulty level :
1. Easy 30%
2. Average 50%
3. Difficult 20%
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SOCIAL SCIENCE
(MODEL TEST PAPER - I

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.
2.
3.

There are 36 questions in all. All questions are compulsory.

Marks are indicated against each questions.

Write the question numbers as given in the question paper while answering a question
in your answer book.

Question 1-20 are very short answer type questions of 1 mark each.

Questions from 21-28 are 3 marks questions. Answer of these questions should not
exceed 80 words each.

Questions 29 to 34 are 5 marks questions. Answer of these questions should not
exceed 120 words each.

Question 35 and 36 are map questions of 4 marks each from Geography and 2 marks
from History. After completion, attach the maps inside your answer book.

T e

R

. TH U U H /e 36 YA B |l g eferd €

Yok WY % 3k 3ok WA ey Y

T ITYRR H I e 979 g91-3 § e T geies @ forg|

T HE&A | H 20 T Afd Y-St Y9 €1 Ueh U9 | 3k Wl 2|

T HEA 21 W 28 T Yok U 3 3k 1 1 390 W Ycdeh U hi ST 80 Wl W
ek 1 81 B =fsul

T W& 29 W 34 A% Yh YA 5 3k k1 T S W YAk YT h1 ST 120 Il
9 3fye a1 =& g =t

T W@ 35 SR 36 THH: A R ™ & HHET A W ¥ ia U 4 3E
T I q1 SR W 2 3k % ye U M )| 3R QW R ® A% A BT A
SW-YRaR & 3T a9 Il

Which one of the following name has been given to the resources classified ? 1

on the basis of occurence?
(A) Biotic resources

(B) Renewable resources
(C©) Man made resources
(

D) Actual resources
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Safd & YR R ofiiehd fhy T ganerl #1 frefafed & 9 ®F @ T
am fean = 72

(A) Sifeess Hamem

(B) TelTeheuity HeTed

(C) e fAfHa daed

(D) foerfda d&mem

Choose the fibre crop from the following.
(A) Maize

(B) Bajra

(C) Jute

(D) Coffee

frefafed woa § 9 WRR wEa g

OR (314T)
Which one of the following is a specialised form of agriculture for large
scale production of milk.
(A) Livestock ranching
(B) Mixed farming
(C) Extensive Agriculture

(D) Dairy farming
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fAfefed o & s O %eF 98 W W 7Y SIS %l Tk 9 iy 22
(A) T FH

(8) ffaa ot

(C) = FHfu

(D) == PfH

Identify and name the continents A and B where 60% and 13.5% of the

world population live. Va+1o=1

frefafed fo 6 ¥e@a § T8 T 92iigW &l 989 & 37 91 fafen
el fova w1 SEE w1 60% 3R 13.5% Tedl 2l

Note: This question is in lieu of Q.3 for visually impaired candidates.

(A) Name the continent where highest proportion of the world population

lives.

(B) Name the continent where lowest proportion of the world population

lives.

(A) 39 HETgY &1 M Ty S8l fovd ol o e o1 AfHhdd 9
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@l 2l

(B) 3 WETgY k1 ¥ foIfe S8t foeg st spel SHEA 1 =IAdH AN &l

2

In the Question given below there and two statements marked as Assertion

(A) and Reason (R). Read the statement and choose the correct option.

Assertion (A) : The people of a country are its real wealth and strength of
a country.

Reason (R) : Population becomes an asset when it is educated, healthy
and skilled.

Options:

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is not the correct explanation of A.

(©) Ais correct but R is wrong.

(D) A is wrong but R is correct.

T fRu T ge # 1 wed N @ U R Q@1 (A) T T HT FRO

(R) & &9 H ifhd o 1 21 999 1 =AM @ ufgu 3R Sal & w9 A

(aV o

3t farew =1 Ul
T (A): et *9 % @ € STHT 3rEelt Srerd den wifsd et 2
FRU (R) : SHEE qft gefq oAt @ 59 @ ffae, T sk wive @

T B

|

(A) FF A R R IH T & 991 ‘R 1 H2A ‘A’ &1 T&l AR 2|

(B) M ‘A’ 3R ‘R’ Tl Ted § W 'R’ 1 HeF ‘A’ 1 AR T R
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(C) F¥[ ‘A’ & & W HoH ‘R’ Terd &

(D) %[ ‘A’ Told © W ‘R T @)

Fill in he blanks

The biggest museum on Gandhiji, named has the highest

collection of writings of Gandhi ji.

e o 9f@
et St o Siaq ° T 999 9 JUeed o T S o

ol 1 Fed 9g] G 2

State any two “Sources of Information” related to Modern Indian History.

sMYfe wRdra sfier @ wafed go & fol 1 wfal o 9w fafem)

Who is the author of the book “Unhappy Indian’?
JEieh SR ST T dEd A B2

Read the following extract and answer the question given below:

"Mir Jafar could not fulfill the constant demands of the British so they
installed his son-in-law Mir Qasim as the Nawab. He granted equal trade
facilities to the British & Indian Merchants'".

What step was taken by Mir Qasim to fulfill the demands of the British?
frefafed Sgeo #1 afgy @ik = fore w1 3R e

YR SR SIS ot FRAR WM R I AE Y IRT; sHfaT IR 39k
e, WX HITEH Bl Tored o T SEH USSR AR, S adiE bl
MR & Th G Giaeme gs= w1

R G = SUSH I T F U FE oh {0 F1 H3H 3317
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9.

10.

Which one of the following British officers had abolished the Dual
government in Bengal?

(A) Lord Dalhousie

(B) Robert Clive

(C©) Warren Hastings

(D) Lord Wellesly

frefafea § 9 fafes sifuerd 3 dma § 89 999 1 9wd feen on?

Match theland revenue system givenin Column’A’ with the persons givenin

Column “B’. Choose the correct answer from the options given below:

Column A Column B

Permanent Thomas Munro
Ryotwari Halt Mackenzie
Mahalwari Lord Cornwalis

OPTIONS

I—- a-iii, b-i, c-ii

II- a-ii, b-iii, c-i

1- a-iii, b-ii, c-i

I e A H T -USRE SFaee & &eH B H U U sAfuemiia
o 9 o §1Y 9el e wifs)
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AT ‘A’ HAH ‘B’

TR I Siesret

A S TTee Tkl

HETAdR] Sad A AT

faerea

I— a-iii, b-i, c-ii

II- a-ii, b-iii, c-i

III- a-iii, b-ii, c-1
OR (7er@n)

Match the commercial crops given in Column A with the places they were

cultivated given in Column B. Choose the correct answer from the options

given below.

Column A

Column B

Commercial Crops

Place they were Cultivated

(a) Sugar cane (i) Madhya Pradesh

(b) Indigo (ii) Maharashtra

(c) Cotton (iv) Assam

(d) Tea (iv) Bihar
Options:
A. a-ii, b-i, c-iv, d-iii
B a-iii, b-iv, c-ii, d-i
C. a-ii, b-iv, c-1i, d-iii
D a-iii, b-i, c-iv, d-ii



11.

12.

13.

= Fem ‘A" TE aifoiias wEdl 1 wrem B H ST a9
Tt foem sifsu) = fiu T faskedi § 9 9@t Sar 1 fasew gful

anfoThee W ST 1 TIH
() T (i) 7= Hew
(b) et (if) HERTS
(c) huE (iii) THH
(d) =™ (vi) foBR
faaea —
A. a-ii, b-i, c-iv, d-iii
B. a-iii, b-iv, c-ii, d-i
C. a-ii, b-iv, c-1, d-iii
D. a-iii, b-i, c-iv, d-ii
Fill in the blank
The Prime Minister of Britain designed the Indian

Independence Act-1947.

o o g9 == ¥ ORA Taad sTufEE 1947 &1 TR
foman o

State any one important feature of Indian Independence Act, 1947.

AR s AUfEE 1947 &1 FE T Heoyyl fovma fafeu)

Correct and rewrite the following statement.

Sikkim was liberated from Portuguese in 1961.

o [Nl

ffafed ®ed &l 3t Heh gA: fafemu)




14.

15.

fafera &1 1961 § dohral oh STfUYE o e T ol

Choose the statement which is correct in respect of the members of the
constituent Assembly.

(A) It consisted directly elected members.
(B) It consisted indirectly elected members.
(C) Consists of Members nominated by the Viceroy only.

(D) Consists of Members nominated by the British Parliament only.

frefafaa wuml § 9§ 39 wem 1 g St dfaum 9w o 55w o fo
T 2
(A) 3HH had gy Haifad §&& ol

(B) THH whadl gy &9 9 faifad wew ¢l
(C) THH <had IR NI AIMHd 95 9|
(D) 38H chad fafewr H6g g AHd 95 9|

Which one of the following Directive Principle of state policy is grouped as
the Social Principles.

(A) To provide adequate means of livelihood for all.

(B) To promote cottage industries.

(©) To guard children against exploitation and moral degradation.

(D) To promote international peace and security.

frfafed & 9 #F 9w ‘T & W fRvew fagm’ w5 amfee fas
o =i foran S R

(A) Teeh TeTU STrSiifoet o qaf WEd &M Tl
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16.

17.

18.

(B) TR TN ! s@gral I
(C) ===l t IO R Afqw G F S=E
(D) <RI g 3R qRen i e &

The Vice President of India is the ex-officco of the Rajya Sabha.
IR 1 ST T GH 1 T2 BT B

OR (379d)

The purpose behind reservation policy is to assist and uplift the

of the society and bring them into the national mainstream.
3RETUT Aifd 1 ITTA WA oh el I TR &YW |
@M o T TR TETEd T e HE g

Choose the statement which defines the 'Coalition Government'?

(A) Government formed by an alliance of two or more political parties.
(B) Government formed by single majority party.
(©) Government formed by any minority party.

(D) Government formed by the President of India.

fAfafed weMl ¥ 9 ' TTearyd WaR' &l IRYIG e are ®Ud )
(A) T o1 IHH Al <Al o TSI g TMSd TR

(B) IgHd W< T gNI Tf3d TR
(C) 3Teurd Urwl fordll g g Tfed TR
(D) 9RA o Te2afd g Tfed TR

Which one of the following statement is true for the members of the
'electoral College' to elect the President of India?
(A) Members of Lok Sabha Only.
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19.

(B) Members of Rajya Sabha Only.
(C) Members of Legislative Assemblies of all the States only.

(D) Elected members of Lok Sabha, Rajya Sabha and Legislative Assemblies
of all the States.

freferiaa o 9 s |1 HeF WRd o Tsgufd & g o fag e et
TUed’ o G o faw I 72

(A) HIA Ak GH o T

(B) o TT |1 o WX

(C) It Tl &t faum Fwist o w5

(D) < 991, T3 |1 qo §et T &1 faum qwst o faifaa 95

Match the items given is column A with the jurisdiction of High Court in

Column B. Choose the correct answer from the options given below:

Column A Column B

(A) Cases involving violation of (1) Judicial Review
fundamental Rights.

(B) Cases pertaining to marriage, | (2) Supervisory Jurisdiction

divorce, will of deceased person.

(C) Substantial question of law. (3) Original Jurisdiction

(D) All the Subordinate courts in the | (4) Appellate Jurisdiction
state concerned function under
the control of High Court.

Options:
(A)  A-3, B-4, C-2, D-1
(B.) A-3, B-1, C-4, D-1
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20.

(C) A3, B-4, C-1, D-2
(D) A4, B-3, C-1, D-2

Hed ‘A’ H ferel T el w1 H ‘B’ H fae =9 <Ee o fEEen 9
Tl oo ifay deon = fiu U fowed § 9 9t Sar aren faswew gful

<hlctH ‘A’ <hlctH ‘B’

(A) Hifersr sl & Soolsd o | (1) =1faeh el
oS

(B) e, dameh SR =@E@ @ 2| (2) e emfusr
Y

(C) A W 33T T o ¥ FE | (3) T &AEHRR
&Y

(D) TF o At AefiTeer =i | (4) oTdia aefasR
R =

Options:

A. A-3, B-4, C-2, D-1
B A-3, B-1, C-4, D-1
C A-3, B-4, C-1, D-2
D A-4, B-3, C-1, D-2

Correct the following statement & Rewrite:-
The chief Justice & all other Judges of the Supreme court remain in office till

they attain the age of 60 years.

feAfafed %o &l 3t Hen gA: fafemu)
Hated e oF & <EN T8 31 <R 60 99 3 M qeh 30
TE W & ®d B
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21. "Mere presence of resources does not guarantee development of a country"
Justify the statement.
“oEreAl w Suftafd A ® foem ey (e T g’ wEd @l

IETd 3|

22. Which type of forests are generally found in the higher latitude of northern

hemisphere? Explain any two characteristics of these forests.
Il Mened o 3=d e § R YER % o W S €2 37 oM bl fRl
T faeuaie =t =aren ity

OR (379d)

What is the another name of Tropical Deciduous Forests? Explain any two

characteristics of these forests.

3o hfesmeiig qolardt o i SR fRE AW ¥ S S €1 S oAl bt R
T foRtaist #1 sarE St

23. Highlight any three attributes of Human Resource.
UHa HAeH it fh=l i o1l ISR it

24. Explain any three steps taken by East India Company to meet their military

and administrative expenses in India.

$ ghe FE BN A § o & ok TeTeR @ W W S &
ferw 3er U fR R e Y e wifsm

OR (37974)
Explain one reason each for the tribes of khasis, khonds and santhals to

revolt against the British
T, Tive R T sfeafadl g st & favg faE # &1 TH-TE
FHROT TR A
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25.

26.

27.

28.

29.

Describe any three events that led to the second Anglo Maratha War.

fgda o"e e 4§ &t IR o WM aret fohl 9 wrewsti &1 v ifs)

Explain the significance of Secularism in India on the basis of liberty,

equality and fraternity.

EaEd, TEAA R IR o YR W AR § 99 U o "o &
AT hifSu|

"Lok Sabha is more powerful than Rajya Sabha". Explain with the help of

three examples.

‘AR T | 9 ifes wifseelt ' d9 SRl Y "erEd 9 R
Hi AT HifSU|

Describe the composition of High Courts.
= A 1 G 1 U HifoY|
OR (379d1)

Describe any three powers of High Courts of India.

ORd o 3=9 el i fh=l a1 wifsadi &1 guiE sifem)

Water is an indispensable resource. Justify the statement with five arguments.
STl T ST9NEr™ GO € Ui deh SR HeH i gfie shife)

OR (37feT)
"Topography and Vegetation cover plays an important role in soil

formation." Justify the statement with five arguments.

“gr Frefor § werereRfa iR aFEdfa STeRer 1 Uk Hewqul fHent gt 8"
i qe g HUA I e ity
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30.

31.

32.

33.

34.

35.

Explain any five characteristics of plantation agriculture.

PRI Rt 1 fereel o= fomioameti =l e sifey)

Explain any five social and religious causes of "Revolt of 1857".

1857 o fagie o foreel wiw Grarfsier ofX enfifer ol &l T Hifsu)

OR (37974)
Explain any five military and immediate causes of 'Revolt of 1857".

‘1857 o Tagie’ o f=gl U9 O 3R qehlfalh HRON i TI= HITST|

Highlight the contribution of revolutionaries in India's Independence struggle.
TR o T GOH H ShI<Ieh1al o AR 1SS i)
Explain any five features of Parliamentary form of Government.
FHT YOTeA! <hl ThR i Tl o= forioisti =i =aren shifsm)

OR (379d1)
Explain any five federal and Unitary features of the Indian constitution.
WA & Hiour @t RSl o S o TweTs ae H e it
Who appoints the ministers in Union Council of ministers? Describe any four

functions of the Union Council of Ministers.
= uftoe o wfeat @ fgfe s e 82 g weh ufug o fRel =R
HE HT FUH BT

MAP SKILL BASED QUESTION
(@) Two places A and B have been marked on the given outline political map of
the World.
Identify them and write their correct names on the lines drawn near them.
(A) Aregion of high rainfall
(B) A type of forest

(b) On the same political outline map of world locate and label the
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following.
(C) A low rainfall area in South Africa.

(D) Tropical Deciduous forest in central parts of America.

(a) TR ok TSIk T A= TR aTor qefm 9 e &) == < 7 STkt o
YR W I UgAIY d 39eh Tl 9™ A § Bt T Wt |
fefem)

(A) eifeek oot aren &
(B) o H Tk THKR

o

(b) 3E IR o TeHifde dAMfes W fAfafea =t sifera wifsa qen 3Tem
M fefem)

(C) Tferolt TohishT T %W ol ol &=
(D) STHII oF Shald AF | I FHfeafe@n sl Fl TR

Alternative question for visually challenged students in lieu of Q. No. 35.
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36.

UH. 35 & WM W gie arfuq faenfia & fag Serfeas w9

35.1. Which region in North Africa gets low rainfall.
35.2. Name one state in India where evergreen forests are found.
35.3. Name one region which gets low rainfall in Australia.

35.4. Name two trees commonly found in temperate soft wood forests.

35.1. Scddl STHIRT & HH 61 oA & 1 919 fafEm)

35.2. RG ® WRERA o fRE T # W WM € R U Tom @ W
fafem

35.3. sferen H &\ aui arel & &1 AW fafem)

35.4. fdr Hfeseia o § e M At =T 1 A i Am fatem)

On the outline political map of India locate and label the following

Kanpur : The place from where Nana Saheb led the revolt of 1857.

Amritsar : Jallianwala Bagh Massacre took place.

ORA ok TeHideh aHfteas W f=fafea i 2ifea sifse qen ST 7 off
fafem)

FER ;T8 T Sl 9 A WRE A 1857 o fasE @1 A foma
YT : T T @1 A an e gl

Alternative question for visually challanged students in lieu of Q. No. 36.

UH. 36 o WM W gie arfua faenfia & fag Serfeas wom
36.1. Name the place from where the revolt of 1857 was started.
36.2. Who is known as Frontier Gandhi?

35.1. 3 TIM H1 7MW FAEC Sel § 1857 o fase &1 Y& gl
35.2. M HefR e o AW ¥ W S #?
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SOCIAL SCIENCE

(Model Test Paper - I)
Maximum Marks : 80

MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgri S
Point/Key
Point
1. (C) Man Made [Pg. 4] 1 1
2. (C) Jute [Pg. 55] 1 1
OR
(D) Dairy forming [Pg. 51]
3. A 60% Asia Vot 1
B 13.5% America
Note:| For Visually impaired Students
(A) Asia (B) Antarctica
4. (A) Both A and R are true and R is the correct explanation 1 1
of A. [Pg. 89]
5. | Gandhi Smriti [Pg. 96] 1 1
6. British Documents Vot 1
Books
Letters, Writing, Speech Newspaper
Internet on Database
Old building, artifacts and people
[Any Two] [Pg. 95, 96, 97]
7. Lala Lajpat Rai [Pg. 96] 1 1
8. Mir Qasim granted equal trade facilities to the British and 1 1
Indian merchants [Pg. 104]
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
9. Warren Hastings [Pg. 105] 1 1
10. | Option I—a-iii, b-i, c-ii 1 1
OR
Option C—a-ii, b-iv, c-i, d-iii [pgl12, 113]
11. [ Clement Attlee [pg 173] 1 1
12. e  The British rule over India would end with immediate 1 1
effect.
* Anindependent dominion of India was made including
the united Provinces under the British like Madras
Presidency, Carnatic, East Punjab, Bengal, Assam etc.
e West Punjab, North West Frontier Province, Sindh and
East Bengal would go to Pakistan.
*  The Princely states were given the freedom to decide
which dominion to join.
e The dominion of India and Pakistan were granted
complete freedom and they became members of British
Common wealth. [Any one] [pg 173]
13. | Goa was liberated from the Portugese in 1961 [pg 174] 1 1
14. | (b) It consisted indirectly elected members. [pg 185] 1 1
15. | (c) To guard children against exploitation and moral 1 1

degradation [pg. 200]
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Marks

Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( S
Point/Key
Point
16. | Ex-offico chairman [pg 212] 1 1
OR
Weaker Sections [pg 210]
17. | (@) Government formed by an alliance of two or more 1 1
political parties. [pg 224]
18. | (d) Elected members of Lok Sabha, Rajya Sabha and 1 1
Legislative Assemblies of the State. [pg 220]
19. | (c) A-3,B-4,C-1,B-2 [pg 236] 1 1
20. | The Chief Justice and all other judges of the Supreme Court 1 1
remain in office till they attain the age of 65 years.  [pg 233]
21. * Intheinitial stages of economic development, availability | 1+1+1 3
of resources played an important role.
* Advancement of technology, availability of capital and
skilled labour necessary for the utilisation of resources.
e.g.USAistermedasadeveloped countryitiseconomically
self sufficient and technologically advanced. On the other
hand India is still in the developing stage. [pg 2]
22, Coniferous Forests 1+2 3

Characteristics.

e  Trees are tall and conical in shape.

* Trees do not shed their needle shaped leaves and look
evergreen.

*  These trees have commercial importance and used for

various purposes.
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

23.

24,

any two or any other relevant point. [pg 25]
OR

Tropical Deciduous Forest are also known as Monsoon forests.

Characteristics

*  Have Predominantly broad leafed trees and medium size
leaves.

* Shed their leaves during the dry seasons to conserve
moisture.

*  Trees are medium in height (30-40 mts)

any two or any other relevant point. [pg 24]

AGE structure
Sex-ratio
literacy rate

(Explain)

Company started coercive methods to procure goods which

were in great demand in Europe.

The agricultural raw material was purchased at a very low

rates and sent to England.

The finished goods were brought back to India and sold at

high rates to earn more profits.

[Any other relevant point] [pg 113]

OR

Khasis - The construction of a road through their land
united many Khasis chiefs against the English

KHONDS - The fear of being annexed.

SANTHALS - Theyfound themselves quite helpless against
the ruthless exploitation of the traders and

middleman. They were expecting the British

1+1+1

1+1+1
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
government of safeguard their interest when
nothing was done, they revolted against the
British.
[pg 116, 118]
25. There was a conflict among the Marathas over Peshwaship. 1+1+1 3
Peshwa Baji Rao II entered the Subsidiary Alliances with the
British against Jaswant Rao Holker and drove Holkar out.
Peshwa Baji Rao signed a treaty with the British
which  was  opposed by  Maratha  Chieftains
The Sindia and Bhosale. Resulted in Second Anglo Maratha
war. [pg 107]
26. | Significance of Secularism:- 3x1 3
* Itenables people of different religions to live in harmony
with other faiths.
* Itisa part of democracy, which grants equal rights.
e It protects the rights given to the minorities.
* It safeguards democracy by limiting the Powers of the
majority.
(Any 3 points) [pg 202]
27. The annual budget of the central Government is passed | 3x1 3
by the Parliament every year.
*  The money bills can only be introduced in Lok Sabha.
* If Rajya Sabha makes any recommendation regarding a
money bill, Lok Sabha may or may not accept it.
[pg 213]
28. | Composition of High Court:- 3x1 3
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

The High Court consists of a Chief Justice and some other
Judges.

The number of judges varies from state to state, depending
on its size and population.

The Chief Justice of a High Court is appointed by the
President of India in consultation with the Chief Justice of
the Supreme Court and the Governor of the concerned state.
The other judges are also appointed by the President on the
advice of the Chief Justice of India, the Governor of State and
the Chief Justice of the High Court of the concerned state.
(Any 3 points) [pg 235]

OR

Powers and functions of High Court -

Original Jurisdiction-Cases involving violation of
Fundamental Rights, disputes related to the election of
an MP or MLA, where interpretation of the constitution is
required, come under the original jurisdiction of the High

Court.

Appellate Jurisdiction-A High Court is mainly a court of
appeal both in civil and criminal cases brought before it,

against the decisions of the Lower Courts.

Supervisory Jurisdiction-All the Subordinate Courts
in the State concerned function under the control and

guidance of the High Court of the State.

(Any other relevant point) [pg 236, 237]
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Marks

S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgril( g
Point/Key
Point
29. | The sources of water are limited and are reducing every | 5x1 5

year. Following are some of the ways by which water can be

conserved.

Water harvesting is one of the methods of saving surface
water runoff.

The demand of water for industries can be met by recycled
water.

Water can be saved by adopting modern methods of
irrigation, drip or trickle irrigation and sprinkler method
of irrigation.

The rain water can be impounded by making dams.

By installing water fixtures such as sensors taps in public
places.

Maintenance of lakes and ponds helps in increasing

underground water (any five or any other relevant points).

[Pg 16, 17]
OR

The Topography: Topographical variations, such as mountains,

plateaus and plain affect the thickness of soil cover.

Mountain regions, on the steep slopes, the top layer of

soil is shallow and thin.
At gentle slopes, the soil cover is thick and deep.

The northern plains of India have thick soil cover as
compared to the Himalayas. Even within mountains,

river valleys have thick soil cover.
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Marks

o VALUE POINTS / KEY POINTS cach g srotal
Point/Key
Point
The vegetation cover:
* Plants grow in the cracks existing in a soil.
*  Cracks disintegrate into smallest pieces and help in the
soil formation.
* Remains of dead or decomposed plants and animals
provide humus to the soil which enriches the fertility of
the soil.
Any five or any other relevant point. [pg 11]
30. | Plantation agriculture. 5x1 5
e Large farm or estate usually in a tropical or sub-tropical
country.
*  Crops are grown for sale in distant markets rather than
local market.
*  Well-organised system of agriculture
*  Single crop farming is done.
* Required huge capital investment scientific method of
farming.
e Transport facilities, efficient management and skilled but
low cost labour in large number.
*  Practised in hot and humid regions of the world.
(Any five or any other relevant point) [pg 51]
31. | The Hindu law of property was changed to enable a Christian | 5,9 5

convert to receive his share of ancestral property.

The spread of railways created fear among the poor and illetrate

sections of the society that they would loose their caste.

Indians were not allowed to travel in first class train
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No.

VALUE POINTS / KEY POINTS

Marks
Allotted to
each value
Point/Key

Point

Total
Marks

32.

compartments.

The conservative Indians were alarmed by the rapid spread of

western culture and English education in India.

British followed a policy of racial discrimination.

(Any other relevant point) [pg 127]

OR

Military Causes

Indian sepoys did not receive any awards or promotions.

Highest pay given to an Indian sepoy was less than the

minimum pay of a European recruit.

Indian Sepoys did not want to travel overseas which was

made compulsory by the British.

Immediate Causes

It was said that the cartridges of new Enfield rifle, which had

to be bitten off before its use was made up of beef and Pig fat.

Both Hindu and the Muslim sepoys refused to use it due to

religious reasons.

Mangal Pandey of Barrackpore, near Calcutta refused to use

the greased cartridge and shot down his sergeant and He was

arrested and executed and then many sepoys started the revolt

against the British.

[Any other relvent point] [pg 127]

KAKORI CONSPIRACY CASE:

*  Members of Hindustani Socialist Republican Association
looted government cash from a train for buying weapons.

* Jugantar party by Aurbindo-Ghose planned an armed
revolt against the British during the first world war.

* Bhagat Singh, Azad and Rajguru Assassinated Police

5x1
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
Commissioner, Sanders who was responsible for Lala
Lajpat Rai's death.
A bomb was thrown in Central legislative Assembly by
Bhagat Singh and Batukeshwar Datt. Bhagat Singh, Sukhdev
and Rajguru were hanged to death in 1931 in Lahore.
Other revolutionary groups-India House, Gadar Party and
Berlin Party was formed. [pg 165, 166]
33. * India has parliamentary form of government both at the 5x1 5

centre and in the states.

* Ina parliamentary form of government, the Head of the
State, the President of India, is a nominal head.

* The President of India, enjoys many powers, but in
practice all these powers are exercised by the Council of
Ministers headed by the Prime minister.

* Inaparliamentary democracy, thereis acloserelationship,
between the legislature and the executive.

*  The council of Ministers is constituted from amongst the
members of the legislature. [pg 190]

OR

*  The constitution of a federation is written and rigid.

* It divides powers between the centre and the states.

*  There is an independent judiciary which interprets the
constitution and settles the disputes.

e  The central Government is more powerful than the state
Government.

* The constitution of India has several features of a

federation combined with the elements of a unitary state.

[pg 190]
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Marks

o VALUE POINTS / KEY POINTS cach g srotal
Point/Key
Point
34. | The Union Council of Ministers are appointed by the President | 1+4 5
of India on the advice of the Prime Minister.
Functions of the Council of Ministers —
*  The Council of Ministers is responsible for the formation
of internal and external policy of the country.
* Taking decisions at the national and international levels.
* To run the administration through various ministeries,
like Defence, Finance, Agriculture etc.
e To perform certain legislative functions like preparing
and approving the annual budget and making laws.
35. | (a) South East Asia 4x1 4
(b) Mediterranean Forest
(c) Kalahari Desert
(d) Central America
36. (@) Kanpur 251 5
(b) Amritsar
For visually impared/challenged candidates Ax1
35.1 Sahara desert
35.2 Western Ghats, Andaman Nicobar
35.3 Central Western Australia
35.4 Pine, fur, spruce, Cedar
36. | 36.1 Merrut 231

36.2 Abdul Gaffar Khan
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SOCIAL SCIENCE
(MODEL TEST PAPER - 1)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.
2.
3.

There are 36 Questions in all. All Questions are compulsory.

Marks are indicated against each questions.

Write the question numbers as given in the question paper. Write answering a
Question in your answer book.

Questions 1-20 are very short answer type questions of 1 mark each.

Questions from 21-28 are 3 marks questions. Answer of these Questions should not
exceed 80 words each.

Questions 29 to 34 are 5 marks questions answer of these question should not exceed
120 words each.

Questions 35 and 36 are map questions of 4 marks form Geography and 2 marks from
history. After completion attach the maps inside your answer book.

= 9T

DA SIS

30 Y9 T § e 36 YA &1 9eft e erfrerd ©

Y% Y & 3 3@ gmd e e R

TN ITYRAR H I faed 979 991-u3 § e @ geies @ fore|

T W& | G 20 q% 3 of-Sudd I €1 Yok U | 3k o 2

9T W& 21 ¥ 28 T ok U9 3 3k 1 B STH W Yok U hi ST 80 WAl W
SIfek 1 81 B =fsul

U W& 29 W 34 q%h YAE YA 5 3k 1 T 3T W YAk YT h1 SW 120 Al
Y Afger &1 8l BMA1 =1eUl

T FE&AT 35 3R 36 e IR e & HHfT Ol 99 21 i @ 4 3fF w1 g
den i @ 2 3fF & 9e &3 T ) 3R QW R & 9% gHfEs H S &
3T arg Sl

Choose the correct option 1
Future generations will depend on wind energy because it is -

a) Biotic resource
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b) Inexhaustible resource
¢) Non-renewable resource

d) Man-made resource

gl foehes w1 == wifST)

et difeal Tam et W AR B F=EifE 9w T
%) Sifosh FETEA 2

@) AT GEEA 2

M) AR THEE ©

¥) wHa Midd gE e g

Complete the following table correctly with the help of options given 14+14=1
below-

Crop Soil type Rainfall
Wheat ,

(@) Loamy soil, 75-100 cm
(b) Red soil, 30-75 cm

(c) Red soil, 75-100 cm
(d) Loamy soil, 30-75 cm

= feu T foshedl ¥ © Wl fashey IR qfcret i U Fifse-
HHA TR & THR ERl|

T S e
%) ge i, 75-100 ©.H

@) «« el 30-75 |

M) o i, 75-100 9

®) e faed, 30-75 HHl
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OR (319aT)

Which one among the following is not a feature of plantation
agriculture?

(a) Single crop farming
(b) Requires huge capital investment
(c) Crops are grown for sale in distant market

(d) Practised in thickly populated parts of the world.
frrefafed o iMel Qe S s fagvar T2 22

%) Tehel HHA il

@) IR geft Femer it eTevashdr B

M) HEA B R IR F fawt & ferg s S 2l
o) gl s ot arel fewd o erfreRat st @

Which one of the following age groups represents the adult population?

(@) Above 59 years
(b) 5 to 25 years

(c) below 15 years

(d) 15 to 59 years

= o @ FH @ g o S STEd H swiar 82
F) 59 HA 9 W

@) 5925 9 & 4

M 15 wa 9 A=

H) 15 9 59 9 & &4

In the question given below, there are two statements marked as
Assertion (A) and Reason (R). Read the statements and choose the
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correct option.

Assertion (A) :  Sex ratio is declining in India.
Reason (R) :  Infant mortality rate is still high in India.
Options :

(@) Both A and R are true and R is the correct explanation of A.
(b) Both A and R is true but R is not the correct explanation of A.
(c) Ais correct but R is wrong.

(d) Ais wrong but R is correct.

T T T g B R wed € FE @ T @ (A) q° TR H(R)
HROT % T § Afeha fman T 1 U9 I gFHE 9 ufeU IR IR & ®Y A
el fasen gl

el (A) - 9N § AT U e @R

HR R) - 9a ¥ forg g R a1eft o arfersk )

%) HU (A) R (R) IHAT T € A (R) T FF (A) HT T AT T
@) FU (A) 3R (R) IH FF & W (R) T HF (A) I T =R & 2

M) HUA (A) & ? (R) T T

H) HUA (A) Tod € Vg (R) Tl T

Who is the author of the book Anandmath? 1
T SHIHS & A HiA B2

Study the  picture given below and  answer  the
questions that follows. Vot12=1

= fiu U fo &1 e SR e fae wee % sw fawl




(@) By what name is this building popular?
F) IE TARG o9 AW ¥ uiag 27

(b) In which city is it situated?

& HH W e H fead 2

OR (319aT)

Alternative Question for visually challenged students in lieu of Q6.

T HHIS 6 b M W Ife-aifag wlafd & fau fasfers go1-

Name any two buildings in Mumbai built by the British.

ststt g1 TfHa gag # e fF=l <1 sAmal & W fatem)

Correct and rewrite the following statement.

Bal Gangadhar Tilak published a Vernacular newspaper ‘kesari’ in
Bengali.?

o oo

frfafed ®ed &l 3t Feh IA: fa

91 TR faetes 3 g arueEl STEeR ChEd’ i Sl Wi | YR
TR

Eu?

Correct and rewrite the following statement.

“The Sindia and the Bhosale supported the treaty signed
between Peshwa Baji Rao and the British. “
frefafead ®e &l 3w IH: fafen?

“Ffeen SR digel 3 Ul S R Sl % st gy GHEid & gqHedd
[EXRI

Read the following extract and answer the question given below

The aim of East India Company was to gain monopoly of entire trade
in East. The company come into conflict with other foreign traders and
hence built up its own administrative & military department.

(i) State the step taken by East India Company to gain monopoly of
trade in East.
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10.

frfafea 3] 1 999 ¥ 9fey 3R = fae 999 &1 W i)

3% sfear Sl o A g6 H R MR W THITYHR I hAl ol HEt
i W foeht =l & e god S 92l 39 faw 39 sy
e &= faam s fmior e

(i) @ ¥ MR W THIAHER T wH & fau = st<a s g/ o

T HSH 1 I iU

Match the tribes given in Column A with the region given in Column B.
Choose the correct answer from the options given below.

Column A Column B
a Khasis (i) Jharkhand
b Santhals ii) Orissa
C Khonds (iii)  Assam
d Mundas (iv)  West Bengal
L a-ii , b-iii , c-i, d-iv
I1. a-iii , b-i, c-ii, d-iv
I1I. a-iii, b-ii, c-i, d-iv
IV.  a-ii, b-iv, c-ii, d-i

HEH A B < T SESIGA T ko™ B H U MW &S & A % WY 9el
faem sifsl

HaH A EaL]
a et (i) ¥REe
b Herret iy s
c Gl (iii) =&\
d el (iv) 9f¥=m 9e
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11.

12.

L. a-ii , b-iii , c-i, d-iv

II. a-iii , b-i, c-ii , d-iv
II1. a-iii , b-ii , c-i, d-iv
IV. a-iii , b-iv , c-ii , d-i
OR (37974)

Find the incorrect option from the following.

(a) Inseventeenth century, trade with European nations was in favour
of India.

(b) British imposed very heavy duty on Indian goods.
(c) Indian craftsmen and artisans flourished under the British.

(d) There was decline in the National income of India during the British
rule.

= o 9 7o foshed o1 == i)

%) Haedl vl H ufvEH J9 % " SR HA 4R & fed § e
@) S 7 9Ra Ffd aget | 9Ol R amE

) IR EIRRl SR ffewal i & IeE #re | fawr e

¥) foafest s = 4 9Ra #1 U g § filEe S|

Indian adopted the path of
development from the pattern followed by USSR
qRA A Gifoad §9 g 0T U fashrd Higd & 3Ty
forehTe =Rl SToATAN

Fill in the blanks -

A State of emergency was imposed in 1975 by the then
Prime Minister of India..

ORA 1 dehlel= &= A3t q 1975 H SO i
YO i eft|
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13. Arrange the following in the chronological order and choose the correct
answer from the options given below

(i) India got Independence.
(ii) First Republic day was celebrated
(iii) Constitution of India was passed and adopted

(iv) Constituent Assembly was formed.

Options -
A. i,1v, iii, ii
B ii, iv, iii, i
C. iv, iii, i, ii
D

1,11, v, iii

FAfAfEd HeAl &l RS HH H Faiked s = fKu U fasmedt
H ¥ W&l IW H faswes g

) 9Rd i WA

W) 999 T feag TURE

) IR & GfauE w1 9Rka ud Aiied B
¥) Gfaum 991 1 T3A

IEETS

A iiviii
B ii, iv, iii, 1
C. iv, iii, i, ii
D

i,1i, 1v, iii
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14.

15.

Who among the following was not a member of the Constituent
Assembly?

a) Vallabh bhai Patel
b) Dr. Rajendra Prasad
c¢) Mahatma Gandhi
d) Dr. B.R. Ambedkar

frefafea § 9 o gfaum 9w &1 95 T8 ar?

) dead 9B 9o

) 2. TS GHIE

) HETE T

") T Wl SR sTEEHt

Among the following provisions, which one is not a provision of the
‘Right to Freedom’

(@) Freedom of Speech and Expression
(b) Protection of life and personal liberty
(c) Right to education

(d) Abolition of untouchability.

Frefafed yaum § 9 SF 9 IEUH CEand ® SeR’ ¥ Erd el e
%) fomm &R sifyeafad 1 wSda
@) Sfaa o st Todaan

) foem w1 AR

H) STEgEIAAl Sl SHHA
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16. Which one of the following options represent the subjects included in

17.

18.

19.

the “Union List’ ?

(a) Agriculture, forests, Public health.

(b) Defence, Foreign affairs, post office.

(c) Marriage and divorce, drugs & medicines.

(d) Computer Software, E-commerce, Information technology.
frefafed fasedl & @ ®F @ fakey S5 = & fawai =i <wiar 2
%) P, 9, T =

@) G, T waArerd, SRR

M) foare IR e, oA

) HE GRS, -k e, GEAT GrEifient

The Lok Sabha represents the and the
Rajya Sabha represents the states of India..
Wk | 1 gfaffae # 2 SR T5T 99 R &
Tl 1 WA w2

OR (37an)
The Union Government in India has three organs named the
legislature, the and the Judiciary
TG H kg R & A S o A faeme, Ciny
RIREIEIR

Explain the term ‘Collective Responsibility’
‘Hrfgsh-IaEIa’ i A It

Matchtheitemsgivenin Column A withthejurisdictionof courtsatdistrict
level in Column B from the options given below-

Column A Column B

A. The highest civil court in a district 1. Board of revenue
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B. The highest criminal court in a dis-

. 2. District court
trict

C. The highest revenue court in a district | 3. Subordinate court

D. The lower court at the district level 4. Sessions Judge
a) A4 B-2 C-1 D-3
b) A-2 B-4 C-1 D-3
c A3 B-2 C-1 D-4
d A2 B-3 C-1 D-4

FHi™ A H fa@ U weAl w1 wiaqw B H foe fSen =l & e
¥ wel faam wifse qen e Ry T fased & T@t 3@ aren fasked g

Hieq A $icd B

A. TSen TR &1 3= <A = 1. T faamt
B. fSell &R &1 =4 HisER =@ 2. fSen ==
C. TS =R =1 3=9 T e 3. TR =TT
D. f5fen 'R ® fael s 4, 99 S

a) A-4 B-2 C-1 D-3
b) A-2 B-4 C-1 D-3
0) A-3 B-2 C-1 D-4
d) A-2 B-3 C-1 D-4

20. Correct and rewrite the following statement.

21.

The concept of Public Interest litigation was devised by the Parliament of

India.

fa faSl e o

fFrefafed wed & 3t i IA: fafeu-

SHfed e 1 STEROT ! 9IRA H1 TGHE g T&d fha 2

“The quality and quantity of people of a country determine
its human resource.” Support the statement with the help of
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22.

23.

24.

25.

26.

two examples

fopedt 391 & AFE wEEEl w1 o s W % ol R gem SR e
R e e 81 FUA & ue H T S fotey

“Forests are the breathing lungs of the civilisation”. Justify the
statement with the help of two arguments.

“oq Rl e & faw wwel 1 9 B 21 A a9 S %A & g
wifsma) "’

OR (379d)

“Wildlife is very essential to maintain the ecological
balance on the earth’s surface”. Justify the

statement with the help of two arguments.
‘geeft W TIRfearfass Hqer sAT W@ % fou a=sian @ifd smavas 21
Teh! h! Tl ¥ HeA & g hifa

‘India can be grouped into three broad regions on the
basis of density of population’.  Explain with the help of

relevant examples. .
‘SO ® T B STYR W YRG! i A9 &5 § are s wehdl gl
YrEfTeh SSEON k! FerEdl § T Shifsq|

Describe any three measure made by East India Company
to become an Imperial power in India.

g § et vifed 991 & fau g st et g foew e fe=t d s
T U HITST|

OR (3{an)

Describe any three events that led to First Carnatic War.

YUH FAlesh g§ i AR o S Al TRl O SRRl 19U it
Explain any three features of Zamindari System..

ST Sereed i fehegl i forRIsietl =i =are whifey|

Highlight any three provisions of the Fundamental right “Right
against Exploitation”.
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27.

28.

29.

30.

Hifers tferl § ‘vivo & foeg fusr’ & & greur S ISR St

Highlight any three differences between the
composition of Lok Sabha and Rajya Sabha.

AFHFA AN TEHA & HoSH & o9 S dF SR ISR HITSU)

“Indian Judicial system is unified and integrated”. Support the statement
with three arguments.

‘URd 1 ATk SHeeN Ushel TS UHiFd 2l
T 9 T Sl YT i SfUd 38

OR (3an)

“Judicial Review is an important means of protecting and enforcing the
Right of citizens”. Support the statement with three arguments.

=qfeh qA:faciend ARl & ARl i @F] 3 T & wE R TH
Tequl qIEEH €1 He & uel § A qe et

Highlight any three objectives of Multipurpose river valley projects.
Name any four major multipurpose river valley project.

TgIeyd 7 et ufEsEet % el i SRl # SR iy S
TR g3eAd &I B gRASeT 1 AW fafem)
OR (372raT)

Highlight any five ecological problems caused by construction of large
dams.

S TiEl & T @ S g aTelt sl uig Wi TEenst # SR
TS

Explain any five effects of the relief and climate in the agriculture of a
particular place.

et T oo @t HfT W oel * wWasid @R Soag & q9 99l
AT hifSIu|

31. Who were known as Moderates in Congress Party during the freedom

struggle? Highlight any four demands of the Moderates.

[ 277 ]

3+2=5

2V2+21H
=5

1+4=5



HIUF It § fora ol TROdel A S on? Yt sl fhel IR 9 W
IR HIfST|

OR (3Aan)

Who were Radicals in Congress Party during the Freedom struggle?
Highlight any four steps taken by Radicals to encourage nationalism
among Indians.

HUH TS H AR A A2 A H TS i HEAT hl Al 4 % o
Y g1 felw W hiE IR eH ISR hifsd|

32. "The revolt of 1857 was started by a sepoy but eventually spread to other

33.

34.

parts of the country". Support the statement with five arguments.

1857 =1 fasie T fourEt g & fa T o W 9@ I & S 9
o %l T HUA & ue H U qe i)

Explain the following terms used in the Preamble of the Indian
Consitution :

Sovereign, Socialist, Secular, Democratic and Republic

O GFemT &1 g&ae | afvia frefafed vssl ot sanen Sifse:

Explain the process of electing the President of India and process of
impeachment.

YR & Ue2afd & Tt &1 Giwa i STUSEe i & WAl i oA
it

OR (319aT)

Explain financial and Judicial powers of the President of India.

IR & TeLaf i fafad iR =i wifeaal ) saren st
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(MAP SKILL BASED QUESTION)

35. (a) Two places A and B have been marked on the given outline political
map of the world.

Identify them and write their correct names on the lines drawn near
them.

A. (a) A region of low rainfall.
(b) A type of forest

B. On the same political outline map of the world locate and label the
following.

C. A highrainfall area in South America.

D. Tropical Evergreen forest in Africa.

TR & Tffd @1 JAfaT W S A0 (a) 99 (b) I T A
T THHN & YR W 3= YaHT qen 39 Tel 79 qHas | Sl T8
et w fafam)

&) (31) HH au e &5
() o HT TH THR

W) SH TR & UeHiqe AFrad W Efafad i 2Afea wifsa gon s9em
W fafeg

) <faror sTedteRT sifere ut Atem &

) STHIhT hl I HaeRd a1
Alternative Questions for visually challenged students in lieu of Q No. 35.
35.1 Name one low rainfall area of gulf region.
35.2 Name two countries where deciduous forests are found.
35.3 Name one high rainfall area of Africa.

35.4 Name two animals found in evergreen forests.
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U9 35 % M W gfe aifyq famneffal & foru denfers we )
35.1 Wet 39 & el U %9 99 9 &7 &1 9 fafau)
35239 X 39 & AW fafe swT SRl wirrd o9 a2
35.3 STl o Afyek aui ot &= 1 94 fafe)
35.4 TRERA a4 § 9T S ot TRl ’ Ssia-sigen & 9 fafem)

RID POLITICAL ____ WIADeL Tes7 PAPERIT  wem-rorifoves

L T e

1 e ST e i
| - = it - & o [ [ s
‘, e it sl
‘ - = ——— ' T St e 0 bt 1 Gt o e Croorig 4. 9971
- S i Sen W b S WOErTOSb baedne |unmmnmr |l.nr m.:usr_."
Vo ke - T, B
- [ rr—

i ek in W‘irvﬁc—-

Q 36. On the outline political map of India locate and label the following-
a) Gwalior - The place where Tantya Tope led the revolt of 1857.

b) Lucknow - Moderates and radicals reunited and signed a joint pact.

R & qoHifae AFres R efafaa i sifera sifse gen s9eh1 9™ of
fafeEm|

) TIfePR-a8 TF ¢ Sl 9 aen A9 q 1857 & fagiE w1 A9 fman
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q) TES-d M ¢ el WAuell qen TRegelt T 3 Uhae BieR @ign
T R g&deR fau

Alternative question for visually challenged students in lieu of Q.No. 36

36.1 Name the place from where Begum Hazrat Mahal led the revolt of
1857.

36.2 In which city of India Mrs. Annie Beasant established the Home
Rule league?

U9 36. % M W gfe aifvq faemfial & foau defers g

36.1 SH I 1 79 9d15C SE1 9 9H TSR Hed 7 1857 & foage @

g fwam

36.2 9Rd & frd X § it U 99 | ‘T ®e A S T
H1?

of i Copyright

b e i a0 ramane Published by: VIDYA MANDIR
Whd, Whet Nagar, New Deilii- LRLTE

Clnes Roll No. Price: T 2.00
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SOCIAL SCIENCE

(Model Test Paper - II)
Maximum Marks : 80

MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

S Marks Allotted
' VALUE POINTS / KEY POINTS to each value Total Marks
No. Point/Key Point
1. | (b) Inexhaustible
1 1
(Pg2)
2. [(a) Loamy Soil, 75-100 cm
(Pg 53)
OR 2+ 1
(d) Practised in thickly populated parts of the
world.
(Pg 51)
3. [(d) 15 to 59 years
1 1
(Pg 87)
4. |[(b) Both A and R is true but R is not the cor-
rect explanation of A 1 1
(Pg 88)
5. [Bankim Chandra Chattopadhyay
1 1
(Pg 96)
6. |a) Gateway of India
2
b) Mumbai 1
2
(Pg 97)
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Marks Allotted

5 VALUE POINTS / KEY POINTS to each value Total Marks
No. Point/Key Point
Note |For Visually Impaired Students
a) Gateway of India
Y2 1
b) Victoria Terminus
2
(Pg 97)
7. | Bal Gangadhar Tilak published a vernacular
newspaper ‘Kesari’ in Marathi. 1 1
(Pg 96)
8. [The Scindias and the Bhosles opposed the
treaty signed between Peshwa Baji Rao and
the British. 1 1
(Pg 107)
9. | Built up its own administrative and military
department. 1 1
(Pg 102)
10. |Option 1V a-iii, b-iv, c-ii, d-i
(Pg 117) 1 1
OR
Option C - Indian Craftsmen and artisans
flourished under the British. 1
(Pg 119)
11. [Planned
1 1
(Pg 176)
12. | Mrs. Indira Gandhi
1 1
(Pg 176)
13. |Option A - (i), (iv), (iii), (if)
1 1

(Pg 173-175)
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Marks Allotted

5 VALUE POINTS / KEY POINTS to each value Total Marks
No. Point/Key Point
14. | c) Mahatma Gandhi
1 1
(Pg 185)
15. | d) Abolition of Untouchability
1 1
(Pg 196)
16. |b) Defence, foreign affairs, post office
1 1
(Pg 208)
17. |People of India
(Pg 209)
OR 1 1
Executive
(Pg 207)
18. | All the ministers become equally responsible
to defend their acts and decisions. 1 1
(Pg 224)
19. |b)A-2,B-4,C-1,D-3
1 1
(Pg 237)
20. | The concept of Public Interest litigation was
devised by Supreme Court of India. 1 1
(Pg 238)
21. | 1. Healthy and well educated people contrib-
ute to their societies in positive ways.
2. Malnourished and illiterate people cannot
contribute much to their respective societies. 1.5+1.5 3

3. Human resources are well developed in
Japan as people are skilled and technically
developed where as African nations are less
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Marks Allotted

5 VALUE POINTS / KEY POINTS to each value Total Marks
No. Point/Key Point
developed inspite of being rich in resources.
(any two or any other relevant Point)
(Pg 4)
22. |1. Forests help us to breathe by converting 1%+ 1Y%
carbon dioxide into oxygen.
2. They provide safe habitat to the wild ani-
mals.
3. Large forest cover helps in causing rainfall.
(Any two or any other relevant points)
(Pg 25)
OR
1. Wildlife is important for its aesthetic val- 3
ues and ecological balance.
2. The beauty of wild animals boosts tourism
and creates jobs for the people.
3. Animals behaviour changes at the time
of natural disasters like tsunami and earth-
quake. This information can be harnessed for
imparting early warning system.
(Any two and any other relevant point)
(Pg 26)
23. | 1. States with low density of population e.g. 1
Arunachal Pradesh, Mizoram
2. States with moderate density of population 3
e.g. Odisha, Gujarat 1
1

3. States with high density of population e.g.
Bihar, West Bengal
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Marks Allotted

5 VALUE POINTS / KEY POINTS to each value Total Marks
No. Point/Key Point
(Any other relevant examples)
(Pg 83)
24. | 1. Took over political control. 1
2. built up its own military and administra- 1
tive departments.
3. took over governance of Bengal, Madras
and Bombay
4. introduced the policy of 'divide and rule'. 1
5. introduced the policy of subsidiary alli-
ance.
(Pg 102) 3
(Any other relevant point)
OR
1. It was result of Austrian Succession. War 1
between Austria and Prussia.
2. Commodore Barnet, the British Naval of-
ficer arrived in India with troop but French 1
proposed peace.
3. Commodore Barnet returned to England,
but French General Dupleix attacked Madras. 1
25. |i) Zamindars were made the owners of land. 1
ii) They were forced to pay 89% of total rev-
enue to the British government. There own ’ 3

share was 11%

iii) Zamindars had power to evict any culti-
vator of soil due to non-payment of revenue.

[ 286 ]




VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key Point

Total Marks

iv) Cultivators who till now enjoyed some
rights, were now reduced to status of tenant
on land

v) Land revenue share between the British
and Zamindars was fixed permanently

(Pg 112,113,120)
(Any three points)

(Any other relevant point)

1

26.

Right against Exploitation

i. Prohibition of traffic in human beings.

ii. Prohibition of all forms of forced labour
and beggar.

iii. Prohibition of employment of children be-
low the age of 14 years in any factory, mine
or Hazardous occupations.

(Pg 197)

3x1

27.

Lok Sabha - The house of the people

i) The maximum strength of the Lok Sabha
shall not exceed 550

ii) Out of 550, 530 members are directly
elected by the people from different states,
where as the remaining 20 are elected from
the Union Territories.

iii) In the Lok Sabha, the President of India
has the power to nominate two members
from Anglo-Indian community.

Rajya Sabha

i) The maximum strength of Rajya Sabha is
250

3x1
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No.

VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key Point

Total Marks

ii) Out of 250, 238 members are elected from
the states and union territories by the elected
members of the State Legislative Assemblies.

iii) Twelve members are nominated by the
President of India, who excel in various fields
of art, science, sports etc.

(Pg 210,212)

28.

i) Supreme Court has power to supervise and
control the working of entire Judicial system
in India.

ii) The Supreme Court at the apex is the high-
est judicial authority followed by the High
Courts in the states and then the subordinate
courts in every district.

iii) The lower courts are controlled and su-
pervised by the High Courts.

(Any other relevant point)
(Pg 231)
OR

i) Judicial Review is the power of the Su-
preme Court to review the laws enacted by
the Parliament or the State Legislature.

ii) It ascertains whether they are in confor-
mity with the provisions of the constitution
or not.

iif) Any law declared unconstitutional, im-
mediately ceases to remain in force.

(Any other relevant point)
(Pg 235)

3x1
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VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key Point

Total Marks

29.

Objectives of Multipurpose river valley proj-
ects

i) Irrigation
ii) generating hydroelectricity
iii) flood control
iv) afforestation
(Any other relevant point)
Major multipurpose river valley projects -
i) Damodar River Valley Project
ii) Hirakund Dam in India
iii) Aswan in Egypt
iv) Hoover Valley project in USA
(Pg 15)

OR

Ecological problems caused by construction
of large dams

i) Extensive forests submerged under water.
ii) Aquatic life gets affected

iii) River water gets diverted

iv) Result in soil erosion

v) Population gets displaced

vi) During excessive rain, floods are caused
(Any five points)

(Any other relevant point)

(Pg 16)

1+1+1+1+1
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VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key Point

Total Marks

30.

Relief : Plains are more suitable for agricul-
ture than the highlands. Density of popula-
tion is generally high in plains. This helps in
providing cheap labour and market for farm
products. Moreover, it becomes easier to use
modern equipments on plain regions, where
as it is difficult to use machine on rugged to-

pography.

Climate : Agriculture is highly sensitive to
climate variability. Each crop has its own re-
quirement of temperature & rainfall. That is
why, the variation in climatic conditions sup-
ports different crop patterns.

(Any other relevant point)
(Pg 48)

2% +21

31

Moderates had complete faith in the British
and adopted moderate methods of Prayer,
Petition and Protest to pursue their goals.

There main demands were to-

a) have representative institutions in the
whole country for the welfare of the people.

b) create provincial legislative councils in all
provinces.

¢) recruit Indians for higher positions in the
administration

d) hold Civil Services Examination in India.

e) ensure the growth of Indian industries and
handicrafts

(Any four points)
(Any other relevant point)
(Pg 157)
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VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key Point

Total Marks

OR

Radicals did not believe in appeals but in ac-
tions - protests, hartals and slogans. They
propogated Indian Culture and Hinduism.

Steps taken by Radicals to encourage nation-
alism were:

i) love for swadeshi goals

ii) participation in mass rallies to boycott for-
eign goods

iii) boycott of government services, schools
and colleges.

iv) surrender of titles conferred by the Brit-
ish.

(Pg 158,159)

32.

i) The sepoys broke out into an open revolt at
Meerut and then marched to Delhi.

ii) The revolt then spread to other places such
as Kanpur, Awadh, Jhansi, which was the
main centres of revolt.

iif) Afghans and the Gurkhas remained loyal
to the British.

iv) Peasents and the artisans gave the revolt
its real strength.

v) The revolt also spread to Bareilly, Agra,
Baneras and other places.

(Any other relevant point)
(Pg 129)

1x5

[291]




VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key Point

Total Marks

33.

Sovereign : India is a sovereign state because
the country is free from all external controls.
Internally we are free to take our decisions.

Socialist : India is against exploitation in all
forms and will try to establish economic jus-
tice.

Secular State : All religions enjoy equal free-
dom. No discrimination is made on grounds
of religion.

Democratic State : Our government is elected
by the people and the administration of the
country is run by the elected representatives.

Republic : The head of the state, i.e. our Pres-
ident is an elected head from amongst the
people.

(Pg 189)

1x5

34

Election of the President :

i) The President of India is elected indirectly
by an Electoral College consisting of only the
elected members of (a) Lok Sabha (b) Rajya
Sabha and (c) Legislative Assemblies of the
States.

Nominated members of any House do not
participate in the election of the President.
The election is held in accordance with the
Single Transferable Vote System of Propor-
tional Representation.

Impeachment Process

If a President violates the Constitution, She/
he can removed from office by a resolution of
impeachment, which is passed by both

21421
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VALUE POINTS / KEY POINTS

Marks Allotted
to each value
Point/Key Point

Total Marks

the House of Parliament by not less than two,
third majority of the total membership.

(Pg 220)
OR

Financial Powers of the President :

The annual budget of the country is pre-
sented in the Parliament in the name of the
President. All money bill, require her/his ap-
proval before they are introduced in Lok Sab-
ha. He has the power to appoint members of
the Finance Commission. In case of extraor-
dinary situations, the President can sanction
money to the government out of contingency
fund to meet the situation.

Judicial Powers :

All the Judges of the Supreme Court and the
High Courts, including the Chief Justice. On
appeal for mercy, the President has the pow-
er to reduce the sentence or grant pardon.
He/She can change the death sentence or can
postpone it also.

(Pg 222 & 223)

35.

(a) Central Asia

(b) North Canada (Temprate Softwood For-
est)

(c) Equatorial regions of South America

(d) Africa (Tropical Evergreen Forest)

1+1+1+1
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S Marks Allotted

VALUE POINTS / KEY POINTS to each value Total Marks
No. Point/Key Point
For Visually Impaired/ Challenged Candi- 1x4

dates

35.1 Arabian

35.2 India, Myanmar, Brazil

35.3 Congo basin

35.4 Elephant, Lemur,Monkey, Deer.

36. | (a) Gwalior
(b) Lucknow

For Visually Impaired/Challenged Candi- 5
dates

36.1 Lucknow
36.2 Madras

-

-

1 -

[ — — e 2

— — Pecun Boon SEPOT aar nouser
[y
0

= "-.'h-"m"‘-"‘-‘I-ﬂ-m_-‘—-r-ﬂﬂﬂ'—t'ummt'nh—‘——-lmhw Y Peesesor Rosc Deee 1) DoDe
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L

IIL.

Sfaen forem

&g
Yeforeh HEw T 3evd
Sega | foaga sl | < sl | e | erfaerrda TH T |9
3k Ffaerd 31.25% 25% 18.75% 12.5% 12.5% 100%
A 25 20 15 10 10 80
II. 991 &1 Sfidhd Hewd
Tel & YR | foega S0 | Selkady | emdd | eifaeEmdE | we v | AW
TYAl St & 5 5 5 5 10 30
A 25 20 15 10 10 80
TP H Ao
3T A i & A A
1. |3 == (7Y Td "75d) 2
2. |SYR w1 FAYR AW (33 I HEW, A3 SU & ) 6
3. | sy (ereh) 1
4. | = T velw (31ed U SEEA) 4
5. |t W9 T g9 (R w1l Afedn, s1ed ud eny) 6
6. |TEHRG 99 (3TMAYIAHAl, e TS IYAMTEr) 6
7. |usamw &= (savEeRdl, HEw TH TUM) 6
8. |Tod HeER (A, URHm, 3TvF W ) 6
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DHARMA SHIKSHA (ENGLISH MEDIUM)

DESIGN
I.  Weightage to form of questions :
Type of Questions| MCQ SA1 SAII LA Total
No. of Questions 10 6 11 5 32
Total Marks 10 12 33 25 80
II. Weightage to Content : Annual Examination 2020-21.
S. No. Name of Units/ Chapters Allotm.ent of total tea.chmg Weightage
periods month wise Marks
1 |All about God March : 2 6
2 | The Vedas April : 3 6
3 [What do the Vedas Teach us? June : 3 6
4 |What is Dharma? July : 5 9
5 | The Five Yajnas August : 5 6
6 | A Balanced life. Its Four stages. September : 4 6
v Rishi Dayapand : The Founder of October : 3 10
Arya Samaj
3 The ten commandments of Arya November : 4 5
Samaj
9 Beliefs and precepts of Swami Day- December : 4 3
anand
10 [The Martyrs of Arya Samaj January : 2 8
11 Mahatrpa Hansraj and Value - based January : 2 10
Education
Toral 80

III. Weightage to difficulty level :

1. Difficult questions  :15%
2. Average questions  :45%
3. Easy questions :40%
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IV. Expected length of answers to different types of questions and time management :

. Expected length of Expected time for
S. No. Type of Questions P Answelfgt er;ch question
1 |Long Answer (LA) 80-120 words 15 minutes
2 |Short Answer (SA-II) 50/35-40 words 9/6 minutes
3 [Very Short Answer (SA-I) 1 word to 1 sentence 2 minutes
4 Multiple Choice Quetions One word answer 1 minute
(MCQ)

V. Weightage of Marking :
a. Theory : The written examination will be of 80 marks.
b. Internal Assessment (20 Marks)

INTERNAL ASSEMENT
Total
S. No. Tools of Internal Assement Weight-
age (20
marks)
Periodic Test / Pen and paper test. The periodic tests will be
1 |conducted at School and the average of the best two will be| 5 marks
reduced to 5 marks for internal assessment
Multiple assessment for each student to be done by using the
) tools of observation, oral test individual/group work, field 5 marks
work, class discusion (Quiz, debates, role play, bulletin board
etc.)
3 S.ubjetct En?ichment Activities: (Assessment of speaking and 5 marks
listening skills)
Portfolio
a.) Journal
b.) Notebook (to display exemplary work)
c.) Assessing the Portfolio (Guidelines for teacher)
4 o . 5 marks
*  Organisation: (Neatness & visual appeal)
*  Completion of guided work focused on specific
curriculum objective.
* Evidence of students growth
* Inclusion of relevant work.
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VI. List of selected topics for Projects / Activities :

S. No. Subject Enrichment Activities 5 Marks
1 [Recitation of two Geeta Shlokas (Compulsory) 2M
2 [Write a brief Note on Veda-meaning & types 3M

Gayatri Mantra - meaning, importance and how and when
3 . 5M
should it be performed.
4 |D.A.V.Song - Recitation (given in students diary) 3M
Cross words puzzle on five Yajnas / Ashram Dharmas /
5 3M
Varna System
Enacting real life situation based on Dharma / Religion /
6 3M
Caste
7 |Yajna: meaning, importance, Connotation and types 5M
8 |Shloka Recitation and performance of Havan (Compulsory) 2M
9  |Stories related to Moral Values 3M
10 [Rythmic singing of National Anthem 3M
11 [10 Commandments / Principles of Arya Samaj 5M
12 |Enact on any harmful Social customs of India 5M
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DHARMA SHIKSHA (ENGLISH MEDIUM)
(MODEL TEST PAPER - I)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :
1. All questions are compulsory.

2. Write the same serial number against your answer as given for the question in

the question paper.

Q. No. 1 to 10 carries 1 marks each.
Q. No. 11 to 16 carries 2 marks each.
Q. No. 17 to 27 carries 3 marks each.
Q. No. 28 to 32 carries 5 marks each.

AN L

Choose the right option and write the answer for question No. 1-10.

1. The sun, moon, mountains and oceans are created by - 1
(@) Man (b) God (c) Plants

2. The root word of Sanskrit Vid means :- 1
(a) Vedas (b) to know, to learn (c) knowledge

3. WhH HigHl ERE| 1
(a) A= (b) sIg# (c) S

4.  The author of the great epic Mahabharata :- 1
(@) Swami Dayanand  (b) Rishi Kanad (c) Maharshi Veda Vyasa

5. is an important concept and teaching the Vedas. 1
(a) Yajna (b) Daan (c) Sanskaras

6. A is highly respected in our society for their scholarship and 1
selfless service.
(a) Teacher (b) Student (c) Sanyasi

7. Name the ancient text which explain the meaning of Arya. 1
(a) Mahabharat (b) Vasistha Smriti (c) Ramayana
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10.

11.

12.
13.
14.
15.
16.
17.
18.

19.

20.
21.
22.

23.

Shabda Kalpadrum, explain the word as venerable, esteemed,
religious etc.
(a) Samaj (b) Arya (c) Yojna

Who has offered the value based education steeped in Indian culture to
the children of India?
(a) Mahatma Hansraj  (b) Swami Shraddhanand (c) Mahashay Rajpal

Who started for the first Arya Kanya Mahavidhyalaya at Jalandhar?
(a) Lala Bala Raj (b) Mehar Chand (c) Lala Dev Raj

Complete the following Vedic statement and write its meaning,.
2 B L O O PP

How many Vedas are there? Name them.

What do the Vedas propound regarding God?

Name any two connotations of Yajna.

What is the purpose of dividing life into Ashramas?

Where and when was Rishi Dayanand born?

How do we benefit by remembering that God exisits within us?

Did God give the Vedic knowledge through paper, pen and ink? If not, how
did He do so?

Complete the following in one word:

(@) The Vedic theory of is now being accepted the world over.

(b) A person attain and eternal joy by worshipping God by his
good deeds.

() is the world given in Sanskrit for the formless God.

What is the difference between Dharma and Religion?
Write any six festivals which should be celebrated by the Aryas.

In how many stages have been divided the average age of a man? Have
these stages in life been given any particular names?

What did Swami Dayanand do to achieve the task of spreading the Vedic
Dharma?
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24.

25.
26.

27.
28.

29.

30.

31.

32.

Complete the following Shloka and write the meaning

What are Swami Dayanand's views about democracy?

(1) Who was the first Martyr of Arya Samaj?
(2) Who was Jagnanath?
(3) What did Swami Dayanand do to him?

What are the special features of DAV School?

Mention any five aspects of Dharma which one should follow in life?
Explain the meaning of those aspects.

OR
What is the meaning of Gayatri Mantra? Why is it considered so important?
How did Swami Dayanand pass away?

OR

What kind of troubles Swami Dayanand had to face in his task of spreading
Vedic Dharma?

Write about Swami Dayanand's views regarding the national language of
the country.

OR
Write about Swami Dayanand's views about caste systems of India.
Write a short note on Pt. Lekh Ram.

OR

Who was the third martyr of Arya Samaj and mention his contrubution
towards Arya Samaj.

Write any 5 projects and plans being undertaken by DAV Institutions.
OR

Give a brief life sketch of Mahatma Hans Raj.
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DHARMA SHIKSHA (ENGLISH MEDIUM)
(MODEL TEST PAPER - I)

MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgri S
Point/Key
Point

1. (b) God (T.B. Page No. 7) 1 1
2. (b) to know, to learn (T.B. Page No. 10) 1 1
3. (b) 81 (T.B. Page No. 13) 1
4. (c) Maharshi Veda Vyasa (T.B. Page No. 18) 1 1
5. (a) Yajnas (T.B. Page No. 24) 1 1
6. (c) Sanyasi (T.B. Page No. 31) 1 1
7. (b) Vasistha Smriti (T.B. Page No. 37) 1 1
8. (b) Arya (T.B. Page No. 37) 1 1
9. (a) Mahatma Hans Raj (T.B. Page No. 51) 1 1
10. (c) Lala Devi Raj (T.B. Page No. 52) 1 1
11. | ¥ dh 3¢ a9 1+1 | 2

- Your worship and prayer, Oman, should go to the one

and only God. (T.B. Page No. 8)

12. [ - 4 Vedas

- RigVeda 1+YatVa

- Yajur Veda Va+y 2

- Sama Veda

- Artharva Veda (T.B. Page No. 10)
13. - God as one, Omni present, Omni potent just 2 2

and merciful. We must all worship only him.
(T.B. Page No. 12)
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
14. - Deva Puja - honouring the learned one and God. 1
- Sangati karan - working together. (T.B. Page No. 24) 1 )
15. [ -  To live human life according to one's age requirements, 2 2
fulfil one's duties in the best possible way, make progress
and attain life's ultimate aim. (T.B. Page No. 28)
16. |-  Tankara is Gujarat
- 1824 (T.B. Page No. 32) 2
17. [ -  We will never commit a sin
- Never think ill of others
- Never steal 1 3
- Never speak lies (any three)  (T.B. Page No. 7)
18. *  God is present in every human being
* He enlighted their hearts with the knowledge of the
Vedas.
* An omni present and all powerful. God does not need . 3
paper, pen and ink, nor speech to do so.
(T.B. Page No. 11)
19. (a) The Vedic theory of Rebirth (T.B. Page No. 15) 1
(b) Liberation (T.B. Page No. 14) 1
(c) Nirakara (T.B. Page No. 14) 1 3
20. * Dharma is a wider concept applicable to all life and 1Y%
humanity.
* Religion is limited to a set of ideologies and rituals 1Y2 3
practised by a certain community. (T.B. Page No. 19)
21. | ¢ New Year Y
* Ramanavami Ya
e Sri Krishna Janmashthami Y2
e  Shivaratri Y
e Deepawali &
*  Vijaya Dashami (T.B. Page No. 27) V2 3
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
22. *  4stages 1
* Ashramas ¢ Brahamacharya 2 3
* Grihasta
* Vanaprasta
* Sanyas (T.B. Page No. 28)
23. * Swami Dayanand travelled throughout the country-old 1
centres of Hindu religion.
* Discussing eradication of social ills. 1
*  Denouncing idol worship 1 3
* exhorting people to shed non-vedic practices
(T.B. Page No. 34)
24, | HIAHEA FEH, ThAATAE| 1%
fasefa ypamR, ¥ g o sfa wa:|
A righteous person who always does the right thing and never 1Y2 3
does a wrong, is called an Arya. (T.B. Page No. 37)
25. * People should always see that their country is 1
administered not by a single invididual, but by councils
* No single individual should be invested with absolute
power.
* Laws should be free in matters relating to individual 1
well being.
* Law makers to work together and make good laws and 1 3
all abide by these laws. (T.B. Page No. 41)
(any three points)
26. (1) * Swami Dayanand Saraswati 1
(2) *Jagannath was Swamiji's own trusted cook.
(3) ®*Swamiji forgave him (the cook) and gave him sufficient
money to facilitate his escape to Nepal. (T.B. Page No. 48) 3
27. * The DAV School run as a blend of ancient and modern 1

system of education.
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Marks

;(')_ VALUE POINTS / KEY POINTS Allotted to I\T[giils
Point/Key
Point
The best in the Indian tradition as well as the best in 1
modern science and technology are amalgamated.
DAV college trust is the largest non-govt educational 1 3
organization having a reputation for academic excellence
and character building. (T.B. Page No. 54)
28. Dbriti :- Patience, to stay calm and not to lose heart 1
when in difficulty.
Kshama :- Forgiveness to forgive a person who makes a 1
mistake.
Dama :- To control one self when in distress or under 1
temptation.
Satya :- To always speak the truth, not to be tempted by 1
any allurements in the path of truth.
Alrodha :-Not to get angry by any provocation and 1 5
to keep one's calm under all circimstances (any other
aspects) (T.B. Page No. 20)
OR
Gayatri mantra is an invocation and a prayer to the 1
Almighty for giving the right direction and inspiration
to our intellect and mind.
We pray that our mind should always remain on the 1
right path.
Gayatri Mantra holds the key to the progress, peace and 1
prosperity of mankind.
Through the Gayatri Mantra, one prays to the Almighty 2
for purity of intellect, mind and heart which eventually
leads to happiness and fulfilment in life.
(T.B. Page No. 23)
29. Swamiji passed away on 30 October, 1883 in Ajmer the 5

Raja of Jodhpur was involved with a court dancer and
Swamiji did not like it and on one occasion scolded the
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
Raja. The dancer felt insulted and decided to take
revenge and she planned to poison him with the help
of cook. Boils erupted all over Swamiji body, giving
him serve pain and he was taken to Ajmer for treatment,
but could not be saved. (T.B. Page No. 36)
OR
Poison was given to him quite a few times by his 1
opponents.
Stones, filth, abusive language were aimed at him a 1
number of times.
He was not only brave and courageous, he had great 1
power in his body, acquired by practising Brahma
charya.
He could answer his adversaries in the same coin when 1
necessary.
He never took to violence and faced every opposition 1
calmly. (T.B. Page No. 35)

30. Swami Dayanand felt that Hindi being the most 1
extensively spoken and under stood among all the
indigenous languages.

He realised that the Indian students should not be 1
burdened with a foreign medium and all the instructions
should be imparted in country's own language.
He warned the country not to give it priority over 1
one's mother tongue and the national language.
He says "First study the works bequeathed to you by 1
your Rishis, digest the philosophy, assimilate their
thoughts and then supplement such a kind of oriental
learning by accidental knowledge.
1 5

He added not to neglect English as it is the 'Raj-Bhasha'
(T.B. Page No. 46 & 47)
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
OR
Swami Dayanand had far signted vision to see that 1
caste is greatest curse for India.
The distinction of high and low caste had reduced 1
million of Indias sons and daughters being
untouchables'.
He raised his mighty voice against the theory of caste 1
which he pronounced as unvedic.
He declared that every man should be treated equally.
Classification in the society should not be based on 1
hereditary or birth right, but on the qualities and actions
of an individual. (T.B. Page No. 43 & 44)

31. Pt. Lekh Ram was second martyr of Arya Samaj. 1
Killed by a fanatic muslim 1
Was a writer and preacher, devoted to the course of Arya 1
Samaj.

Wrote a large number books in Urdu on the principles 1
and practices of Vedic religion.
Was a fearless speaker and engaged himself in the 1 5
re-conversion (Shuddhi) of muslims to Hinduism.
(T.B. Page No. 48)

OR
Swami Shraddhanand 1
the founder of Internationally acclaimed educational 1
institution, Gurukul, Kangri, Haridwar.
He had a dream of providing education based on Indian 1
values and culture to the young boys from class one
to graduation.
He was equally involved in freedom movement and 1

one was the prominent leader of INC.
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point

Mahatma Gandhi was very much impressed by his 1
selfless work for the Gurukul and the congress that he
gave him the title of Mahatma. Any other relevant
points. (T.B. Page No. 49)

32. Establishing and mananging public school for public 1
and private sector under taking.
Starting network of Ashram schools and vocational 1
centres.
Provision made for admitting the tribal students in the 1
job oriented professional courses.
Providing free education, transport, uniforms, books, 1
afternoon snacks to the under-privileged sections of the
society.
A centre for mentally and physically challenged children 1 5
under Manovikas programme. (T.B. Page No. 54, 55, 56)
Any other relevant points

OR

Mahatma Hansraj was born on 19th April, 1864, Bajwara 1
village in Hoshiarpur district of Punjab.
Was educated in Lahore and was selected as the first 1
head master of DAV School.
He devoted his whole life to the mission of running 1
the school without any remuneration for his services.
His elder borther shared half of his salary to support 1
his family.
He led a most simple life, working day and night for the 1

welfare of the school and its students.

(T.B. Page No. 53)
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DHARMA SHIKSHA (ENGLISH MEDIUM)
(MODEL TEST PAPER - II)

Time Allowed : 3 Hours Maximum Marks : 80

General Instructions :

1.

AN L

All questions are compulsory.

Write the same serial number against your answer as is given for the question in

the question paper.

Q. No. 1 to 10 carries 1 marks each.
Q. No. 11 to 16 carries 2 marks each.
Q. No. 17 to 27 carries 3 marks each.
Q. No. 28 to 32 carries 5 marks each.

Choose the correct option and write in the bracket provided.

1.

How many Gods are there? () 1
(a) one (b) two (c) many

The hearts of the Rishis were () 1
(a) innocent (b) polluted (c) pure

The meaning of Omnipotent is () 1
(a) all powerful (b) present everywhere (c) merciful

The dimensions of Dharma are in number. () 1
(a) six (b) four (c) two

Brahma Yagna means () 1
(a) performing Vedic Havan

(b) performing Sandhya

(c) looking after the well being of the elders.

Which ashrama is the most challenging phase of life? () 1
(a) Vanaprastha (b) Sanyasa (c) Grihasta

Who founded the Arya Samaj? () 1

(a) Swami Shraddhanand (b) Swami Dayanand  (c) Swami Hansraj
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10.

11.

12.
13.
14.

15.
16.
17.

18.

19.
20.
21.
22.
23.
24.

The Supreme duty of all the aryas is ------- ()
(@) To read and understand the epics

(b) to read and understand vedas

(c) to read and understand all the books

When was Swami Dayanand Anglo. Vedic College Trust and Managing
Society registered ?()
(a) 1864 (b) 1886 (c) 1868

was the headmaster who worked without renumeration for
his services to DAV. ()
(a) Mahatma Hansraj  (b) Swami Dayanand  (c) Swami Virjanand

Write the meaning of the sloka.

TRl 39 HYAY T[E:| Teeard el i
When did God give us the knowledge of the Vedas?
What else do the Vedas teach?

What do you mean by Sanskaras and how many Sanskaras are to be
performed during a person's life time?

What is the ultimate aim of human life?
When did Moolji take to Sanyas and what new name was given to him?

"Bhagwan'" is the word used by many people before the names of Rama,
Krishna, Buddha and others. Are they incarnations of God? Does God take
birth as 'Avtar' in human or any other form.

Do the Vedas belong to human beings of any one country or race in
particular?

How should one lead life according to vedas?

Why is Gayatri Mantra considered so important?

What is Bali Vaishvadera Yajna?

What is the purpose of dividing life into Ashramas?

Write the name of any three books written by Swami Dayanand.

The ten commandments have a universal appeal. Give reasons.
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25.
26.
27.

28.

29.

30.

31.

32.

Write Swami Dayanand's views on Swadeshi justify the statement.
Who is called 'Arya Musafir'? When and by whom was he killed?

Name any three projects and plans being undertaken by DAV College

Managing Committee.

What is Dharma? Name the four dimensions of Dharma Explain any one

Dharma.

OR

Write a short note on first two Dharmas.

When did Mool Shankar lose faith in idol worship and how did he acquire

true knolwdge.

What events in Moolji's life influenced him towards renunciation and made

him leave his house?

What were Swami Dayanand's views about other harmful social customs of

India.

What are Swami Dayanand's views about Democracy?

OR

OR

Write a short note on Mahashay Rajpal

OR

How was Swami Dayanand killed?

Who was the pioneer of education in India? What are his contributions to

Arya Samaj.

When was the first DAV School started? Name the visionaries and patriotic

men who led the movement.

OR
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DHARMA SHIKSHA (ENGLISH MEDIUM)
(MODEL TEST PAPER - II)

MARKING SCHEME / HINTS TO SOLUTIONS
(Note : Any other relevant answer, not given herein but given by the candidates,
be suitably awarded. )

Marks
S. Allotted to| Total
No. VALUE POINTS / KEY POINTS each value Mgri S
Point/Key
Point
1. (a) 1 1
2. 10 1 1
3. (@) 1 1
4. (b) 1 1
5. (b) 1 1
6 () 1 1
7. (b) 1 1
8. (b) 1 1
9. (b) 1 1
10. (@) 1 1
11. | God is one and only one, hidden within all human beings. 1+1 2
He is omni present and exists in the hearts and souls of all
beings. (Pg. 8)
12. | God gave the knowledge of the vedas to the rishis at the 1+1 2
beginning of human life.
13. | Vedas teach us that one should regard God as his parent and 1+1 2
every human being as his brother or sister and help them in
whatever way possible. (Pg. 14)
14. | Sanskara means purification 16 Sanskaras are to be performed 1+1 2
during a person's life from birth till death (Pg. 27)
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Marks

o VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
15. [ The ultimate aim of human life is to attain peace and merge his 1+1 2
identity with the Almighty after leading a full and meaningful
life.
16. | Swami Poornanand Saraswati initiated him as a Sanyasi and 1+1 2
named him as Dayanand Saraswati.
17. e Out of deep regard for them. 1+1+1 3
*  Asthey have God like qualities.
*  God does not take either human or any other form.
*  God is shapeless, omni present, omniscient etc. (any three
points) (Pg. 9)
18. | No. they belong to all the human beings of the whole world. 1+1+1 3
The aim is to provide true knowledge and happiness to all of
them.
God is father to all human beings of the whole world, not to
any race or country. So everyone who desires to become a
good human beings has to read them.
19. * The Vedas teach us to develop our body, mind and soul 1
in equal measures.
e This is necessary for a total development of one's 1
personality.
*  One should take the required exercise everyday, eat the 1 3
right food, read good books in school and at home, do
noble acts, help the poor and the needy and try to
understand the aims and object of life and act according
to it. (Pg. No. 17)
20. *  Gayatri Mantra is also known as Maha mantra or Guru 1
Mantra.
* It holds the key to the progress, peace and prosperity of 1

mankind.
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Marks

13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
*  One prays to the Almighty for purity of intellect, mind 1 3
and heart which leads to happiness and fulfilment in
life. (Pg. 23)
21. | Bali means portion of food and Yajna means providing food 1
to birds, animals etc. who are in need of it.
It also means that looking after all the creatures and regard 1
them as one's own fellow beings.
In modern times many NGOs have taken up the cause of 1 3
taking care of dogs, cows and wild life animals etc.
22. | Tolive human life according to ones age requirements. 1
To fulfil one's duties in the best possible way. 1
To make progress and attain life's ultimate aim. (Pg. 28) 1 3
23. | Yajur Veda Bhasya - An interpretation of Yajur Veda in 1
Sanskrit.
Aryabhivinaya - a book of vedic prayers. Satyartha Prakash - 1
enunciates vedic ideals in a most comprehensive way
Rig Veda dibhasyabhumika - an introductory note on the
translations of the four vedas.
Sanskara Vidhi - a book on 16 Sanskaras. or Vedic practices in 1 3
one's life. (any 3 books) (Pg. 34)
24. | The commandments or the principles of Arya Samaj are the 1
basic concepts of good citizenship and morality there is nothing 1
sectarian or communal in any of these principles which are so 1 3
simple, straight forward, liberal and cosmopolitan)
25. | Dayanand was an ardent advocate of Swadeshi. 1
The requirements of every country should be supplied from
within that country.
At Moradabad, Swamiji asked for a knife and when a knife 1

of foreign make was brought to him, he indigantly remarked
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13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
that it was a thousand pities that at Moradabad where cutlery 1 3
was an important industry, they could not supply him a knife
of local manufacture. This should not lead us to believe that he
was an advocate of secluded self sufficiency (Pg 45)
2. | Pt Lekhram 1
e 6th March 1897 1
*  He was killed by a fantic muslim 1 3
27. | The three plans and projects being taken up by DAV College
Managing Committee
* Establishing and Managing Public School for private 1
and public sector undertaking.
e A centre for mentally Retarded and physically 1
Handicaped children.
* Provision made for admitting tribal students in job 1 3
oriented professional courses in D.A.V. Colleges. (Any
other relevant point) Pg. 55 & 56.
28. | Dharma means good and proper behaviour by human beings 3
towards every living as well as other beings and objects in the
universe. Itis Dharma thatleads people on the path of progress.
It is what holds and sustains human society. One acquires
happiness in life by practising the laws and conventions of
Dharma (Pg. 18)
The four dimensions of Dharma are 1/ 2+1/ o+
(a) Individual (b) family (c) social (d) National it >
OR
Individual Dharma relates to one's personal happiness and 2Ya
well being. The ten aspects mentioned above form essential
parts of every individual's Dharma.
Family Dharma relates to every one's duties towards other 2V
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13(;. VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
members of the family. The parents, brothers and sisters, uncles
aunts etc. in every family. Rules of conduct are different for
every one and follow them. Every one should help each other
is times of need. They should share happiness and sorrows
together. This is how everyone in a family can prosper and be
happy.
29. | When Moolji was 14 years old his father was a staunch devotee 5 5

of Lord Shiva, took him to a temple on Shivratri day. Moolji
was aware of the fast on this day and its significance. He Kept
awake the whole night even after his father had gone to sleep.
He saw that a mouse, perched on the idol (Shiv Linga), was
biting off the sweets put over it. He found that the lord was
unable to cart away the mouse over him. The question rose in
his mind why was the idol of Shiva helpless? The puranas tell
that Lord Shiva destroying the rakshasas with his trident, yet
he couldn't save himself from a mere mouse. When he himself
could not find an answer to his question, he woke up his father
and asked him about it. The father too could not provide a
satisfactory answer, so he scolded the boy, that one should
not have doubts about Gods. Moolji kept quiet and decided in
his heart that he will not rest till he was able to realise the true
God from that day he lost faith in idol worship.

OR

Moolji's younger sister suddenly died of cholera, and could
not be saved despite the best treatment. All the other members
in the family cried at the demise, but Moolji instead started
thinking about death and how one could get over it. Two years
later his uncle, who loved him greatly, also passed away. This
further strengthened the feeling of awakening in him and he
decided to discover the truth about death at any cost.
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13('). VALUE POINTS / KEY POINTS Allotted to ﬁg:ils
Point/Key
Point
30. | Sex-equality and Purdah system should be discarded. 1+1
Girls should have the same facilities for education as boys 1
have and should not be married before the age of sixteen.
Advocated remarriage of widows attempted to relieve the 1+1 5
cribbed and cabined woman hood of India.
OR
* People should always see that their country is 1+1
administred by councils and not by single individual
with absolute power.
* The ruler who is the head of the assembly and the 1
assembly itself should be interdependent.
*  Both should be controlled by the people who in their [ 1+1
turn should be governed by the Assembly. (Pg. 41 TB)
31. | Mahashay Rajpal was a writer, editor and Publisher. 1
His contribution to the spread of Arya Samaj movement 1
through literature has been immense.
He published in Hindi, Urdu and English under the name of 1
Arya Pustakalaya at Lahore.
He was a martyr who fell to Muslim fanaticism. 1
His funeral pyre was lit by Mahatma Hansraj. (Pg. 50) 1 5
OR
* Swami Dayanand was the first martyr for the Arya 1
Samaj and Vedic religion.
* He was poisoned by his own trusted cook Jagannath as 2
he won over by a courtesan of Maharaja of Jodhpur.
Swamiji used to speak against the prevailing vices of 1
drinking, gambling and practice of having courtesans.
He forgave the cook who had poisoned him and gave 1

sufficient money to escape to Nepal.
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Point/Key
Point

32. | Mahatma Hansraj, a young Arya Samajist with a brilliant 2
academic career and a grand vision of offering valve based
education steeped in Indian culture to the children of India.
He rendered life long services to the cause of education free 1
of charge.
He believed in self less services and lived up to it. 1
He headed the first DAV School and college in Lahore 1 5
(Pg. 51)

OR

The first DAV school was started after the demise of Swami 1
Dayanand to serve as his memorial.
A group of enlightened, dedicated and devoted followers, 1
with a deep sense of social commitment, founded the
Dayanand Anglo Vedic college trust and Managing society
registered in 1886.
The visionaries and patriotic men are Mahatma Hansraj, Lala 1+1+1

Lajapat Rai, Pt. Gurudatta, Bhai Parmanand, Lala Dwarka
Das, Principal Sain Das, Bakshi Ram Ratan, Bakshi Tekchand
(any 3 names)
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3349 (INDEX)
1 f3afes  (Design)

2.feH8HE  ( Analysis)

3. 38 AT YyHa- Y33 &. 1
4. €33 -U3dt &:1
5. H38 SAC YHa- U39 &: 11

6. €39 U3t &: 11
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PUNJABI

DESIGN
1. Weightage to learning objectives
Objective | Knowledg | Understanding | Writing(W)/ | Grammar & | Total
S e Uy Expression( | Application(G
(K) Comprehensive( E) A)
©)

% of o o 0 o 100
Marks 37.5% 6.25% 28.75% 27.5% o,
Marks 30 5 23 22 80

2. Weightage to Different form of Question

Form of LA SA VSA Total
Questions :

No. Oof 5 5 9 19
Questions :

Marks : 36 23 21 80

3. Weightage of Content :

S.no. | Name of Unit Marks

I | orfecadt fiid Yyre/839 5
2 | gfezrerAg S
3| 82 YHe/83d (B, HIA, UTS) 8
4 | LYHAS/E3T (Farei) 8
S | foA S fan d faar, mae wigg 2+2=4
6 | &9 ==, wiu-7y, fenre, wIisg, liesg 2x5=10
7 | fe3dt nee, 593 AET < 8 )9 #ee, fera fi9s, Hoed 4x3=12
8 | wefdordgr 5
9 | fg3gedae 5
10| fg& - U39/ fort usa 8
11 |3y 10

Total 80
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4. Scheme of Options : 3 Questions

1. T YHS/E3I (B yHS' T 99)

2. faE 039 / fartdza (2 &9 e

3.8y (2 T )

5. Scheme of Sections : 4 Sections

1. US-YA3d (A1J3)

2. fenrgas

3. U363

4. foys 0

6. Weightage of Difficult level

1. Difficult Questions : 25%

2. Average Questions : 50%

3. Easy Questions : 25%

7. Expected length of answer to different types of Questions & Time Management :

S.no. | Types of Question Expected length of Answer Expected Time
for each
Question type
1 Long Answer (LA) 50-200 words 1.5 ¥er
2 | Short Answer (SA) 20-40 words 45 file
3 | Very Short Answer e 35 45 fie

(VSA)
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H'3% SRS YAG U33 &: 1
TS — st
HHE- 3y g5 nid — 80

& - 1. fours gg w3 Heg &4

2. 7S YHG 3I3T9 WEHS I8 o3|
IaT-Q
YAs 1. I Bt afe-gadt § fimrs &% uga Us 9 Yyis' © 839 f5di (5)
“ et g JHeT W famir €0 f93a & o &,
IIH T W & HE, &' A I8 e gBdd,

f3ger g gve Ef, 388 AG Jeat Brgeh,

JITg 39 d 9IY, 3T Mg © | I8t &% yrgeE|

YAS 2. ‘fonrg gmr SfesT T Arg 5 (5)
YA 3. I6 183 Yis @ 8339 d=8 g 3mds <o fel - (1x8=8)

1. 3. UHS T YT & o AR

2. famrst & fagdt gns fmrer uat 32 32

3. WJdmE & ot A yrdt I8 AR

4. g Ifde ity it & U wr 3 fggar mfag emronm
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5. W@egz © fuzr ot IIe As?
6. Wt 3= fag I
7. UfISt HEY I3t 9 uret fige 3¢ (993 Arget ©f @93 dae Al

8. HoUs RT afded § faadt oim 94dit St Al?

YRS 4. I& 88 ye' 99 3t g9 Yrs' € €39 3 - 4 AT <o f&39:-
(2x4=8)
1. ‘fog3 T ¥® garel v A9 WU Aee g B
2. ‘HIA I &l feue™ Hre fifw @ for 386 § wiue meet o fio ad |
3. 8Ty & oA IHT < Axr fHEl 8A & @I AT fAQ Sz Al 2
4. A WEs I UTS Ao S WI © IS I3 s a3 2
5. SB3A&ed Uz A a & gt fagr fag I famr 2
6. IA S ISrETH T Yifemr fa< 3¢ 2

Yre 5. foaA & fam & faar - (1x2=2)
1. “HI3H i, A & &9 It ym of A 937 gue ot gdiel

2. ‘WY i T U {9 A9z I91E 34 s, 69 foaeg I6 W3 T agn

o g3 <o feaer Sue Is1”

YAS 6. I&' {59 meet © wigs 54 (1x2=2)
1. Jrtfednt
2. ¥AF
II1- W (o Ta)
Y 7. f8ar e8| )
1. Usd

[ 346 ]



2. HAed

A 8. HeE 1 30 59 &4
1. BI9"
2. OIfH

A& 9. I& B8 T (&9 feime mee ge w3 @A < famH g2

1. g aes g9g3 =t J|
2. NI I TI TS Il

YA 10. IS B wA3T & 28 HeE 9276 |

1. IH
2. fo

YAS 11. 35 139 U239 873 22 Hee 5278

1. WrEt

2. ™H
YAs 12. fedth mee oy

1. HIHST
2. BA33
3. ofimr

YAS 13. 573 Aee ©f 5 g mee (54

1. 3T &t s
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2)
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2)
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2. A AT OO I% fg 39
3. froFre3tdRIA=

Yns 14. feman fidp &6l 3)

HHAST At & a7 27 < 3913 SIat gratet I
YAS 15. Hoed T (<9 for 397 @33 S wige AiHe I Hel (3)
1. HI3T UL wigr Sarem|
2. Iy &% 2yeT|
3. narE Im|

91 - € (UFS A1)
YA 16. 35 B3 03 $ ug 3 Yme < 39 5 (5)

BJF T 389 et HAIS Aaedt € 12 7t 13 3dta § Jer I feg e
Yyt g f3899 JI fis waf Re A Sgs e Jfewr IR A far @ i3 &
fenrg Jfenr I=, B9 39 fenm 39 '3 B 3 IS Wi I8 39 HI JFT © 3T
& oG B8 s 2 FirE 3 9 3ot <3= B9 UP 95 3 Y 5g3 St 9B 3
BT U & feRy 38979 J1 A Afag’ K & 893t gH-aH &8 Had
Al 3, ud BIH T A aurar st R9 2y § fiser J, 89 Aivat (fg &dh filst
ST BIFt 3 e fes Ufost It 59 STFt HITe! B &7 K8 Ia1 89 o &%
Sfgn & a5t i Ia

Yrs 1. 8J3t et e fenn {389 3 2

YA 2. RAN 39 3 BIF Je I TS ?
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YAS 3. BIF < HO8 At S 2
YA 4. WH-J% 8 fdat T 3T fHe@e S g sae 9% 2
YAS 5. B T &8 sfgn § fa fide I 2

I A (fFuE 3AD)

YA 17. ARG °Y J 50 AT ffg 2396 d9 - (5)

‘ ASTE S HI33T fel €3 vy fegrag 50 Aeet &9 fawrs a3l

YAS 18. AgS © W Wity /it § ganmer Hnirel S8 wigwl f5d | (8)
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Gu
39/ AT & A JT 3 =ume U39 39
YRS 19. foA e fef 3 200 meet o 3y 59 -

ad3 - giHar, M3 & GArdt, fimig 3 3dlgd & @, A9 Segnsl,
Uigr 3 AfJEAS3T © g, g9Mif Wiest 3 gcd'd’, HoyT™= & HUS, Al9H

=

“ AN T ACQuudr

e : AHT HI3RYIS 3, Szt AHt @y &dt vaer, fous Al o g, AN §

gI9T JI6 ©f WE3, AN 599< dJ6 € 3aH'6, =3 & oWd™ AN T dTa,

A
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CECERIES] (TS wid — 80)
(H38 2AC YyHs - U39 & :1)

€33 1. Ffe cagdt e €39 :- (5)

1. GUIT3 AT Afes™ ‘A3 fegnr & JEmit IrEiF I

2. fogt A39t S o<t I3 fimef e J)

3. gEM T fids far fT 89 figd AwEl- durdl 3 g9y 3T I6 &
3= e Ta|

4. M imrg 8 Ist &% ST Ugemif I&|

n o0

5. I O &% St 28 T FerEl § ggadt Jfde IS

g392. (5)

‘forg g JfesT T J<t JIA3 iy HoAaw Ial fer &9 ot & Haa
Jeriz iy 2 fowg I 9 S ) HogT IeAs iy & Gera-fedt 53
g3 A agremt 3 Uz I9reT J| for gfesr g g g8 He v U3-
USht & 3y fHeGT &8 33t 3 59 37 I At A 8 a3t § wriawr dEg
HII Iert3 Y & ST famr 7 87 A Wi Asush &% 88 g 93 Aol
feg A9 By @ AeU3t 993 IR g wr famr yF 8e9 fes o7 Asust § w3
e Ifen A & UEI HIs © 96 T U3 596 B8 afder I 3 7 gut He
I8 WHS I'96 T U B I 3P HIIH g AT A @A fesr ifer I fa A
SN R T III AT I I AI ST T ARSI T I AT & gad geor I A A

B3I of Hee ad7|

€39 3. 1. 3. UH'S T YT & ST WH'S H
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2. B& < IAS fommrer uret 81 Jl

3. WdImE & A vt I& A fx 9 fderAss © fJent § HAgHs Ser e
BT

4. FIFTEA & T HII AT 1 Fmie {9 niseyd © & o8 fia
Jfe

5. WBed3F © Uz 89 & I8 Brtdhig As 8a Srge w3 feAee ©
JAfeEd UegE *3 9H I IJ AS|

6. WeH Igdt JIgHHT (FUs) i I

7. UfasT HEY 033t 8 urel fiios 3 80 - 3%, I3FA, IS, S9! @I4
A ©f 293 ager Hi

8. aided ¢ Hous &9 fSfemim Hare @8 Ay 5g3 94t 891 Aal

€39 4.

1. IJer fog3 T i &g JH (393 d96 © HI3=T § s &z Jl
JISTSETH &TH ©F Hol TR agnif &t I9g3 oga b At GA © oA fege &
TS < et & €83 I& & Heltl I & <& @A <t for fovraerdt § uadE
T 9Y3 W36 Si3T Ud w3 9 A § 99 He 3 G & fag3 T e uge
i

2. HIA I fauer adt Are fiw & wifar for 88 faor fa@fs far 397 5aA
wEt IAS Aer fider Ifder 3 @R 397 20 & U39 Hdle I8 89 wige
TEMI EMT B T Hod' Hee 96| 8 85 $ AT We Sue I6|

3. SIS I IfIH3 T IMiE R IfdR B fenEst & geg udet A
W3 @A 28 J% A Gug IfJR Hol figst § Has 3 8A & &fg ag i3
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oI T oA 318 3 S91E I fImr 3 IEEie® & @F & 89T Hid 83T el
IS BB § A Il

4. dr w@e 3 Ufgst FoH © S59 WHTEAT WEH'd HJ9 Jde il w3 K9
INH YT T HIS Sfenr gfder At 99 38 718t 78 Jis a9 A B
Saer A A wa fRg Jg e oA I= w3 AZ I & o RT 88 @ J&|
et <t o 3 St T At I3ITEE

5. 9537 36d Uz A 3 <& et for 38 J famr 3813 A vAtgs 3
gcdgr U8t wEl 89 e fig famr A 87 yHlES T Aaver R
&aa Uz 7 3 < Fga fimrl @A © HH i § & €8 e 9 der 9
SIAS T Areard! adt Hll @57 & feg & &dt At uzr fa g A3 Hies 38t
foi& Tgdt Il

6. I & ISIEEH § UIHT B GA it I35 fifemret g ; 7S 3 Ufas
I+ 39 & 37 IS Hol 3B famir 3 A & e &5 fHg 3 g g6 <t
ASY &3t ud3 HEt & ifor 596 3 fa89s &9 99 i3t A< I At
g €7 <& yJtfemr 3 S famr 87 & wuet St 93T Jiee s i3t
W3 Afgnr i3 feg St 531 & & Ig Fag I Arear ud3 for fg fe
¢ AEB3T & Il S @79 I & 31 dieT HAIS wust 7S < HHidt
S T I HR S SR IR A 3 g gg eI GRS rae &

31 IS e WASS faaT

g395. (1%2=2)
. B &AY S faa
2. H3FAEIAS faam

§396. 1. fafamret
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2. Ig=d

7)

8)

9)

10)

11)

12)

13)

II- W (WST®)

1. SHIH
2. f&famr
3. o

1. WA

2. et
3. JAS

14) HACSI 7t & faar, « SF- I3 II&F grdier 1 »

15) 1. S0 & Tget § 3T @A & Sufen It At auEt wiar et At Ji

2. H wryE Sfgnit & IR i wid &% 268 I5|
3B AR [T Ig T wiaT @ S J I8t I
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3)

3)

(2)

2)

)

)

2)

3)

3)



91 (E) (UFS D)
16) wefgar g (5)
1) B3I Uars T feir 3899 31

2) frigt wat &9 Ha Ifowr J2 7 fan U3 T fowrg Jfowr J2 89 B fenm 39
'3 BIF 3T IS

3) WA HIS AaEdt & 12 7 13 31 § 3IF Horel Are I

4) WH-d8 83 H3- FFt T 3T fHed 7 IJ I

5) 8 T &S Hfont § BIF1 3% T

91 (7)) (f5uE 3ms) (%)

17) for 3R<19 f9 ffg Sor dfent S urst @ fogr I3 AR 3 Fl QA S8 2
3 He I He 9 Y J 39 Is| T9- UA Ifgndt It afanrst 31 5 23 <t iR
Je Ia| fer fg39 3 7 fog fAftmr et 3 fa A I, dfent <t #9s agdt
graret 3 fagfa v Hies Arg 3 @ Ufew 3 fsgsa I

17) ferdt ystfes fefenragvi et -

HEH HAies & STgrst Aes '3 I fagsa J1 Fre- aad fiasrs 593
Uie g der J1 A for 318 €8 1A s 2T grdier 3 fd wiue A9 © o8-
&8 WyE wa.ewd § & A JuT gdier I g 9 wd-ewd &g
ot der I @8 sies AoH 88 I6|
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18) fIgat — U39 )
Aer fey,
HY Wit =
................. HIS,
................ ISE
fem
0 Hs
Se3t I fa
daee Al
W H T wriamrrat,
e
st
18) Hemr 326
.............. ISE
HSh s
NS fimrg fif33,
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fowr fimrg|

At
33 fimirgr fH39,
1SR
19) 3y (10)
fefenwrgst w3 a3t
e HHAMWE & @Adt , immg 3
sHgg feg @4 , Adiga SegAsl , st 3
gc9d.  HOYOUR T HTUS , A IH |
U
A T Aegudar
giHar , AT HI3=_UIs 3 _ Sitfsmr At

=

TUA &I HIT

Jddar

folz ® 9H

AHT S99¢ Id6 © QIS

d<d

, AN & =599< g96 < e
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§33-Uy3dt -l
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H'3® SHS YAG-U3d 1

AHS — WS
HHT: 342 femr — Jarst & 0l : 80
& - 1. FO w3 Hed By {83

2. AS YHG 3I3TH WEHT I8 S|

918 (US-YA3d)

YHs 1. Io Bt Frfe-garst & fimis &% ug J 1E3 I8 Yie' @ €39 39 |
I3t oS Sfonm wigg, (5)
STt I FY 3 A1,

e & i a3 ydra,
e HS iR 83

2. BUIT3 A3 &% HEU3 I T &'H f5?

3. OI3t ©g ot g Jfemr 32

4. II- HeE T S wigE F?
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5. e WUE Te 39 fiie I&?
YA 2. ‘féH =t 3 fesr e /g 39 (5)

YA 3. I 188 Yie' @ @39 98 fa A3 < 89:- (8)

1. vA3 7N T Ifagnres sfgg & 33 a8 udt 7

2. Ut 8T Yrel” Urs WEHY AIdrat wetfanw &g urel € ggen fd=
Jer &7

3. UAS A9Sd & USA T A6H a7 3 a8 Hafanm

4. SIS YIAAI YU3 FI6 TEMT HI'S FHAMST © & TH
5. Jge-gar It s

6. I1d 391 Hared Hi & HIie! foH 397 JE

7. 39 I SJt Ure T gI=I3 A= aIe IS?
8. 20 3 <0 JH &I d W ol 89 YU3 IJ Hele I™?
YAS 4. I5 189 Yre' ({9 el g yra' € €39 3 - 4 A3 <o 5
1. 7IH T U3d Eif fagaht 3Tst & GF it widt agnt (2x4=8)
2. 37<3 T HIJIE 3 g A fHy 3 iz =8 ot HiogA 59 99 Ae?

3. 1/3 Fg Ifan3 &t & a8 fige S8 wifenr A w3 et $ 2 3 @a Ias
fag afg famim

4. 9837 T HH Ft @A it fag gt 31t 3 yarfes I
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5. “HIH o feuer &J” Sgret © A9 134

6. 7 99 I IR & IS ©H § O J96 ©f ABY ISt SIS T A S
st fagr?

yrs 5. faR s far g faar? 2)
| g A I R AS I A AT IS I I USA AT |~
2. “HIIH | AG vve 3 fFBfa AG wusr I sg3 JA g I |~
YAS 6. IS 58 mEe’ @ wigg 58| 2)
1. HidH

2. HA3d
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I (fenrag®)

7) B Ees | (2)
1. 3IHE
2. 3"

8) HEIE 1iF TH J94d 54| (2)
1. g
2. M&H

9) I &1 Ta ST fenme < g 3 famd & 2R )
1. g3 SI3 THH I
2. ¥ g A ur i €

10) I& BE BT T A T - © AEE HT76 (2)
1. 7
2.fe

11) I5 59 lig3a o d T - T mee 5276 (2)
1. Gar="
2. T

12) feght m=e &5y | 3)
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1. €t
2. WEIH
3. AEMS
13) 5g3 meE & g i A= 59| (3)
1. Y33 = Ot & AgaT
2. Bas e =g
3. AC I3 TSI Hid & UR
14) feAa™ fdp &€ | 3)
N9 a5 T U's fig andt 2 ga3t 3 g Tofiz I
15) HJ=ed T &g fer 3gF @3 fanga mime I 7e | (3)
1. €T siet gEr
2. WIS 3 UJer Jer
3. @&t fidt T agq
IIME (U FHD)

16) I& fBa I S ug A Yma' S €33 184 | (5)

I3 ity s Sgeg As afed, Ha's feasT At 67 WU fers et
g3 fig gt fAdt fHAs gaggdmit &% 23TH fiar 37 I d AFfU3 a3 f&nr |
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BUs s © auet &g 89 i wegn Afsa Hll o & de BJd @994 §
I &% Zad Bt et Al fon S8 GRS wouis 241 - 3913 096 9
Hgdl AHfenm oA 397 i gses A~ afed & 337 HI9™ & H o
AEfU3 3

YA 1. HITH Ieri3 Ty & foar @F fier 37 ad AErfuz &7 AP
YAS 2. Ie3 iy & fam 241 - 3313 &8 AT g S5t /i

YRS 3. IeAI3 iy iR 397 T As - arfed i

UHa 4. Jert3 Y fadt Ag &8 ASas A

YRS 5. Jer3 iy T Afss Yy 53 fraar A

I91 7 (f3dE D)

17) IAKIT *Y & 50 AT <9 <9&E JJl
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17) femet ygrfes fefenrgsin w8t fessus yis |

‘Ho g8 T & fen €3 vyt fegrg 50 meet f9 e a3

18) g {39 / AISH & ot S gt B fasge &t Uza i

Gu
A T B — ity /it § wiyet 3t 3 © fonrg 38 g 8t B8t fi&- U39
&

19) fam fig fei 3 200 A’ o 3y 39 |
“If I oI 2= A

(@I3: FH, AoH w3 Ufgea, fRfenr yust, Agr Aer a3, fanag w3
Ufgergd Agg, ae" © HES K9 &adt, 99 @it | Ha's d<l, nigs &
Wed Sd6 o 9o e @8, (639 Tr-3913, fHftmiret, A3t 73 AWrgeT, AdH)

=

.

(@&F3: e, B3gse T HI3e, fegde fams e W, fiegde I &,

fiegde €t 233, Aod AT & YU, 8-3HaA © fear, fieade © aans,

HIH |)
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€339 - y3dt

H'3B SAC YIS - U39 & 111

IS g - 80

«ap

€39 1. gfe- cagt e €39 : (5)

1. BUIS3 AT ‘B Ifus A3 B ° B 3T (5 Bt It I
2. BUIST3 AT &% HEU3 fe3d T &H Hided A3 da Il

3. I3t oS wigg o Jfenmr I

4.« IJIM AER T TE J - fHE I8 & & G Heer I

5. THT 3d wryeh 7o 39 fide Ia|

€33 2. 161 =&t 38 Jfe3T T J< Aan3 AW ‘Haraw Ja| for afes <o
A Sfeg S I T TR uge SgaaTHEe T ARG Je Aol fTAC s Ji f&H ©
gt 73 Sfimr fgmr 3 3 fom @ w9 R T &8 993 Adt fanrdmit g9
Faemit I&| <t Ffder J o GAet 38 8 w9 féH v Ju At fagar fa 6 U=t
yrr g fog 33 urfenr At i Jdh v 59§ user J1 feg 89 for 181 &8
WEr 31 g [ A feA S ef T Se awuR USI T HS ug d @A § ue
It Al 7 13 27 @9 3931 I famr w3 f93 ©9 oA 33t <o g% fami A
@HET U39 yon R 7 & wust of © fimirg 3 &1 &t &<t 8 § &t At 3fgmm
38 3B A I &K T U3 Harer 3T U3 2 Sfamit GreT fes de AT A A
A & f6H & Herds =91 AT 3 Ifemir A

ot At fa wo R &0 I © &5 i 3acg a% e & 33 &dt U< €9
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Sfgnit & fifai aRdgmi e Bt St 7/t 5 for 918 @eA I i3 wiv 7€ & T,
& &, & & 3 & It 3 I ug fag < foas Ao S ure 6A © s Ko mrst
J& 31 A iz R &t A feg goor ider I 3 7 wa @9 89 a1 urset grdiet
I w3 w9 9 &1 T Ju BT 3 wg § AT g2 gdier J1 fdH 2 et &
Y9 WU FI& grIer Il (5)

€39 3. 1. Ju" & BIr3'g e § I B wird AA €9 Ifonwres Bigg & 87
Ut J

2. AISI wETIn feg St gt HIHS T I3 - fos gaemit Ifds og9a
S uret =fg e )

3. g A9aTd & H'&H € A6H 1999 & f&g wideyd Arfas fed Harfemr |

4. S8 YIAI'I YU3 FIS THM HI'S HHEMI © & I - 37, Ified &F
2919, 3. WA .IH®, 3. IIIfET yIET, HEd 297 |

5. Jsgar I3 T I |

6. I 391 ST=d Fit § iEH © Tival 9 {9 fSarfan famir w3 896" © fHa uF

&8 WEIT I i3 famr |

7. 3 cIQE B iy B Uret ©f 5 9'9- 99 I8 & @93 999 R &
TISI3 I IS |
8. 20 3 <0 gY BT J wWH WS At § e SH A I | (4 x2=28)

€33 4. 1. 7IA ©F U3 & g Saz9d & Gdds i A Igig I wfig I a
WEH J famr 3 wayr3t fg O famr 7, 87 & faor i3 86 & < gt ofs I&
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J1 89 87 AN 5g3 I A AT 8IS AB A T YAt Hil g Hiewr w@E Jad
HH-86 U3H J famr 31 8a afdel I fa v < 89 Ags Ael A G v < o7 HSS
3t AY-86 3 3 I Ued Y, wige 3 & Ju 1 Sozdt A for 2@ ydt 39t fearg
et J1

2. Woed i fos Ide enrar 379 3 3A<3 © i T3 g =@t § usr
I J1 3t yI iz fg grorarg Ho aidh Uiz e dSor-gor Are iy 2 wg
ydfomr fog fasgem g & Sa gnr i3 Are iy Arfanf § Asg a9e 3
I Hoe B¢ afg fgar A w3 fog & afg faor At fa wiff 689 I 9@ TF| G9&T &
ye wiyEt it € 39 &a1 fgmr I U U339 & 3 T 89 Are iy & wiediedt
HTE BfImi|

3. W3 R9 Iforz Hat & for B8t fige B8 wifenr #t f8fa Iforz & & i
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TEN PRINCIPLES OF
THE ARYA SAMA]J

God is the primary source of all true knowledge and of all that can be
known throughit.

God is Existent, Intelligent and Blissful. He is formless. Almighty,
Just, Merciful, Urborn, Infinite, Unchallengeable, Beginningless,
Incomparable, the Support and Lord of all, Omniscient,
Imperishable, Immortal, Fearless, Eternal, Holy and the Maker of the
universe. To Him alone worship is due.

The Vedas are scriptures of true knowledge. It is the duty of the
Aryas toread them, hear them being read and recite them to others.

We should always be ready to accept the truth and give up untruth.

All actions should be performed in conformity with Dharma, that is,
after due consideration of right and wrong.

The primary aim of the Arya Samaj is to do good for all, that is, to
promote their physical, spiritual and social well-being.

We should treat all people with love, fairness and due regards for
their merit.

One should aim at dispelling ignorance and promoting knowledge.

One should not only be content with one's own welfare, but should
look for it in the welfare of others also.

. One should regard oneself under restriction to follow altruistic
rulings of the society, while all should be free in following the rules # [

of individual welfare.
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